Rl
525

3 G
>FH R DB
HENE3R

=77
ZE;

n
—
o
L
7]
(O]
=
Q.
=
<
-l
®)
U
[0 4
L
o
=
=
S
o
S
(2 4
g
=
o
(2 4
2z
X
O




& W

AEROVIEW OF AUTGGRIP COMPANY

THIFRIRNBRAT

EBEH 1989 FRIINEE - DL AUTOGRIP migTIHEIX -
EUEREN RS - AR E AL B B B b3S R A E MRV
BMRE  RIARSRHESECHNARRS ZRRE -

G A=

EERBHRATBMEZERQEZHE O - 441th 4000 ¥ -
MELSENEERE  EULATEPL  BEFHETIESR
BENEREEAREURNERFHE - RHFHHRER
B BOIRBEEFER X BMESKFINEEFREE -

LOCATION OF AUTOGRIP

“HBAUREMRERTER  REECRERNEREER
FELEEO6N - 8K 10 AP ZE B /) 358 K 0 #8501 -
EERAMELE  ETEREMBHRELENEXK -

REET

FHHEHEEER  WIRREREEFRNERERT -

A AUTOGRIP

AUTOGRIP'S BUSINESS PHILOSOPHY

AUTOGRIP MACHINERY COMPANY

AUTOGRIP machinery was established in 1989 in Taiwan.
Our product lines focus on the power chucks, rotary
cylinders and automatic clamping series. We provide
the optimized solutions and services for our customers
worldwide.

AUTOGRIP Machinery's main factory is located
in Puxin, Changhua, Taiwan, covering an area of
13,223 square meters. It is equipped with advanced
production equipment and serves as the company's
R&D center, focusing on the production of small-volume,
customized parts and new product development. We
adhere to world-class standards to meet customer
needs and ensure high customer satisfaction.

The second factory, located in Yunlin Technology Industrial
Park, is an automated production line specializing in
standard products. It mainly produces 6", 8", and 10"
hollow power chucks and rotary hydraulic cylinders. With
a focus on mass production, it meets the market demand
for quick delivery.

Committed to integrity and professionalism, we strive to
provide the most professional products and services.



HFRE A

EEBHANERESER PN - SEARTER
& GO LIRREMPNERBRENSERS - BE
mH - #ESHMtESEENSRE -

WE ARE FROM TAIWAN

RN ERERREAFOR  EERIREREZELHN
ORF RBERE - AT THRFNRESBHY -

3t E Al

All the products of AUTOGRIP are designed and
made in our hometown-Taiwan. You can find that our
products have a strong Taiwan spirit- solid and durable,
with high rigidity and high precision.

Our company has a good reputation in the industry.
AUTOGRIP is devoted to providing the optimized
solutions and service for the workpiece clamping needs.

AuToGriP B



TERMEEASERE
AUTOGRIP MECHANICAL TESTING LAB.

EEHMMRER S EREAER R EREREER
o BEmMMEBRHERERENEE - HEMLDA - FLB
—EBEEAE - EREMMERBESSREIRE - &
MRHEBARPTEEZNER  BREGNERMBEE -

M BEPNERICH  REEFPEZONEMRERLR -

AUTOGRIP mechanical testing lab. continues to develop
reliable test equipments and technique for controlling the product
quality. Before the new product is launched to the market, the
products will go through a series of tests to ensure that the
performance and accuracy meet the design specifications.
Products in the manufacturing process are also tested regularly
to ensure the products are of good quality and consistent.

The Lab controls the quality for the customers and provides
customers with the most satisfied experience when using the
products.

C AUTOGRIP

T
T

Testing Laboratory
3353



r d - i
AGTOG B R

© SRHEE Quality Palicy

A BB 1500 R | T2
L T T T P T
AR NN R SR,

s s earsel o [ oo Teaing Lok

T T CAmpORY, G0 pl s Euttormars i
[T -

© &KE® quality Geal
WATAT R NI N - AWM.

B A2 2845 7780 sl
Dynamic Gripping Force Test
o MAZFHEHEAZE  SAESHBIIE AT - KRIEFFNBEF MR E1L -

e The curve of gripping force against rotary speed is obtained via force sensor at a given
test condition.

ENREIRIF MR E ~ Gripping Force Graph
-4 Autogrip 3H-206
- BENEER
80
70
60 L\L\
z
% o -\,\\
S 40 '\I\
g <
) J
§
O 20
N
© 10
K
o 1000 2000 3000 4000 5000 6000
&3k speed (r.p.m.)

B E0OR T2 Rl
Dynamic Oil Leaking Test
o SR ABIIEAREERMNYRRSE - BERETSRE -

e The oil leaking of cylinder is measured at different rotary speed to ensure it is within
engineering specification.

RRRESEMARE Total Leakage Characteristic Graph

4 ALHRFE W BALREER Model: TH-AS36

31
3

= 29

£ 28

T 27

)

g 26 /./I

=

3 25

T 24

S 23 i

[

& 22

& 21

® 2

o 1000 2000 3000 4000 5000 6000 7000

#43% speed (rp.m.)

V.

autocrip D



» o 6" / |
2 - e f y
;' ’_4' Rt .
oy b
E .."..1 i , .“:ﬁ{. 2
= i 1O
< A7 A 5 el ) G [ ——
N -

YOUR TRUSTED PARTNER oN W

E AutoGRIP



THIRRERIHRISHNRERH!
Why AUTOGRIP?

1 RMRHEERENRETEEE

ERAEE W BEURERAEZ B AER
7R HER L B ) R R R R,
1SRRI, S EHSTRE m TR RIB AR T 2o

2. ZTEEN )R GAMN 2 ) BRI B ]

B)33kER BT ~ XM, BRMITEE, IR,
VEN, ARREEASZNERNE UK
51,

BT 4R AP B TR K [ R
I [ R I | SRRGRBARESKE
EE,

3. RIZFFVRZ BN = RIAR TS

AUTOGRIP B UK—EBEUREMEES
BEBE, BN EE RS ISHA TS
B E AR

1. Custom design service

Example: Solution of automatic workholding
and workpiece seating confirmation, special
requirement on air/hydraulic cylinder, rotary valve,
rotary joint, or customized soft jaw/hard jaw.

2. Variety of chucks & cylinders

Chuck: 1-jaw to 6-jaw chuck from 3” to 797, Extra
long stroke, Pull back, Stationary chucks, Collet
chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke
control, Coolant/air connection, Air cylinder,
Double rod, Compact style.

. Faster delivery and satisfied service.

Since its establishment, AUTOGRIP has always
prioritized customer satisfaction as our primary
goal. Our professional team is dedicated to
providing you with high-quality products and
services.

Autocrip F



GRIPPING FORCE SENSOR

155 71 BRI 2%

AUTOGRIP

GFS-10

3 ¥ 7] BRIl 28

GRIPPING FORCE SENSOR

%58 / FEATURES

e EF 50 B@iEE Stable Bluetooth 5.0 Transmission.

* Type-C LEFF - = Convenient Type-C Charging.

e SIHEESEE M - High-Performance Lithium Battery.

e 1€ Android 71 iOS - Supports Android and iOS.

o TS 2 T 3 TURE - Configurable for 2-Jaw or 3-Jaw Operation.

\ ANDROID APP ON
Google Play

2 Available on the

.Apple Store

<

AGIOG»

=

FFF N RGAIZSIRE. <L, 552 S B . GFS-100 specifications and dimensions, Please refer to Accessories pages.

G AUTOGRIP



POWER CENTERING VISE

8 71T 0\ R §H

AUTOGRIP

B 71 E LR EH

POWER CENTERING VISE

Y58 / FEATURES

o REABBNNIBEPHESKSE -

SNESE - REVERARSARSIN IO - IR EMEREERE -
WEHEEL - ol AR EIHBRRE R -

- RELHRBABRENE - ZERESEEEA -

e Constantly high clamping forces are ensured while machining.
e Compact design, suitable for milling
machines or machining centers.
< With built-in cylinder, it could be either
pneumatically or hydraulically operated.
* Plug & Play, easy to install.

BlEsiR T E
Plug & Play, easy to install.

BUSRRI& STE, 552 Mg A E O R B . Model, specifications, and dimensions, please refer to the Power Centering Vise page.

AuTtoGrip H



SWING TYPE THREE-JAW CHUCK

BRENBIEAI = /T3 EE

AUTOGRIP

l.
.
\‘
BEEM 2020
TAIWAN EXCELLENCE

RENEIRAI= M35

SWING TYPE THREE-JAW CHUCK

%56 / FEATURES

- BERFIHE  BETELNE -

- BABHEREHNERERRS BAERK20E -
RMEERA 5 ERTEEHERT -

BhKRBERE -

Grip the work piece in radial direction and then pull down.
Gripping on forging or casting part with taper up to 20°
Jaw equalizing: 5°Max.

= Anti-dust and Seal proof for cutting fluid,easy to maintain.

1.Clamping

| AuTOGRIP



LARGE THRU-HOLE AIR CHUCK

RAEPERENIER

AUTOGRIP

SN,

)
NV

A1ER 2018
TAIWAN EXCELLENCE

=m B ERARA

— | PATENTED AIR FEED SYSTEM

I:FI gl‘u:ill:g o HMITUTRZA - BARE CHEMSER -

o BAMMEE TR MAENRE - Eix
REFLZE -

 Built-in cylinder / Check valve.

* Pressure detection / Unique design.

Y58 / FEATURES

o BABILE : @52mm~DB375mm -
BEEAREEMML -

BENER &% - NERE -
BREBRERR  HETRRECHE -

Large thru-hole : @52mm~@375mm.
No distributor ring needed.

Easy to install.

Less maintenance.

EF|F 5% PRODUCT PATENTED

ZH US8770222 B2(US.A))

=) M440159 / M415011 (Taiwan)

= 20.2011.101.818.4/20.2012.102.498.5(Germany)
BHAE 3169457 / 3178706(Japan)

ERER EP 2517822 B1(EU)

ABE ZL 2011 2 0141324.9/ZL 2012 2 0274549.6(China)
AR 0000278076(taly)

AUTOGRIP J



POWER CHUCK FOR VERTICAL LATHE

B ERh B K Ph7KEN 713 88

AUTOGRIP

E'Elijtﬁ??é a E The maximum diameter is

2000mm(79")

. WM EIGE - - ERES/RY:A3,45 6 MR -
e =10 Q SN - /:—E, " n FE R R

- IMAFHBLAR, MHTERD - 1779 BRAT

- BIBRBIKEE - BRI ERRIRERE - = LI DEL A A gl e

* |t's a WEDGE-HOOK type 3-jaw high speed power chuck. < Vangus Mpdels / Size: i )

= With manual radial setting of master jaws for the workpieces A\./allalble 10 & an.d 6'JaYV Versions .
centering. = with sizes 12 to 79 inch diameter.

e Sealed against swarf, chips and coolant, suitable for vertical = Rotary cylinder : RE series .
lathe.

K AutoGrIP



POWER INDEXING CHUCK

B E)7 E3EE

AUTOGRIP

1S

= &) 73 [E 3K B

Power Indexing Chuck

%58 / FEATURES

o THEBEBRRPETOERE  IRSELFHZEETREER -
- REANSHIERERBERE - TEEES -

o FKRREIBRE -

- SHtERERSEERE -

e BRNDEZFRRERS - RBEBRNBAKE - TRMS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.

AuToGrIP L



STATIONARY CHUCK BASE PLATE

17 B J% 58 FE AR

AUTOGRIP

17 & 2R BH Ry
MULTI-PLATE.4-PLATE

"H@ / FEATURES

o BERARKRK / mEMIPOE -

o [EIRSANTIME T4 (TIE]%22,3,6 THEMEE) -

« OJ#fc SP/SM/SD/SU/SE 31 & 3EE -

o EHME/RE -

o SEREEAIE I LHEES) -

- FHHERE  UREREILFEASE -

- REKE (ER)

o TEIWH (ER) -

* For milling machine / machine center.

Allow simultaneous machining with up to 4 grippers. (Order
can be customized for 2,3,6 grippers).

Work with SP/SM/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.

Lock valve unit (optional).
Air tight detection function(optional).

I EBERKIERY STATIONARY CHUCK SERIES

= SP - T &I = T\ 3KEE

4l =" SP-STATIONARY CHUCK
- % - ! . fﬁl@ﬂ °

« Wedge-hook type.

SD - T E KRR E- YEXARENIHE
SD-STATIONARY PULL DOWN CHUCK - ﬁ SE-STATIONARY EXPANSIBLE
- A/ BYH)/ RERA - : PULL LOCK CHUCK

« Pull down / Heavy duty machining \ ‘e . BT RIS ) SRR -
+ Air tight detection. - ﬁ « Pulllock / Inner dia. clamping /

« Air tight detection.

o SM - T ER ETI2 KA SU - T B M B HIREE

" SM-LONG JAW STROKE
0 t STATIONARY CHUCK
« BRIITE / B -

« Long jaw stroke
« Air tight detection.

M AuToGRIP

SU-STATIONARY PULL LOCK CHUCK
. B/ EVH / KERA -

« Pull lock / Heavy duty machining

« Air tight detection.



RUBBER GRIP COLLET

122 Ek

EEERERAEEERIG ?
13N ﬁ2§%§”%

BKH

AUTOGRIP

=iEE FUIE 1R

E—RBERFHEETE £0.5mm

autocrip N



ROTARY CYLINDER & LINEAR POSITION SENSOR

kaFg BUchze / B B AT Y AR 4 TE I R AR 1K 1E

AUTOGRIP

Y58 / FEATURES

- ZTIEWRA -

o FRTHIRABFERROEREF -

o RMSHERERE - B0 TIERE -

e F %5 HEREE G B ol -

e Entire stroke range position monitoring.

e Position setup by teach-in function.

e Manual adjustment for proximity switch is
unnecessary when changing workpiece.

e Suitable for sub-spindle or vertical
lathes with limited space.

e Reduce idle time, increase throughput.

O AuTOGRIP



HYDRAULIC CYLINDER WITH ROTATING JOINT
3B 85§32 BE M Y30 855 BR ET

AUTOGRIP

v

RC-125S-F2
MiEFE / BlES / 'E

Proximity switch with bracket
With double paths rotating joint(Fixed type)

RC series

10 82 132 B 5 3% BY 0 885 [BR ]

HYDRAULIC CYLINDER WITH ROTATING JOINT

Y58 / FEATURES

- qﬂﬁ*’*”%LLEJ—ﬂ

- OSMEERENEHEELERR B REREBEBRAEPOLEKHOEK -
- WL‘@‘&F‘EE%’W&

- OEEFMSEIAERBIR ratmgnz,m REITITIEIES -
MEREARIMNEERENERENEEEREREM -

Medium and solid hydraulic cyllnder with channel.

Can choose an external rotary joint with either single or double paths.

It meets the demand for coolant through spindle and airtight pressure detect function.
Has a buil-in check valve for safety.

The proximity switch and single or double paths rotating joint are optional.

Stroke control via proximity switch or linear positioning system.

. T (/7

AutocriP P



<=
ES PROPOSE LIST

F=]1] 4
&

4

A% OE 355 7F 2
AGIOCD ZEEER

O

( N (
X A% B N| (EmaEs )
L Seating confirmation not required) L Reduce maintenance frequency J
e R
Bl 2 32 15 SMREEE
Gripping round figure (o JI EE - N Y L O.D. (Outer Diameter) based )
= A2 N Ao
L Seating confirmation required ) L _( W @ Eiﬁ h
L 1.D. (Inner Diameter) based
p |
— =% |
3858 AL i
\Buut—m air cylinder ) |
|
|
|
e |
W EHEITH |
(THFBEMA) I on :
Shaft-type workpiece — e = |
Pipe-type workpiece AR T AAEEER :
(Insertion of workpiece Gripping taper Seating confirmation not required |
axis into chuck required) Irregular workpiece |
L J |
|
|
s N |
KREwh - B !
Large-sized shaft e
Pipe-type
_ (FRzmE )
Seating confirmation not requiredJ
Bl 72 e f5 |
Gripping round figure - N
[” . HMITF
= @ EE EE ]_ L Rough machining operation

Seating confirmation required

(EmITE

L Finish machining operation

Bik - ZEEIH
Plate-type workpiece | [ B2 TH

REE-Rpe teliTees Easily deformed workpiece

—

MERS |
B R _{¢®E$I# }_ Gonping on 3 sides F———

Center-based workpiece
AR T4
7 TH 2% 45
Grippping on 4 sides

Gripping taper
Irregular workpiece

—

_{EEEE@Em) )

Single-side-based (Fixed jaws) J

(EmI TR

L Rough machining operation

BEOEETH
Center-based —
workpiece

(E=mTIE

L Finish machining operation

Q AUTOGRIP



( P N
BREETIH
Exceed specifications > 3 H
L diameter workpiece )
(" = L, o~ N
BARBHRE > 3L
Gripping exceed big diameter
(. J
- 3HS
= 3U-K

p
REFETEBRN

L Gripping position diameter small

[ mEEHRA

Gripping position diameter large
L pping p 9 )

\

AP-115L1F

\i

B A S I )
Gripping exceed big diameter J

AP-1451) F

APS

—[ #ﬁ fﬂ *ﬁ E f;«é T {4: Exceed specifications diameter workpiecej

Y

_ B
‘[ IE K& HEF Gripping exceed big diameter J

2H /4H

2L

—( rEREEE

Reduce maintenance frequency J

3P

—( mntg

F i

3PS

Jaw lift reduction ]

4( iz o EE  verical spindle ]

4[ 3 K8 335 Gripping exceed big diameter]

3V

3M

|
|
|
3N |
|
|
3W |

3D |

_ (FrmzEER

Seating confirmation not required
N J

(mmmEEs

Stable gripping precision

3U |

}_

End surface gripping allowed

( o

SMETER RIS, THAMATFS |
| Outer diameter gripping | ! When not clamped, the workpiece
Ve | and the jaw do not interfere

o

A& H v

L Inner diameter gripping )
[ TaEss

3E |

)

21/3) |

B

L Seating confirmation required

((EAmss )

2P /2M

LGripping exceed big diameter J

2M

\

2W

4T

—

315 = B 7

Gripping round figure

\

1L

AR REEITHE

\

3W-C

Gripping taper Irregular workpiece

\

2W-C

FARRPHIABNEENR - BASBITEH -

*The contents in this chart are subject to change without notice for further improvement, etc.

\/

3R

AuToGrIP R



I N D EX [Product Description]

I §)) /73258 Power Chucks

; 3H-2/3H-2A 3H/3H-A 2H/2H-A
thZEE) 3R ChZE B 3R EE HhZEE) I3 E
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
w el ®8 zm THRU-HOLE 1227 THRU-HOLE PR THRU-HOLE
=T 3-JAW =T 3-JAW 4 T 2-JAW 4
4H[4H-A 3P/3P-A 2P/2P-A
HhZEE) JI 3R E hEE) IR E o ol hEE)RE
THRU-HOLE POWER CHUCK ; POWER CHUCK POWER CHUCK
22 & THRU-HOLE } 8 NON-THRU-HOLE $#E NON-THRU-HOLE
TUIT 4-JAW =T 3-JAW g ZIT 2-JAW A
3L/3L-A 2L/2L-A 1L
BEMNITEZE N BRMUTIEE RE HBEMNITZENKEE
EXTRALONG JAW STROKE EXTRALONG JAW STROKE EXTRALONG JAW STROKE
* POWER CHUCK POWER CHUCK POWER CHUCK
22 THRU-HOLE 22 THRU-HOLE & NON-THRU-HOLE
=T 3-JAW TN 2-JAW BT 1-JAW
3M M 3V-A
PERMNITZHE ¢ ERMITREE UERPEHIKE
LONG JAW STROKE POWER CHUCK || LONG JAW STROKE | POWER CHUCK FOR
7 NON-THRU-HOLE POWER CHUCK et % VERTICALLATHE
=T 3-JAW 4 P #AE NON-THRU-HOLE 4 &R NON-THRU-HOLE 4
T 2-JAW =/ 3-JAW
4V-A 3HS 3PS
B APEE R =EMAREREESHHKE =M EEREEIRE
POWER CHUCK FOR . THRU-HOLE FULLY SEALED FULLY SEALED TYPE
VERTICAL LATHE TYPE POWER CHUCK POWER CHUCK
A NON-THRU-HOLE E B3 fully sealed type 2T E fully sealed type
TUIT 4-JAW =M 3-JAW =T 3-JAW
i —i L]
I ¥55% 81 /13258 Special Purpose Power Chucks
= IS 3N 4T
T dawm EENERE RN E =T MM s 23R
‘ ‘B POWER INDEXING CHUCK | INCLINED MASTER JAWS FOUR-JAW TWO MOTION
' > POWER CHUCK TYPE POWER CHUCK
w g A& NON-THRU-HOLE g FE A NON-THRU-HOLE g
=T 3-JAW 79T 4-JAW
3D 2D 3U
BRI EN S 3ETE ) EHTVENIREE BRIEHI B 358
PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK PULL LOCK POWER CHUCK
A NON-THRU-HOLE A NON-THRU-HOLE & A THRU-HOLE
=T 3-JAW g =M 2-JAW g =T 3-JAW g
3U-K 3E 3w/3w-c
BRIEH B TR AsRERITUEN S 2EEE REN BV EH =TGR
PULL LOCK POWER CHUCK EXPANSIBLE PULL LOCK m SWING TYPE 3-JAW POWER CHUCK
! fATFE NON-THRU-HOLE POWER CHUCK ' REIE SWING TYPE
=M 3-JAW A NON-THRU-HOLE =M 3-JAW
é =T 3-JAW é 4
3RF 3R 3J
#hEa | FAARER BB FER = M35E P B EN I3
RETRACTABLE-JAW 3-JAW SWING COMPENSATING TYPE FINGER POWER CHUCK
SHAFT CHUCK . 3-JAW POWER CHUCK @ R NON-THRU-HOLE
#1HEL COMPENSATING TYPE g iR, COMPENSATING TYPE g =T 3-JAW g
=M 3-JAW =M 3-JAW
2J . AP .. APS
. _ __ _ o0 Vcdunia==t o
, PEIEHEEE RSPz B SR | RAEPEREIR
FINGER POWER CHUCK LARGE THRU-HOLE AIR CHUCK 4 ( _BRATE )
FREE NON-THRU-HOLE FRZE R THRU-HOLE * LARGE THRU-HOLE AIR CHUCK
ZM 2-JAW =M 3-JAW ' (DOUBLE SPEED JAW STROKE)
: FRESE) THRU-HOLE / =T 3-JAW

S AutOGRIP




AGTOGP

iZF&#§E Collet Chucks

7% THRU-HOLE

chZ2E THRU-HOLE

CcL CL-A DIN6343

ELE S EEE S o Wi

COLLET CHUCK COLLET CHUCK ¢ STEEL COLLET

chZe# THRU-HOLE ﬂ hZe ) THRU-HOLE ! X M3 STEEL COLLET a
CB/CB-A CBE/CBE-A CBD/CBD-A

B IR BRI B R AU EE A B R
DRAW BACK COLLET CHUCK END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK

p.

P28 THRU-HOLE

sCB
U BB

e STATIONARY DRAW COLLET CHUCK|
§ — %25 THRU-HOLE

ECP
B

EXPANDING GRIP COLLET
PISRMETHE EXPANDING

é%

RG
BBERK

RUBBER GRIP COLLET

y.

I IIET 3 FE Stationary Chucks

CEP
ISP

EXPANDING COLLET CHUCK

PISRE! EXPANDING

p.

4= VH ~ . —~ VP SM
=/ pEUEIIKE > PEIERNKE U ENRITIZNGE
O Ry CHUCK WITH STATIONARY CHUCK LONG JAW STROKE
= PEIEN NON-THRU-HOLE STATIONARY CHUCK
.47 PZEIZER THRU-HOLE STATIONARY ) STATIONARY S NON-THRU-HOLE
o2 —I=M23-iAw A L = =M 23-JAW T 3AW
SP sD SuU
BT IEE U ENERIE T EXNMBERINIE
STATIONARY CHUCK STATIONARY PULL DOWN CHUCK STATIONARY PULL LOCK CHUCK
R E NON-THRU-HOLE FRE A NON-THRU-HOLE | hEg A NON-THRU-HOLE
=& THRU-HOLE =M 3-JAW =M 3-JAW
= =M 2/3-0AW é é é
.. SE MP4 VH-201
PRy wERRREE  UEGERR FHIEM
. - STATIONARY EXPANSIBLE ~._ STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
= PULLLOCK CHUCK
\ A NON-THRU-HOLE T ACCESSORIES
- =M 3-JAW

SHAE A SRR 2R ER

FE)3E5E

FAOELOES

Pneumatic Rotary Chuck Manual Chuck Power Centering Vise
RAP 3MF VR
B R [ER = T3EE _ & o OBEIFESRO=IEE BAE DR H
PNEUMATIC ROTARY CHUCK “ SELF-CENTERING 3-JAW POWER CENTERING VISE
AR EE Pneumatic rotary TYPE <5 MiNl:JAL CHUCK $9125% Wedge Type
A NON-THRU-HOLE
=M 3-JAW
)BT
Facing Heads
. - FD
®mnREJiEER

FA

RJJEEE
SINGLE-SLIDE FACING HEAD
E8[5%! SINGLE SLIDE

DOUBLE-SLIDE FACING HEAD
5% DOUBLE SLIDE

AUTOGRIP |



I N D EX [Product Description]

I [E<5 3 B Synchronous Clamp

ale
EFHE S
SYNCHRONOUS CLAMP 4
#RiABY Crank Type '

cw
RAXE LI E

WEDGE-DRIVEN
SYNCHRONOUS CLAMP

#4238 Wedge-Driven

I Z5;H B EE ] Rotary Cylinders

TK
B AR AP 22 S0 B B ]

SHORT TYPE ROTATING HYDRAULIC

CYLINDER WITH THRU-HOLE

AND SAFETY DEVICE

=8 THRU-HOLE
SHEE HYDRAULIC

TS
AAE B ch 2o 10§ ER ]

SHORT TYPE ROTARY HYDRAULIC
CYLINDER WITH BIG-BORE

THRU-HOLE AND SAFETY DEVICE
FRZSEY THRU-HOLE
HEE HYDRAULIC

TH
22 3@ 42 B L

ROTATING HYDRAULIC CYLINDER

WITH THRU-HOLE

AND SAFETY DEVICE

HhZS A THRU-HOLE
SHEE HYDRAULIC

TR
FOAR AU ch 2030 88 BR ]

SMALL TYPE ROTARY HYDRAULIC

CYLINDER WITH THRU-HOLE

AND SAFETY DEVICE
FZSE) THRU-HOLE
SHEE HYDRAULIC

P

RK
3 L R o B 200 2 R R

ROTATING HYDRAULIC CYLINDER

WITH SAFETY DEVICE

FEFE) NON-THRU-HOLE
SHEE HYDRAULIC

RK-N
B O R L

ROTATING HYDRAULIC CYLINDER

FEEE) NON-THRU-HOLE I

SHEE HYDRAULIC

RH ~ RA RS
B R R ] ,__r' ' hEEE R B2 LR I BL T R T
. ROTATING HYDRAULIC CYLINDER
ROTATING HYDRAULIC CYLINDER ﬁ " P ROTATING AIR CYLINDER STROKE G y
WA NON- ! 1 ) NON- i AND SATETY DEVICE
;E%YND%’\LJEZU HOLE - 2;%.20“‘ THRUHOLE 7124245 STROKE CONTROL
SHEE HYDRAULIC
RS-N RL RL-N
1772 Y2 Y 38 82 BR T T35 | E R /K B3 s BR 77K B iEEEH B L
ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER
WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION
17324242, STROKE CONTROL AND SATETY DEVICE 7£7k 2 COOLANT CONNECTION
S HYDRAULIC 7KL COOLANT CONNECTION 3B HYDRAULIC
SHE HYDRAULIC
RL-AN RC RE
& IR IVEERERG] 3088 52 pR M B B BR 6T i%%ﬂ?%?i@%@%%é&@ﬂ
§  ROTATING HYDRAULIC CYLINDER HYDRAULIC CYLINDER WITH MPACT STYLE HYDRAULIC CYLINDER
WITH AR CONNECTION ROTATING JOINT WITH STROKE CONTROL
' ZRE AIR CONNECTION BTSN %’\;g%g@c%n\n/ga STYLE
HEE HYDRAULIC ROTATING JOINT JH/E HYDRAULIC
RE-A RE-L RD
TR RS BT R R ] Y=gt ba ) GO il B35 | PR EEAR B3 85 R (T
COMPACT STYLE HYDRAULIC COMPACT STYLE HYDRAULIC DOUBLE ROD ROTATING CYLINDER
CYLINDER WITH AR CONNECTION CYLINDER WITH COOLANT WITH SAFETY DEVICE
AND SAFETY DEVICE CONNECTION AND SAFETY DEVICE

FE1EEE 4B COMPACT STYLE
JIER HYDRAULIC

RD-N
R B BEH B E]
DOUBLE ROD ROTATING CYLINDER

A4

427 DOUBLE-ROD
SHEE HYDRAULIC

FE1EE 5 E COMPACT STYLE
BB HYDRAULIC

A

{@WEE 557 F% Rotary Valvies

RV

SRR 7R
HYDRAULIC ROTARY VALVE
SHIEE ) ACes

OIL CIRCUIT DISTRIBUTOR

U autoGriP

RV-A

ZE BRBEE ) R
AR ROTARY VALVE
22 AR

427 DOUBLE-ROD
SHEE HYDRAULIC

A




AGTOGP

jmW§E1%FE Rotary Joints

RJ-80
RANRDE R

()

AT S _

EfE ] -
COOLANT ROTATING JOINT Q -
iB8HHE5E COOLANT JOINT e

RJ-92

AUTOMATIC ON/OFF SEAL
JB#4EE COOLANT JOINT

2 AR B B BRI B
KB SRS

COOLANT ROTATING JOINT WITH

EHi B E i Parts and Accessories

GFS-100

&

-
ld o aa0o® I*‘.fjj}?‘z/,gl 28
" (o GRIPPING FORCE SENSOR
0.7

SJ

l AT
’ . STANDARD SOFT BLANK JAW
op .

1ZHE4E T STANDARD SOFT JAW E

HJ
RAERET(

STANDARD HARDENED JAW

TRAERE T
STANDARD HARDENED JAW

A

PENRNREE

THE CALCULATION OF DRAW TUBE LENGTH

FZS DRAW TUBE

p.

T-NUT FL
. = ‘/‘7‘
-0 T 24208 ' ‘t'»ﬁf':‘», PSEbrN ]
E T-NUT v Y ,:: /;’ CHUCK ADAPTORS
L TRARIE TNUT ISy aoapToR 5
& CT-SB/CT-SBS FV
. KT EITIEMREE - TR FABEM
| 3 4| COOLANT COLLECTOR WITH A STATIONARY CYLINDER LOCK VALVE
iy 'i. ;I’F}z(oKE CONTROL . FOR AIR STATIONARY CHUCK
y & COOLANT COLLECTOR
"' o & A S ACCESSORIES
DRAW TUBE DRAW BAR

PEARNREE
THE CALCULATION OF DRAW BAR LENGTH
T DRAW BAR

CT/CT-S
B RTERRRE

COOLANT COLLECTOR
WITH STROKE CONTROL

£7KE COOLANT COLLECTOR

p..

P
p..

HEREW - ZIRERHH S

BROWSE THE WEBSITE AND
INSTANTLY GRASP INFORMATION!

Q | AUTOGRIP {£E¥5i4

“2D[Eli#(PDF. DWG#Et). 3DMEIHE(STEPHE) ALt ER T,

*You can download the outline drawing (in pdf or dwg format) and 3D step at AUTOGRIP WEB,

(@) ss(tinkedin)

©) emmmauTocrIP () AUTOGRIPMACHINERY  (5) AUTOGRIPEEE

AuTOGRIP V



) S| = MBATL el
’ 3H-2I 3H-2A II_:ER:(IB:I;EI'JI-?F?U?SSEE POWER CHUCK

o BE=-TMBAREBAL -

o REEIKE(CRIBBINE TEHEHS -

o SHIMEBRSRSEE -

® WEDGE-HOOK type 3-jaw with the extra large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.

JEREFIBEERERHBETH A -

K Default B/ RIEERE Z HME -

K max EREAL BRI ERIBST 7 EARE - o[RERFIRITH -
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K'is the maximum thread specification and it could be customize.

Serration Pitch HEEgEE 1.5

3H-215 A8 G  H M 3H-221,3H-224,3H-232 3.0 S
3H-215 A1l U ‘ |
Refer to Fig.A T ‘
2HE A =} I e SHREEP
2 [ R —1 2
=g
olal = <| g * 1w x
al g Qlol TTRIMs T T A -
Slgl e S %
L1]| - L 9 ;
| %— i Bl
p— — p— O — JL v \\
L/ 3H-204 3382
L1 B L E ‘ 3H-205 Only 3 bolts
D :
B 15" 15
3H-BA,3H-2A 3H-B,3H-2
REGREIERBIEF
Subject to technical changes
FHiIRI& SPECIFICATIONS
v moaRe OE SRR ausiog  mxwesn  mmoem EE  AROHE | BARRES
Plunger | Jaw stroke = =K | &/ Max. Clamping Moment of '
Vodel SIS (Dia,) e Min. Max. D.B. pull — Max. speed - Weight Matching oyl Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min* (r.p.m.) kg + m? kg MPa (kgflcm?)
3H-204 | A4 13 55 113 7 13.7(1400) 36.0(3670) 8000 0.012 4.22 | 5.34  TK-A528 2.0(20)
3H-205 @ A4 13 515) 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 71 TK-A533 2.5(25)
3H-206 | A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1  14.9 | TK-A646 2.5(25)
3H-208 A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 | 23.4 | TK-A853 2.6(26)
3H-210 | A8 21 8.9 260 37 49.1(5010) 152(15500) 4500 0.32 375 | 43 | TK-A1075 3.2(32)
3H-212 | A1l 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 | 64.7 | TK-A1512 1.9(19)
3H-215 | A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 | 149 TK-2114 2.1(21)
3H-215 All| 25 106 | 405 49 71(7240) | 180(18350) 2500 2.8 127 |143.3| TK-2114 2.1(21)
3H-215 | A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 1135.6 TK-2114 2.1(21)
3H-18B | Al5 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4173.4| TK-2416 1.9(19)
3H-221 | A15 28 12.9 530 105 90(9175) 234(23860) 1800 7.5 223 | 234 | TK-2416 2.4(24)
3H-224 | A20 28 12.9 610 | 135 @ 100(10200) | 240(24500) 1500 15.8 270 | 284 | TK-2820 2.1(21)
3H-232 | A20 34 18 800 205 100(10200) 240(24500) 1200 47 546 | 560 | TK-2820 2.1(21)

A EHIES 3H-2A. 3H-BA BLZ<F3& (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

1 AuToGRIP



- - =S8 /K58 = TBAFL @R
’ 3H 2I3 H 2A LAR:GI:E THRU-HSLE POWER CHUCK N

MR~ DIMENSIONS

Model A B Cc D D1 D2 E El F G max. G min. H J
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -9.5 185 | 175 12
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 | A5 170 81 91 140 104.8 | 82.56 116 5 15 53 13 28 -1 14 17.5 20
3H-208 A6 210 91 103 170 133.4 | 106.38 | 150 5 17 66 16,5 335 -15 15.5 20 30
3H-210 | A8 260 102 | 115 220 1714 | 139.72 | 190 5 18 86 105 | 28,5 | -105 7.5 25 45
3H-212 A1l 315 110 | 126 300 235 196.87 | 260 6 22 106 10 32 -15 7 28 50
3H-215 | A8 405 132 | 159 380 330.2 | 139.72 | 171.4 6 33 145 11 44 -14 19 39 60
3H-215 A1l 405 132 | 166 380 330.2 | 196.87 | 235 6 40 145 11 51 -14 26 39 60
3H-215 A15 405 132 | 153 380 330.2 | 285.78 | 330.2 6 27 145 11 38 -14 13 39 60
3H-18B A15 456 145 | 166 380 330.2 | 285.78 | 330.2 6 27 165 18 45 -5 22 40 60
3H-221 |A15 530 140 | 161 380 330.2 | 285.78 | 330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 145 | 166 520 463.6 | 412.78 | 463.6 6 27 210 15 42 -13 14 41 80
3H-232 |A20 800 150 | 170 520 463.6 | 412.78 @ 463.6 6 27 275 24 51 -10 17 42 100

Model K max. K Default L L1 M N P Qmax. Qmin. Rmax.| Rmin. 5] T U
3H-204 A4 M38x1.5 M32x1.5 3~M10 |16.0 15 24 52 14 | 1275 6.75 25 12225 23 10 | 3~M10
3H-205 A4 M45x1.5 M40x1.5 3~M10 145 145 31 62 14 2025 6.75 | 295 268 25 10 3~M6
3H-206 | A5 M60x2 M55x2 6~M10 16.0 16 | 37 73 | 20 ' 21.25 9.25 36 33 31 12 3~M6
3H-208 A6 M75x2 M60x2 6~M12 170 15 38 95 25  23.7 10.2 457 419 35 14 3~M6
3H-210 | A8 M95x2 M85x2 6~M16 20.0 22 | 43 110 30 | 322 12.7 56.5 52.05 40 16 3~M8
3H-212 AL M115x2 M115x2 6~M20 30.0/ 28 51 130 30 44.75 14.75 67.8 625 | 50 21 | 3~M10
3H-215 | A8 | M155x3 | M115x2 | M155x3 = M100x2 | 6~M24 36.0 24 | 63 | 165 | 43 49.75 19.75| 90 84.7 | 62 | 25.5 6~M16
3H-215 A1l M155x3 M155x3 6~M24 136.0 31 | 63 165 43 49.75/19.75 90 84.7 | 62 | 25.5 6~M20
3H-215 A15 M155x3 M155x3 6~M24 |36.0 34 | 63 165 43 49.75/19.75 90 84.7 | 62 | 25,5 3-~M12
3H-18B | Al5 M175x3 M175x3 6~M24 138.0 36 | 63 H 165 43 64 205 | 102 | 96.7 62 | 255 3~M12
3H-221 A15 M190x3 M190x3 6~M24 33.0 36 | 73 180 60 | 69.5 245 1135 107.1 65 25 | 3~M12
3H-224 | A20 M225x3 M225x3 6~M24 350 33 73 180 60 K 935 245 128 1215 65 25 | 3~M12
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 | 73 180 60 1505 245 166 157 | 65 25 | 3~M12

AT SRR 3H-2A. 3H-BA BLZ<FIE (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

/7 = HRBRTBBEARILERE FERE 410" WEBEEER R KRR
EIRZRE FRRBEARERFERITERTDZARE, BEHCEAERIL
EETHBEZE, HEa A EREE.

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4"~10" are common
used in the industry.

If you find that you need different bore size or installation interface, please just contact us. We
have many standard and customized rotary cylinders for option and meet your needs.

Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 2



thZSE) /3R eE =M
’ 3HI3H-A THF;_G_-HOLE PO\—/LVER CHUCK )

B =MAEEAE -

RIS CRBENE - WEEHS -

SltEBREIFEE -

WEDGE-HOOK type 3-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EAEAAEIE R ERIE T R 2 FLIK,

K Default {B# K18 E Mg 2 LK (E,

K max B2 E 45 1218 0] B SR OF 7 Sy KFRAS, eI IR BIR T RETH,
m  Jis the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

G Serration Pitch S
(| i
Eq G H o om | HhEEE 15
\
3H-15A8 5 T TP ot
Refer to Fig.A y [] Blrem | 1z
SBIE A ) B o
EZ L’}Eﬂ U
K e
o 2 i,,ﬂ wl | ’I,
o Q 8 Q Q
Qlu
S} L1 || 4D 9
% - % E@ S
, 4% - L
L 1
L1 B L E
B
Fig.A
[El A 3H-A 3H
REBFARIEDBIIER
Subject to technical changes
B HFR1E SPECIFICATIONS
o N = miTie REFER i = =y = [ = -
] o 7 = =
B BOTE | G cpeepa | SHERAAN BAMEH  BEEAN B EREEE  BARREN
Plunger | Jawstroke = &A = &/ Max. Clampin Moment of :
Model drope (D) M| R Max. D.B. pull foraa NG| Max. speed  MOMERL Weight P Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg *m? kg MPa (kgflcm?)
3H-12 | A8 25 10.6 304 34 54.9(5600) | 143.7(14650) 3300 0.77 56.6 |59.3| TK-A1291 2.5(25)
3H-15 | A8 25 10.6 381 50 71(7250) 179.8(18350) 2500 2.28 120 134  TK-Al512 2.3(23)
3H-15 A1l 25 10.6 381 50 71(7250) 179.8(18350) 2500 2.28 120 | 127 | TK-Al1512 2.3(23)
3H-18 A1l 25 10.6 450 50 71(7250) 180.3(18400) 2000 4.46 160 | 174 | TK-A1512 2.3(23)
4MYR ) DIMENSIONS
Model A B © D D1 D2 E E1 F G max. G min. H J
3H-12 | A8 | 304 110 122 220 | 171.4 139.72) 190 6 18 91 10 28 -15 3 28 50
3H-15 | A8 | 381 132 159 300 235 |139.72| 1714 6 33 120 11 44 -14 19 39 60
3H-15 A1l 381 132 148 300 235 |196.87| 260 6 22 120 11 33 -14 8 39 60
3H-18 | A1l | 450 132 148 300 235 |196.87 260 6 22 120 11 33 -14 8 39 60
Q R R
Model K max. K Default L L1 M N P i | o | oo | i S T U
3H-12 | A8 M100x2 M100x2 6~M16 23 25 51.3 | 130 30 44.75/14.75 61.3 56 50 21 3~M8
3H-15 | A8 | M130x2 | M115x2  M130x2 | M100x2 | 6~M20 |30 24| 63 165 43 49.75 19.75 77,5 722 | 62 | 2550r22 6~M16
3H-15 | A11 M130x2 M130x2 6~M20 30 28 63 | 165 43 49.75/19.75 775 722 | 62  2550r22 3~M10
3H-18 | A1l M130x2 M130x2 6~M20 31 29 63 165 43 835 205 775 722 62 2550r22 3~M10

AT EBEEA 3H-A B2 <F7% (The dimensions and the specifications of 3H-A type are in red data.)

3 AUTOGRIP



rhesSE) 5 5E SRR
’ 2HI2H-A THRU-HOL E POWER CHUCK )

BEZMARREARL - HRES RPN -
RBENEKIECRIERINE - TEHEES -

SHIMEBRSRGEE -

WEDGE-HOOK type 2-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGIZEERERBIRZ ALK,

K Default B4 RIEERE Z HEKIE,

K max (B4 EA5IRIE v] BB RUASF 2 |mARME, AlKB IR KETH,
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

B b
] .
I B
& H—] I it
e | | R
2H-208 A5 \‘ - | K “ o
2H-15 A8 88 g gl R
;eﬁ,f!ﬁetcAFlg.A ) J L | j
2 it 8
%‘%7 == == L
s W TR i
Su;ecl o technical ‘Changes o B - - JLL
TR SPECIFICATIONS _2H-A ~ 2H-2A 2H~2H-2
e moge (o KERE L smmxun | miwEn | emEER B2 | ERONE  BAGREN
Model Ps,!tlf,g B JaWD?;"_Oke ﬁa{({ ﬁlﬂ\ Max. D.B. pull Clam:\)/:'ra\)(_;. force | Max. speed M?[:Zi?;c'f Weight e Max. pressure
mm mm mm mm kN (kgf) KN (kgf) mint (r.p.m.) | kg * m? kg MPa (kgflcm?)
2H-204 A4 13 55 113 7 9.2(940) 19.4(1980) 8000 0.012 42 48 TK-A528 1.3(13)
2H205 | A4 | 13 5.5 138 | 10 | 11.4(1167) 32(3260) 7000 002 68 7.6 TK-A533 1.6(16)
2H-206 | A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 13.1 | 149 | TK-A646 1.6(16)
2H-208 | A5 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 21.3 242 TK-A853 1.8(18)
2H-208 @ A6 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 21.3 224 TK-A853 1.8(18)
2H-210 | A8 21 8.9 260 37 32.9(3355) 101.9(10385) 4500 0.31 335 36.2 TK-A1075 2.2(22)
2H-12 A8 23 10.6 304 34 36.7(3740) 95.8(9780) 3300 0.70 59.7 | 62.7 | TK-A1291 1.7(17)
2H-15 | A8 | 23 10.6 | 381 50  46.9(4790) = 119.6(12200) 2500 242 | 115 | 129  TK-A1512  1.5(15)
2H-15 | A11 23 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.34 115 | 122 | TK-A1512 1.5(15)
4MER<F DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 | 315 | -95 | 185 175 12
2H-205 A4 @ 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 8 20 12
2H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
2H-208 A5 | 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 395  -15 215 20 30
2H-208 A6 210 91 103 170 133.4 106.38 150 5 17 66 16.5 335 | -1.5 155 20 30
2H-210 A8 260 102 115 220 171.4 139.72 190 5 18 86 10.5 | 285 -105 75 25 45
2H-12 A8 304 110 122 220 171.4 139.72 190 6 18 91 8 26 -15 3 28 50
2H-15 A8 381 133 160 300 235 139.72 171.4 6 &3 120 11 44 -12 21 39 60
2H-15 A1 381 133 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60
Model K max. K Default L L1 M N P | Qmax. Qmin. [Rmax.| Rmin. | S T V]
2H-204 A4 M38x1.5 M32x1.5 4~M10 @ 16 15 | 24 | 52 | 14 12.75 | 6.75 25 2225 23 10 3~M10
2H-205 A4 M45x1.5 M40x1.5 4~M10 145 145 31 62 14 2025 6.75 295 26.75 25 10 3~M6
2H-206 @ A5 M60x2 M55x2 6~M10 | 16 16 | 37 | 73 | 20 22.75 | 9.25 36 33 31 12 3~M6
2H-208 | A5 M75x2 M60x2 6~M12 17 18 38 95 25 237 10.2 457 419 35 14 6~M10
2H-208 @ A6 M75x2 M60x2 6~M12 | 17 15 | 38 | 95 | 25 237 10.2 457 419 35 14 3~M6
2H-210 | A8 M95x2 M85x2 6~M16 20 22 43 110 30 32.2 12.7 A 56.5  52.05 40 16 3~M8
2H-12 A8 M100x2 M100x2 6~M16 = 23 | 25 | 51 130 30  45.8 158 | 61.3 56 50 21 3~M8
2H-15 A8  M130x2 M115x2 M130x2 M100x2 6~M20 30 24 63 165 43 | 473 18.2 80 747 62 2550r22 6~M16
2H-15 A1l M130x2 M130x2 6~M20 | 30 | 28 | 63 165 43 47.3 18.2 80 74.7 62 2550r22 3~M10

A BEIES 2H-A. 2H-2A BUZ<F7% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.) AUTOGRIP 4



=) )RR

THRU-HOLE POWER CHUCK

A 44/aH-A

BENMARREAL - FRESEPPHINE -
RBENEKIECRIERINE - TEHEES -

SHIMEBRSRGEE -

WEDGE-HOOK type 4-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGZEERERBIRZ ALK,

K Default B4 RIEERE Z HKIE,

K max (B3 451208 7] B RUR ST 2 R ARRAE, IR EIRTES
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

%_]—QO

4H-208 A5 e Serration Pitch
4H-210 A6 E1 | B 15 s
4H-15 A8 v s 3
Refer to Fig.A
2REE A 5 N | ol
N h S . =
= E1 e % o
U e
= ola| = < T o«
———— 9§/ ¢ s| 8
L L.
_ B — 07—
Fig.A L/ /1
A S L/ JLe
B
1RGN AIHER] Subject to technical changes AH-A -~ 4H-2A 4H -~ 4H-2
BHT% SPECIFICATIONS
v modre MOE PUWHE  smeson | mxomn emoem 2 EREME BARAES
Plunger | Jawstroke —f&RA | &=/ Max. Clamping Moment of ’
— droke (Dia.) Max. | Min. Max. D.B. pull — Max. speed F—— Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
4H-206 | A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125  16.7 | TK-C646 2.5(25)
4H-208 | A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 23,5 | 25.4 | TK-A853 2.8(28)
4H-208 | A6 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 | 24.3 | TK-A853 2.8(28)
4H-210 | A6 21 8.9 260 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 44 | TK-A1075 3.2(32)
4H-210 | A8 21 8.9 260 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 | 42.3 | TK-A1075 3.2(32)
4H-12 | A8 25 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 | TK-A1291 2.5(25)
4H-15 A3 23 106 | 381 | 50 71(7250) | 179.8(18350) 2000 2.5 1237 1377 TK-A1512 | 2.3(23)
4H-15 | A11 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.42 123.7 | 130.7 | TK-A1512 2.3(23)
4H-18 | A1l 23 10.6 450 50 71(7250) 179.8(18350) 1700 4.85 170 184 | TK-A1512 2.3(23)
MBS R~ DIMENSIONS
Model A B © D D1 D2 = El F G max. G min. H J
4H-206 | A5 | 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
4H-208 | A5 | 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 39.5 -1.5 21.5 20.5 30
4H-208 | A6 | 210 91 103 170 133.4 106.38 150 5 17 66 16.5 335 -1.5 15.5 20.5 30
4H-210 | A6 | 260 102 122 220 171.4 106.38 133.4 5 25 86 105 355 | -10.5 145 25 45
4H-210 | A8 | 260 102 115 220 171.4 139.72 190 5 18 86 10.5 285  -105 7.5 25 45
4H-12 | A8 | 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
4H-15 A8 | 381 133 160 300 235 139.72 171.4 6 33 120 11 44 -12 21 39 60
4H-15 | A11 381 133 149 300 235 196.87 260 6 22 120 11 88 -12 10 39 60
4H-18 | A1l 450 133 | 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T U
4H-206 | A5 M60x2 M55x2 4~M10 16 16 | 37 | 73 | 20 | 21.25| 9.25 36 33 |31 12 3~M6
4H-208 | A5 M75x2 M60x2 4~M12 17 18 | 38 95 25 | 23.7 102 457 419 35 14 6~M10
4H-208 | A6 M75x2 M60x2 4~M12 17 | 15| 38 | 95 | 25 | 23.7 10.2 457 | 419 35 14 3~M6
4H-210 | A6 M95x2 M85x2 4~M16 | 20 18 | 43 110 30 | 32.2 | 12.7 | 56.5 52.05 40 16 6~M12
4H-210 | A8 M95x2 M85x2 4~M16 | 20 22 | 43 110 30 | 32.2  12.7 56.5 52.05| 40 16 3~M8
4H-12 A8 M100x2 M100x2 4~M16 23 | 25 [ 51.3|130 30 (44.75 14.75 61.3 56 | 50 21 3~M8
4H-15 A8 | M130x2 @ M115x2 | M130x2 | M100x2 | 4~M20 | 30 24 63 165 43 475 205 80 74.7 | 62 | 25.50r22 | 6~M16
4H-15 | A11 M130x2 M130x2 4~M20 30 28 | 63 165 43 475 205 80 74.7 62  25.50r22 | 3~-M10
4H-18 | A1l M130x2 M130x2 4~M20 30 | 28 | 63 |165 43 | 83.5 | 20.5 80 74.7 | 62 | 25.50r22 | 3~M10
5 AUTOGRIP #I&2UE% 4H-A L2 <F7% (The dimensions and the specifications of 4H-A type are in red data.)



A 3el3p-A FEBDEE(

B = MUN B ch B 3l EE -

BRI ERBERME - WEEES -
BLERARKE RS -

WEDGE-HOOK type 3-jaw mini power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
Suitable for bench lathe.

3~M8x20L
|
Joal
S8 ¥
% c
ol € EE
X 5 [
ISH
Q
3~M8x35L
1"
36
REBFRIEDLBIER
Subject to technical changes
BHTHRME SPECIFICATIONS
v mose | OE EER  skmxon  misosn  mmeEm BE  ARENE  BAGAES
Plunger BN~ 2] Max. Clamping Moment of '
- e Jaw stroke (Dia.) Max. | Min. Max. D.B. pull — Max. speed — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg ¢ m? kg MPa (kgflcm?)
3P-03 10 4.6 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 1.2(12.4)

FEBL ZZ# 4 T Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03

40

Mounting Hole

M8IR44 L T%
/ |

16

24.5
2.5

5.5

AUTOGRIP 6



REHIKE () =MEE PR

POWER CHUCK

o WE=/NPERH -
o RIHEIKHERBEBME LEEHS -
o ShtEBRSREFEE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H_, G M H G E1 H G M, TEE 1S s
3P-10A6 — U F‘* ] \ |
3P-12A6 T LA
Iiefer to Fig.A gf}* a i L H w‘}i‘# o
SHIE A H Edatz N 8L fi= i o %
o jEL N = SN ‘ = x
ja} 1
V] = )
8 L =— % = &Y ol
2 I o K 3 x/ = L Q
L 8 QES& S £ l ) ?
—1 <o K <5 Lt X
L1 B g | 8 Q / \\ SIS
Foa o/ Jule L] e Ve s B
A B B
REBRRIEHRHET 3P-04,3P-05 3P-A 3P
Subject to technical changes
TG SPECIFICATIONS
5 NP 718 FEFEE s = oo — R RAEH
i} o P = =
2 BOE | RID  cranopia | BEEANS  BANES  EESESH B8 EmEmEm | Sgt
Jawstroke = A | &/ Max. Clamping Moment '
o Plunger stroke (Dia.) Max. Min. Max. D.B. pull - Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg *m? kg MPa (kgf/cm?)
RK-75(N) 2.2(22)
3P-04 15 6.9 110 5 8.1(830) 22.5(2300) 6000 0.01 4.1 - RA-130 0.6(6)
RK-75(N) 2.2(22)
3P-05 15 6.9 135 14 8.1(830) 25(2550) 5500 0.02 6.2 - RA-130 0.6(6)
RK-100(N) 2.6(26)
3P-06 | A5 20 9.2 165 16 17.9(1830) 52.4(5350) 5250 0.05 13 14 RA-170 0.6(6)
RK-125(N) 2.3(23)
3P-08 | A5 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 28 RA.220 0.5(5)
RK-125(N) 2.3(23)
3P-08 | A6 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 27 RA.220 0.5(5)
RK-125(N) 2.6(26)
3P-10 | A6 25 8.8 254 | 24 28.9(2950) | 107.8(11000) 4000 0.3 B5) 42 RA.220 0.6(6)
RK-125(N) 2.6(26)
3P-10 | A8 25 8.8 254 | 24 28.9(2950) | 107.8(11000) 4000 0.3 35 40 RA.220 0.6(6)
RK-150(N) 2.6(26)
3P-12 | A6 30 10.5 304 | 24 41(4180) 155.8(15900) 3360 0.73 59 65 RA-270 0.8(8)
RK-150(N) 2.6(26)
3P-12 | A8 30 10.5 304 | 24 41(4180) 155.8(15900) 3360 0.73 59 63 RA-270 0.8(8)
SNEIR T DIMENSIONS
Model A B c D D1 D2 E E1l F G max. G min. H J
3P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 - 80 100 - - 7 - - 9 - -6 - 35 28
3P-06 A5 165 74 84 140 | 104.8 82.56 @ 116 5 15 21 102.6 = 87.6 82.6 67.6 35 34
3P-08 A5 210 85 103 170 | 133.4 H 82.56 | 104.8 5) 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 | 133.4 106.38 150 5 17 25 127 110 106 89 36 38
3P-10 A6 | 254 89 109 220 | 171.4 106.38| 133.4 5 25 34 158 153 133 108 36 45
3P-10 A8 254 89 102 220 | 171.4 139.72| 190 5 18 34 158 140 133 115 36 45
3P-12 | A6 | 304 106 125 220 | 171.4 106.38| 133.4 6 25 34 163 138 133 108 36 50
3P-12 A8 304 106 118 220 | 171.4 139.72| 190 6 18 34 163 145 133 115 36 50
Model K L L1 M N P Q max. Q min. R max. R min. $ T U
3P-04 M10x1.5 3~M8 12 - 24 52 14 11.2 6.7 23.6 20.15 23 10 -
3P-05 M12x1.75 | 3~M8 14 - 31 62 14 15.7 5.2 30.4 26.95 25 10 -
3P-06 | A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
3P-08 A5 M20x2.5 6~M12 20 17 38 95 25 25.25 11.75 46.3 41.45 35 14 6~M10
3P-08 A6 M20x2.5 @ 6~M12 20 18 38 95 25 25.25 11.75 46.3 41.45 35 14 3~M6
3P-10 A6 M20x2.5 6~M16 18 18 43 110 30 8595 12.75 51.1 46.7 40 16 6~M12
3P-10 A8 M20x2.5 @ 6~M16 18 25 43 110 30 35.25 12.75 51.1 46.7 40 16 3~M8
3P-12 A6 M20x2.5 6~M16 18 18 51 130 30 48.75 12.75 61 55.05 50 18 or 21| 6~M12
3P-12 | A8 M20x2.5 | 6~M16 18 25 51 130 30 48.75 12.75 61 55.75 50 18 or21 3~M8

AT EES 3P-A B2 <& (The dimensions and the specifications of 3P-A type are in red data.)
7 AUTOGRIP



= HRE (= =M
A 3p[3p-A EEBREES) S

B = M B 38 -

R mOLIECRBERMNE - WEERHE -

SRS IFEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch HFEaEE
3P-215,3P-218 : 1.5

3P-215A8 3P-221,3P-224 : 3.0
3P-221A8 oy
3P-221A11 77730
3P-224A11 =
Refer to Fig.A —
2RE A =
E1 o _FL’_G_
o 18 IE
o U s =
s - g jidﬁ“
3 K/, IR,
— 1 =t g
L/ Ly E
L1 B 11| B L
B 15°
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
BA
R INER

Subiject to technical changes

43R 1& SPECIFICATIONS

)5 \s=zo | TUTHE REFER o = [ = e = .
v mome TOE KERE  ssmiog mkmEn  BEEEH 1] EREHEL | BARAES
Plunger | Jaw stroke | =K | &/ Max. Clamping Moment of )
— droke (Dia.) Max. Min. Max. D.B. pull — Max. speed —— Weight Matching cy. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgflcm?)
3P-215 | A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 122.4 22:2288(’3; 2.8(28)
RH-200 or
3P-215 A1l 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 116 2.8(28)
RK-200(N)
3P-218 A1l 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 RH-200 or 2.8(28)
) RK-200(N) )
RH-200 or
3P-221 | A8 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 200 2.8(28)
RK-200(N)
3P-221 A1l 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 194 RH-200 or 2.8(28)
) ) RK-200(N) )
RH-200 or
3P-224 A1l 35 16 610 152 82(8360) 272.6(27800) 1750 7 230 246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 Al15 35 16 610 | 152 82(8360) 272.6(27800) 1750 7 230 | 238.6 2.8(28)
RK-200(N)
4MER<F DIMENSIONS
Model A B c D D1 D2 E E1 G max. G min. H J K
3P-215 A8 381 114 141 300 235 139.72 | 171.4 6 33 104 71 69 36 55 60 M30x3.5
3P-215 |A11| 381 114 130 300 235 196.87 260 6 22 104 | 82 69 47 55 60 M30x3.5
3P-218 A1l 450 114 130 300 235 196.87 260 6 22 92 70 57 35 55 60 M30x3.5
3P-221 A8 530 125 152 380 330.2 | 139.72 | 171.4 6 33 97 64 62 29 55 60 M30x3.5
3P-221 A1l 530 125 146 380 330.2 | 196.87 235 6 27 97 70 62 35 55 60 M30x3.5
3P-224 A1l 610 125 146 380 330.2 | 196.87 235 6 27 97 70 62 35 55 60 M30x3.5
3P-224 A15 610 125 146 380 330.2 | 285.78 | 330.2 6 27 97 70 62 35 55 60 M30x3.5
Model L L1 M N P Q max. Q min. R max. R min. S T U
3P-215 | A8 6~M20 30 24 63.3 165 43 51.25 18.25 775 69.5 62 255 6~M16
3P-215 A1l 6~M20 30 33 63.3 165 43 51.25 18.25 77.5 69.5 62 25.5 3~M10
3P-218 A1l 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 255 3~M10
3P-221 | A8 6~M24 31 24 71 180 60 96.5 24.5 86 78 65 25 6~M16
3P-221 A1l 6~M24 31 28 71 180 60 96.5 245 86 78 65 25 6~M20
3P-224 Al11 6~M24 31 28 71 180 60 96.5 24.5 125 117 65 25 6~M20
3P-224 A15 6~M24 31 34 71 180 60 96.5 245 125 117 65 25 3~M12

A BEIES 3P-A BLZ<F 3% (The dimensions and the specifications of 3P-A type are in red data.)

AUTOGRIP 8



BE) A =M
A 2p[2p-A FEBIE

o M &G -
o BENHIILELERERIME  WEHEBES -
o SHIMAEBRSRFEE -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
ngggon Pitch
H G H G El H G M BreERE 15 S
2P-08 A5 i — — T
2P-10 A6 — = Fmn U\i I R e
Refer to Fig.A o = N
S e o - B |
Ko Q& ) ]
£ e | L T = e
8 u a 0 I S
8 ‘:EL a K a K ~ L1 a
] 5] =Q < o S E3 S
< = SIS T 18 T
v 8 T x S[s ey
Ly B /ul e L/l B L E -
) L B B T
Fig.A
A 2P-04 ~ 2P-05 2P-A 2P
REBFARIEDBIIER
Subject to technical changes
FHFRHE SPECIFICATIONS
w5 wige | IR FRER aupig mAssn  BEEEH B8 | EMENE  BAEREH
(Bf®) | Chucking Dia. g ) =
Plunger | Jawstroke &®A | &/ Max. Clamping Moment of :
— droke (Dia) Max. Min. Max. D.B. pull — Max. speed —— Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgflcm?)
RK-75(N) 1.5(15)
2P-04 15 6.9 110 5 5.3(540) 14.7(1500) 6000 0.01 3.8 - RA-130 0.4(4)
RK-75(N) 1.5(15)
2P-05 15 6.9 135 14 5.3(540) 16.7(1700) 5500 0.02 5.8 - RA-130 0.4(4)
RK-100(N) 1.7(17)
2P-06 A5 20 9.2 165 14 12(1220) 35(3570) 5250 0.04 12 | 13 RA-170 0.4(4)
RK-125(N) 1.5(15)
2P-08 A5 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 26 RA.220 0.4(4)
RK-125(N) 1.5(15)
2P-08 A6 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 25 RA-220 0.4(4)
RK-125(N) 1.8(18)
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 42 RA.220 0.4(4)
RK-125(N) 1.8(18)
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 40 RA-220 0.4(4)
2P-12 A8 30 10.5 304 22 27.4(2800) 103.9(10600) 3360 0.70 57 @ 61 | RK-150(N) 1.7(17)
2P-15 All 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 103 | RK-200(N) 1.9(19)
MBI R~ DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - 6 - 35 28
2P-06 A5 165 74 | 84 140 104.8 82.56 116 5 15 21 102.6 = 87.6 82.6 67.6 35 34
2P-08 A5 | 210 85 | 103 | 170 1334 82.56 104.8 5 23 25 127 104 106 83 36 38
2P-08 A6 | 210 85 97 170 133.4 | 106.38 150 5 17 25 127 110 106 89 36 38
2P-10 A6 | 254 89 | 109 | 220 1714 | 106.38 | 133.4 5 25 34 158 133 133 108 36 45
2P-10 A8 | 254 89 102 | 220 1714 | 139.72 190 5 18 34 158 140 133 115 36 45
2P-12 A8 | 304 | 106 | 118 | 220 171.4 | 139.72 190 6 18 34 163 145 133 115 36 50
2P-15 A1l | 381 | 114 | 130 @ 300 235 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N P Q max. Q min. R max. R min. ] T U
2P-04 M10x1.5 4~M8 12 - 24 52 14 11.3 8.3 23.3 20.15 23 10 -
2P-05 M12x1.75 4~M8 14 - 31 62 14 13.5 6 30.4 26.95 25 10 -
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 22.3 11.8 46.3 41.45 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 22.3 11.8 46.3 41.45 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 12.5 - - 50 |18o0r21 6~M8
2P-15 All | M30x3.5 6~M20 30 33 63 165 43 48.8 23.3 775 69.5 62 255 | 3~M10

A EHIES 2P-A B2 <1 (The dimensions and the specifications of 2P-A type are in red data.)
AUTOGRIP



A 3L/31-A

BR/MITIE8) KA

EXTRA LONG JAW STROKE POWER CHUCK

=Mepzm

AR = TBAREBELLE - BRIITE -

BEms

SHMtEBRSRIFEE -
CRANK type 3-jaw with the large through-hole and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGRERERETFZ ALK

K max (B4 EAE 1215 p] SRR ~ BRI, KRB RES

BIERIBBEE - TEEEE -

J is the hole diameter of blank draw nut .
K is the maximum thread specification and it could be customize.

5T,

3L-208 AS Serration Pitch
3L-210 A6 G BegE®E 1.5
3L-215 A8 = M
Refer to Fig.A E1 G H .
2HEA u | ] | R
%Eé — — B
Tl i iR o 2
~ T KA |
- g T @
a g i ] 38
L/
L1 B
RBIMEEBEVER] Subject to technical changes 3L-2A 3L-2
B HFR4& SPECIFICATIONS
e mogm | OE KRET  skexoun mamsn  sEEem EE | ERENE  BARAES
- Psltli ggzr Ja\Engike ;iaj; ?Aillrj]\ Max. D.B. pull lag fgrlsgmmg Max. speed gﬂ?r::t?; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min(rp.m.) | kg *m? kg MPa (kgflcm?)
3L-205 @ A4 12 18 138 6 15.6(1590) 17.2(1750) 4200 0.019 | 7.2 8 TK-A533 2.3(23)
3L-206 | A5 15 24 170 24 23.5(2400) 26.0(2650) 3600 0.063 | 14.7 | 15.9 TK-C646 2.7(27)
3L-208 | A5 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 257 TK-A853 2.8(28)
3L-208 @ A6 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 24.6 TK-A853 2.8(28)
3L-210 A6 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 0.35 39.5 46.5 TK-A1075 3.1(31)
3L-210 | A8 25 375 260 53 47.7(4870) 48.0(4895) 2400 0.35 |39.5| 45 TK-A1075 3.1(31)
3L-212 | A8 30 45 315 61 64.7(6600) 61.0(6220) 2100 0.827 1 67.3| 70.5 | TK-A1291 3.0(30)
3L-215 | A8 35 52 405 52 84.3(8600) 85.0(8665) 1600 258 | 139 | 152 | TK-A1512-35 2.7(27)
3L-215 | ALl 35 52 405 52 84.3(8600) 85.0(8665) 1600 2,58 139 | 145 TK-A1512-35 2.7(27)
4MUR~F DIMENSIONS
Model A B C D D1 D2 E E1l F G max. G min. H J
3L-205 A4 | 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
3L-206 A5 | 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
3L-208 A5 | 215 96 | 114 @ 170 1334 82.56 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 | 215 96 | 114 | 170 133.4 | 106.38 150 5 23 52 7 30 -13 10 20 30
3L-210 A6 | 260 | 108 | 128 | 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 | 260 | 108 | 121 | 220 1714 | 139.72 190 5) 18 75 8.5 26.5 | -16.5 15 25 45
3L-212 A8 | 315 | 125 | 138 220 171.4 | 139.72 190 5 18 91 15 33 -15 3 30 50
3L-215 A8 | 405 | 150 | 177 | 300 235 139.72 171.4 6 33 120 125 | 455 | -225 | 10.5 39 60
3L-215 | A11 | 405 | 150 | 166 | 300 235 196.87 260 6 22 120 125 | 345 -225 | -05 39 60
Model K max. L L1 M N P Q max. Q min. R max. R min. S] T U
3L-205 A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 38.5 29.5 25 10 3~M6
3L-206 A5 M55x2 3~M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~M6
3L-208 A5 M60x2 3~M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3~M12 18 | 20 38 95 25 19.25 10.25 63.5 47.5 B35) 14 3~M6
3L-210 A6 | M85x2 M60x2 3~M16 24 | 20 43 110 30 24.75 11.25 80 61.25 40 16 3~M12
3L-210 A8 M85x2 3~M16 24 | 21 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3~M16 24 | 21 51 130 30 29.75 13.25 96.5 74 50 21 3~M8
3L-215 A8 M130x2 6~M20 33 275 63 165 43 34.75 13.75 119 93 62 255 | 6~-M16
3L-215 A1l M130x2 6~M20 33 31 63 165 43 34.75 13.75 119 93 62 255  3~M10

AT EBEES 3L-A BLZ <& (The dimensions and the specifications of 3L-A type are in red data.)

Autocrip 10



- BRMITE# HKEE = Mepgem
’ 2LI2L A EXTRA LONG %]EAW STROIELE POWER CHUCK

A TEBABERALE  BRITE -

RENEKIECRIBBINE - TEHEES -

St AR RS RIFEE -

CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGZEERERBIRZ ALK,

K max {4 EA5IRIE A R SR oF 7 S| ARG, AR B IR T RETR,
J is the hole diameter of blank draw nut,

K is the maximum thread specification and it could be customize.

G Serration Pitch
~ PrEEEE 1.5 s

m
®
T
<

|

. [ [

.
o

2L-15A8
Refer to Fig.A
ZRIE A

e

7°7'30"
T
(An_oy

oD2
oD1

3
F
Hh

D2
oA

aC He
IZNp
oF
4

Serration Pitch

BEEEEE 1.5
2L-208A5 M
2L-210A6 S, G_ H
Refer to Fig.B E1
25E B

‘é

g
q.r|
N

i
L[
[ [
=

2L-2A 2L-2

1RBHREIEBIHEF Subject to technical changes

F#T#R1& SPECIFICATIONS

B3 miore | TR RER  amexon  mkwEn | BREEH 8 ERENE | RARRES

- Plunger stroke Ja\EvD?:?ke li/l%ajx( i’r{\ Max. D.B. pull Max.fgrlzénping Max. speed M?::S;Of Weight Matching cyl. Max. pressure

mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
2L-205 | A4 12 18 138 6 10.4(1060) 11.4(1170) 4200 0.018 | 69 | 7.7 TK-A533 1.5(15)
2L-206 | A5 15 24 170 | 24 15.7(1600) 17.3(1760) 3600 0.063 | 14.4|15.6 TK-C646 1.8(18)
2L-208 | A5 20 32 215 | 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 26 TK-A853 1.9(19)
2L-208 | A6 20 32 215 | 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 24.2 TK-A853 1.9(19)
2L-210 | A6 25 37.5 260 | 53 31.8(3250) 37.3(3800) 2400 0.33 40 45.5| TK-A1075 2.1(21)
2L-210 | A8 25 37.5 260 @ 53 31.8(3250) 37.3(3800) 2400 0.33 40 | 44 TK-A1075 2.1(21)
2L-12 A8 30 45 304 | 30 43.1(4400) 50.0(5100) 2100 0.8 60 | 65.5| TK-A1291 2.0(20)
2L-15 A8 35 52 385 | 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 147 | TK-A1512-35 1.8(18)
2L-15 All 35 52 385 | 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 140 @ TK-A1512-35 1.8(18)

A EIEA 2L-A B <1 (The dimensions and the specifications of 2L-A type are in red data.)

11 AutocriP



- BRMNITIZE)/13KE =Mz
’ 2'-/ 2L=A 575 One 5aw STROKE POWER CHUCK

MR~ DIMENSIONS

Model A B C D D1 D2 E E1l F G max. G min. H J
2L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
2L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20

2L-208 A5 | 215 96 | 114 | 170 1334 82.56 104.8 5 23 52 7 30 -13 10 20 30

2L-208 A6 | 215 96 114 170 1334 | 106.38 150 5 23 52 7 30 -13 10 20 30

2L-210 A6 | 260 | 108 | 128 & 220 1714 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45

2L-210 A8 = 260 @ 108 121 @ 220 171.4 139.72 190 5 18 75 8.5 265 | -165 | 15 25 45

2L-12 A8 | 304 | 127 | 140 @ 220 1714 139.72 190 5 18 91 15 33 -15 3 28 50

2L-15 A8 | 385 | 150 177 @ 300 235 139.72 171.4 6 33 120 | 125 | 455 | -225 | 10.5 39 60

2L-15 All | 385 | 150 166 & 300 235 196.87 260 6 22 120 | 125 | 345 | -225  -05 39 60
Model K max. L L1 M N P Qmax. Qmin.  Rmax. =R min. S T U
2L-205 | A4 M40x1.5 4~M10 15 15 31 62 14 1575 | 5.25 38.5 29.5 25 10 3~M6
2L-206 = A5 M55x2 4~M10 18 | 15 37 73 20 | 15.25 | 7.75 51 39 31 12 3~M6
2L-208 | A5 M60x2 4~M12 18 19 38 95 25 | 19.25 | 10.25 | 63.5 47.5 35 14 6~M10
2L-208 | A6 M60x2 4~M12 18 | 20 38 95 25 | 19.25 | 10.25 | 63.5 47.5 35 14 3~M6

2L-210 A6 = M85x2 M60x2 4~M16 24 20 43 110 30 | 2475 | 11.25 80 61.25 40 16 6~M12

2L-210 A8 M85x2 4~M16 24 21 43 110 30 2475 11.25 80 61.25 | 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 | 46.25 | 19.25 7 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275| 63 165 43 5125 | 27.25 | 9425 | 68.25 62 2515 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 | 51.25 | 27.25 | 94.25  68.25 | 62 25.5 3~M10

A EEIER 2L-A B <1 (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP 12



HERMITESN /KR

EXTRA LONG JAW STROKE POWER CHUCK

o MRAVEEMPENE - BRNITE -
o FEANAEHERNT )i -
o SHIMAEBRSRIFEE -
® CRANK type single-jaw with the large through-hole and extra long jaw
stroke.
® Suitable for clamping the jig or irregular work piece.
® High rigidity and high clamping accuracy.
Serration Pitch
el
c GHMEE 15 M ‘
N = <
1L-08A5 3~U <L \
1L-10A6 < ol |
Refer to Fig.A ¥EJ£—' E
2B A gl ===
Sr\ —1 H ‘
T
s 2 S
O|5| = o
1Ay
K i
15
B
Fig.A
BB A 1L-A
Subject to technical changes —
FATRIE SPECIFICATIONS
=
R BOGR | GR  JSIE | mgRcn RAKEH  REEEH EE | EREME | BARRES
Plunger &R | =N Max. Clamping Moment of )
Model dtroke Jaw stroke Max. Min. Max. D.B. pull " Max. speed - Weight Wi @l Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
1L-06 | A5 20 16 168 5 12.3(1250) 27.3(2780) 3800 0.05 125  14.3 RK-100 1.7(17.5)
1L-08 A5 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 | 271 RK-125 1.4(14.3)
1L-08 @ A6 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 253 RK-125 1.4(14.3)
1L-10 A6 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 | 46 RK-125 1.9(19.5)
1L-10 A8 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 44.3 RK-125 1.9(19.5)
4MEIR<F DIMENSIONS
Model A Al B © D D1 D2 E 7 G max. | G min. H J J1 K max. L
1L-06 | A5 168 9.5 | 80 | 90 140 104.8 82.56 116 15 21 37 17 25 46 54 | M30x1.5 M10 16 16
1L-08 A5 215 8 93 | 111 | 170 | 133.4 | 82.56 | 104.8 23 21 46 21 32 52 70 | M33x1.5 M12 21 19
1L-08 A6 | 215 8 93 105170  133.4 106.38 150 17 21 46 21 32 52 70 | M33x1.5 | M12 | 21 20
1L-10 A6 | 254 13.5 108 128 220 171.4 106.38 133.4 25 30 47 17 30 62 90 | M45x1.5 | M16 | 25 20
1L-10 A8 | 254 |13.5 108 121 | 220 171.4 139.72 190 18 30 47 17 30 62 90 | M45x1.5 | M16 | 25 27
Model M N P Qmax. = Qmin. R max. R min. S] T U V(H6) V1(h9) V2 w W1 X Y z
1L-06 A5 | 37 73 20 19.75 7.75 46 30 31 12 M6 30 15 4.5 64 M10 445 36 30
1L-08 A5 38 95 25 25.25 | 10.25 54 34 B85 14 | M10 35 18 4.5 70 M12 61 52 36
1L-08 A6 | 38 95 25 25.25 | 10.25 54 34 35 14 M6 35 18 4.5 70 M12 61 52 36
1L-10 A6 43 110 @ 30 33.75 | 11.25 67 43 40 16 | M8 40 20 5 90 M14 | 71 585 45
1L-10 A8 | 43 | 110 | 30 33.75 | 11.25 67 43 40 16 M8 40 20 5 90 M14 71 585 | 45

A EEIES 1L-A B2 5% (The dimensions and the specifications of 1L-A type are in red data.)

13 AutoGRIP




RERTUTIZRE (—) =meEa

LONG JAW STROKE POWER CHUCK

B =M BRE - £TITE -

RBENEKECRIERINE - TEEES -

SHIMEBRSRSEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch
B 15 S

=

%4

|

*m
=
A// fTT
i
3

R
I
Lﬂ R

]

L " L1 B
3M-05
Serration Pitch
M HEEE 15 S
— T
L A
H G EmE .
‘ el ol <
I
\, } o
S |
S
K a
L1 ‘ ﬁ Q
) L
<| Q g
Q
L E
B
REBINGIEELBONER
Subject to technical changes 3M‘06~3M‘1 2
F#T#E4% SPECIFICATIONS
my | R UE BHEE  amekah | BAKES | BSEHN | 8 OREEE | BAERES
= (BEE) Chucking Dia. ATER =1 =
Plunger | Jaw stroke | ERK =/ Max. Clamping Moment of )
- droke (Dia) Vi Min. Max. D.B. pull r— Max. speed — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (3680) 4000 0.04 12.2 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4 (3000) 72 (7340) 3500 0.13 23.0 RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 34.3 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54.0 (5500) 150 (15300) 2500 0.71 59.4 RK-150(N) 3.6(36)
4MUR~T DIMENSIONS
Model A B C(H®6) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L L1 M N P Q max. Q min. R max. R min. S] T
3M-05 3~M8 14 31 62 14 155 5 32.9 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 223 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AuTOoGRIP 14



RERMITIERE () = Mg
LONG JAW STROKE POWER CHUCK

B =M BRE - £TITE -

RBENEKECRIERIE - TEEES -

SHIMEBRSRSEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch  HFEi b
3M-215, 3M-218 : 1.5
3M-221, 3M-224 : 3.0

3M-215,3M-218

REHEIEREOHER)

Subject to technical changes

R #RM& SPECIFICATIONS

we mefR | R KERE asmexon  mkusn  BREER 0 BB OERESE  BARREN
— Pgltlizggr Ja\A(IDSilargke ﬁajx( ﬁg\ Max. D.B. pull Max.f(;:gr:ping Max. speed M?::;S;Of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg *m? kg MPa (kgf/cm?)
3M-215 35 25.4 381 20 91.0 (9280) 158.9 (16200) 2300 1.8 96 | RK-200(N) 3.0(30)
3M-218 35 25.4 450 51 91.0 (9280) 158.9 (16200) 2000 2.32 124 RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280) 158.9 (16200) 1350 4.9 175 | RK-200(N) 3.0(30)
3M-224 35 25.4 610 | 160 91.0 (9280) 158.9 (16200) 1250 7.2 225 | RK-200(N) 3.0(30)
4MEURST DIMENSIONS

Model A B C(Heé) D E F G max. G min. H J
3M-215 381 114 300 235 6 2 104 69 55 60
3M-218 450 114 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60

Model K L L1 M N B Q max. Q min. R max. R min. S] T
3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5
3M-218 M30x3.5 6~M20 35 63.3 165 43 51.25 18.25 109.5 96.8 62 25.5
3M-221 M30x3.5 6~M24 31 71 180 60 90.5 24.5 92 79.3 65 25
3M-224 M30x3.5 6~M24 31 71 180 60 90 24 131 118.3 65 25

15 AutocrIP



PER/MNITIZKE

LONG JAW STROKE POWER CHUCK

ZMHER

o ME_MPERE BMITE-
o RBEHHILIFLRERME WEHEBEES -
o SHIGEBESRERE -
® WEDGE-HOOK type 2-jaw power chuck and long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch s
M HeEgE 15
E EVE_‘L 1
|| 18T 5 -
G
K ‘ ‘
— il -
8 8|8,
LN
a
= ¢
L/ | B
2M-05
Serration Pitch
M HEE 15 s
|
[ ] Y
H G W= o
I ‘ REFT ol % g%
e By R - ~
- \ 7z n
& ‘ 17 N
K
T
(&) E==b
<| Q| T—————- -
Q
|
L/ e
REATEEBEOHER B
ubject to technical changes
s ’ 2M-06~2M-12
733 SPECIFICATIONS
a5 o | TUIE BRER  aumian BAKESH BSOS B8 ERESI  RAGEES
(BERX) Chucking Dia. 3 (=]
Plunger Jaw stroke | &K =2\ Max. Clamping Moment :
- Sl (Dia) M Min. Max. D.B. pull — Max. speed v Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgflcm?)
2M-05 15 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460) = 24(2450) 4000 0.04 12.2 | RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000) = 36.6(3730) 3500 0.13 23.0 | RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660) = 49.3(5030) 3000 0.30 343 | RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1 | RK-150(N) 2.4(24)
SMNEUR ST DIMENSIONS
Model A B C(H6) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5 160 133 36 45
2M-12 304 106 220 171.4 6 70 40 46 50
Model K L L1 M N (> Q max. Q min. R max. R min. S T
2M-05 M12x1.75 4~M8 14 31 62 14 15.5 5 32.9 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AUTOGRIP 16



A 3v-A

M EERPREE) /KA (—)

POWER CHUCK FOR VERTICAL LATHE

=MPERKEEE

o HEE=ZNPERHE -
o [YIBAEBKEE  HhEEERARIAER -
° WEDGE-HOOK type 3-jaw high speed power chuck.
®  Sealed against swarf, chips and coolant, suitable for vertical lathe.
3v-21
Serration Pitch VS
H oG M_ #EE F
U El{ ‘ e -
T e — 2
t o
H G
a8 < ol « & —,4‘—‘; J] < g U ﬁT\E“J, -
3V-15A8 s 8 g 8 SL== ° g x‘t E [a)
3V-15A15 [ S
L1
SV-16ATs Ry J
3V-21A11 o — j=====C13
AN AT :
2EE A . el
BRI AR B
Subject to technical changes VA v
Fi#i3R#& SPECIFICATIONS
g pome IR SRER | zueinn | BAKEH  BEEEH | £8  OPLEE BAGRED
(BR) Chucking Dia.
— Pgl::gg:r Ja\EvD?gc))ke ﬁajx( ﬁg\ Max. D.B. pull Max.fgligmmg Max. speed M?rr]:t?;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
V12 A8 30 127 | 304 30 | 41(4180) | 156(15900) = 3150 | 0.73 0.79 62.9 68.7 Egjgg 2.6(26)
3V-15 A8 B85 16 381 30 81.9(8360) | 245.1(25000) 2900 1.97 | 2.27 |105.5/128.5
3v-15 | AlL 35 16 381 30 81.9(8360) 245.1(25000) 2900 | 1.97 | 2.27 105.5 127
3v-15 Al15 &5 16 381 30 81.9(8360) | 245.1(25000) 2900 3.33 | 2.67 |105.5| 142
3v-18 A8 35 16 450 80 81.9(8360) | 245.1(25000) 2600 3.33  3.62 132.7 155.5
3v18 A1l 35 16 450 80 | 81.9(8360) 245.1(25000) 2600 | 3.33 3.63 1327 1545 pge.00 = 2.8(28)
3Vv-18 Al5 35 16 450 80 81.9(8360) | 245.1(25000) 2600 6.83 | 4.02 |132.7 165 RE-200K 3.0(30)
3v-21 | ALl 35 16 530 62 81.9(8360) 271.6(27700) 1800 | 6.83  7.46 196.5 227
3v-21 Al15 35 16 530 62 81.9(8360) | 271.6(27700) 1800 6.83 | 7.37 |196.5 221
3v-24 | AlL 35 16 610 136 | 81.9(8360) 271.6(27700) 1700 | 11.19 11.83 241.7 272.8
3V-24 | Al5 35 16 610 136 81.9(8360) 271.6(27700)| 1700  11.19 | 11.73|241.7 266
3V-32 Al15 B85 16 800 136 81.9(8360) | 271.6(27700) 1100 28.9729.51|353.6 378
SMEYR ST DIMENSIONS
Model A B © D D1 D2 E E1l F G max. G min. H J
3V-12 | A8 304 107 141 220 | 171.4  139.72 @ 190 6 40 15 113 73 83 43 36 50
3V-15 A8 381 116 | 164 | 300 235 139.72 | 171.4 6 54 1.5 153 99 118 64 55 60
3v-15 | A1l 381 @ 116 168 @ 300 235 | 196.87 @ 260 6 58 15 153 95 118 60 55 60
3v-15 Al5 | 381 116 | 172 380 235 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3Vv-18 A8 450 116 | 164 | 300 235 139.72 | 171.4 6 54 1.5 153 99 118 64 55 60
3V-18 | A1l 450 @116 @ 168 @ 300 235 | 196.87 | 260 6 58 15 153 95 118 60 55 60
3V-18 | A15 450 @ 116 172 380 235 | 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3v-21 All | 530 127 | 167 380 330.2 | 196.87 235 6 46 3 137 91 102 56 55 60
3V-21 | A15 | 530 | 127 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3v-24 All | 610 127 | 167 380 330.2 | 196.87 235 6 46 8 137 91 102 56 55 60
3V-24 | A15 | 610 | 127 167 @ 380 | 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3V-32 | Al15| 800 | 127 | 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
Model K L L1 M N P Q max. Q min R max. R min. S] T V]
3V-12 A8 | M20x2.5 3~M16 24 | 24 54 130 30 475 16 61 54.65 50 21 3~M8
3V-15 A8 | M30x3.5 6~M20 35 | 24 66 165 43 51.25 @ 18.25 | 775 69.5 62 25.5 6~M16
3v-15 All M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 775 69.5 62 25.5 3~M10
3V-15 | A15  M30x3.5 6~M20 35 | 26 66 165 43 51.25 @ 18.25 | 77.5 69.5 62 25.5 6~M24
3v-18 A8 | M30x3.5 6~M20 35 | 24 66 165 43 51.25 | 18.25 108 100 62 25.5 6~M16
3v-18 All M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 108 100 62 2585) 3~M10
3V-18 | A15  M30x3.5 6~M20 35 | 26 66 165 43 51.25 | 18.25 108 100 62 25.5 6~M24
3v-21 | A1l M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 89 81 65 25 6~M20
3v-21 Al5 M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 3~M12
3V-24 | A1l M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
3v-24 | A15  M30x3.5 6~M24 41 | 35 74 180 60 93,5 24.5 128 120 65 25 3~M12
3v-32 Al15 M30x3.5 6~M24 41 35 74 180 60 189.5 24.5 128 120 65 25 3~M12

17 AUTOGRIP AI&#iEA 3v-A B <F5% (The dimensions and the specifications of 3V-A type are in red data.)




A 3v-A  rEEEEwnEE o) -

POWER CHUCK FOR VERTICAL LATHE

B =M B KRR -

FMOEBFENREETE - DURITHRL -

BrtlE K biKaE - FRIEEEANIINER -

WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

30

@D2
@D1

@cC
?J
\
OA
aC He

2D

L1 ‘ El

3V-40A20
3V-50A20
Refer to Fig.A B
2B A — B
Fig.A 270 223

76.2 76.2

IR

110

H
| 108

62_ 55
Sy

L
——

125*LL719'03 19.03 E
83

musmnwn Softion i ionveg g Hardenact jaw M0 or V075
BHIERHE SPECIFICATIONS

v moER O YRS amexosn maowsn  mEoem EE  EPOEE BARREN

- P;turggzr Ja‘EVD?:))ke I;l%ajx( %III_J]\ Max. D.B. pull Max.fgrlig‘nping Max. speed M?nn;?;m Weight Matching cyl. Max. pressure

mm mm mm mm kN (kgf) KN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)

3v-40 | A20 57 46+(60) | 1005 | 310 | 180(18350) 320(32620) 630 68 72 780 | 849 4.2(42)
3V.-50 | A20 57 46+(60) | 1250 = 290 | 180(18350) 320(32620) 500 145 | 148 1000 |1050 222228 4.2(42)
3v-63 60 48+(80) | 1600 | 390 | 200(20390) 360(36700) 400 500 - 1600 - | RE-A250 4.6(46)
3V-79 60 48+(80) | 2000 = 440 | 200(20390) 360(36700) 320 1250 - 2500 - REL250 4.6(46)
4MURST DIMENSIONS

Model A B © D D1 D2 E El F G max. G min. H J K
3V-40 | A20 1005 184 | 226 520 | 463.6 41278 4636 8 | 50 190 | 123 |73 66 @ 16 65 | 65 M36x4
3V-50 | A20 1250 184 | 226 520 | 463.6 41278 4636 8 | 50 190 | 123 73 66 @ 16 65 | 65 M36x4
3v-63 1600 | 222 - | 720 6476 - - 8 - 218 131 | - 71 - | 65 - M36x4
3V-79 2000 | 240 - | 720 6476 - - 8 - 238 133 - 73 - | 65 - M36x4

Model L L1 M N P Q R max. R min. 5] T U Vv W
3v-40 | A20 M24 37 110 270 | 762 | 295 457 404 6~19.03 = 7~M24 | 3-M12 42 84
3v-50 | A20 M24 37 110 270 | 762 | 416 563 510 9~19.03 = 9~M24 | 3~-M12 42 84
3V-63 M30 46 110 270 | 762 | 540 738 674 | 12~19.03 13~M24 - 42 110
3v-79 M30 48 110 270 | 762 | 740 914 850 | 16~19.03 17~M24 - 42 110

AT EEIES 3V-A B2 ST (The dimensions and the specifications of 3V-A type are in red data.) AUTOGRIP 18



Mg EE

MVERPRESIKE(—)

POWER CHUCK FOR VERTICAL LATHE

BRI M B 3 -

BotlE K BhKEET - BRlEEERRIIIER -

WEDGE-HOOK type 4-jaw high speed power chuck.

Sealed against swarf, chips and coolant, suitable for vertical lathe.

M Serration Pitch

HreEgE £ s
EfEE— Al
o - > [
e = ¢
§ gl € =
4v-15A8 1— a
Y W ©
4V-15A15 —1 H
Vv J Q|
Fig.A £ —
fs%igiﬁfgaahm&fuh EA = 2 e
/i35 SPECIFICATIONS A -
my o R O SREE e gy BREEH | 8 ARESE  BAERE.
(BRX) Chucking Dia.
- P;{iggzr Ja\EvD?:;)ke ﬁ:}f ﬁg\ Max. D.B. pull Max.f(g:izplng Max. speed M?::T?;Of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg + m? kg MPa (kgflcm?)
412 As 30 | 127 | 304 48 | 41(4180)  156(15900) 2520 | 0.72 079 59 | 67 ';Ejgg 2.6(26)
4V-15 A8 35 16 381 36 81.9(8360) | 245.1(25000) 2300 2.10 | 2.39 | 108 | 131
4v-15 All 35 16 381 36 81.9(8360) = 245.1(25000) 2300 2.10 | 2.39 | 108 | 130
4V-15 A15 85! 16 381 36 81.9(8360) | 245.1(25000) 2300 2.10 | 2.79 | 108 | 139
4V-18 A8 35 16 450 60 81.9(8360) = 245.1(25000) 2050 3.51 | 3.80 |139.3| 162
4v-18 All 35 16 450 60 81.9(8360) | 245.1(25000) 2050 3.51 3.80 139.3 160.9
4V-18 A15 35 16 450 60 81.9(8360) @ 245.1(25000) 2050 3.51 | 4.20 | 139.3| 172 EE;SSK gggg;
4V-21 All 35 16 530 62 81.9(8360) | 271.6(27700) 1450 6.98 | 7.62 | 199 | 230
4v-21 A15 35 16 530 62 81.9(8360) = 271.6(27700) 1450 6.98 | 7.53 | 199 223.7
4V-24 All 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 | 11.98 | 243.8 | 275
4Vv-24 | A15 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 | 11.88 | 243.8 268.3
4V-32 A15 35 16 800 152 | 81.9(8360) 271.6(27700) 880 32.58 | 33.13 | 396 | 419.9
4MYR~T DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
4v-12 A8 | 304 107 141 220 | 171.4 139.72 190 6 40 15 113 73 83 43 36 50
4V-15 A8 | 381 116 164 300 235 [139.72| 171.4 6 54 15 153 99 118 64 55 60
4v-15 All | 381 116 168 300 235 |196.87| 260 6 58 15 153 95 118 60 55 60
4V-15 Al15 | 381 116 172 380 235 |285.78| 330.2 6 62 15 153 91 118 56 55) 60
4V-18 A8 | 450 116 164 300 235 [139.72| 171.4 6 54 15 153 99 118 64 55 60
4v-18 All | 450 116 168 300 235 |196.87| 260 6 58 15 153 95 118 60 55) 60
4V-18 A15 | 450 116 172 380 235 |285.78| 330.2 6 62 15 153 91 118 56 55 60
4Vv-21 All | 530 127 167 380 | 330.2 |196.87| 235 6 46 3 137 91 102 56 55 60
4v-21 A15 | 530 127 167 380 | 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-24 All | 610 127 167 380 | 330.2 [196.87| 235 6 46 3 137 91 102 56 55} 60
4v-24 | A15 | 610 127 167 380 | 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-32 A15 | 800 147 187 380 | 330.2 |285.78| 330.2 6 46 3 137 91 102 56 55} 60
Model K L L1 M N P Q max. Q min. R max. R min. $ T U
4v-12 A8 | M20x2.5 3~M16 24 24 42 | 110 | 30 51.75 15.75 61.3 54.9 40 16 4~M8
4V-15 A8 | M30x3.5 6~M20 35 24 66 | 165 @ 43 40.75 18.25 87.5 79.4 62 25.5 6~M16
4V-15 All | M30x3.5  6~M20 35 32 66 | 165 43 40.75 18.25 87.5 79.4 62 25.5 4~M10
4V-15 Al5 | M30x3.5 6~M20 85 26 66 | 165 43 40.75 18.25 87.5 79.4 62 25.5 6~M24
4v-18 A8 | M30x3.5 | 6~M20 35 24 66 | 165 @ 43 51.22 18.22 108 100 62 25.5 6~M16
4V-18 All | M30x3.5 6~M20 35 32 66 | 165 43 51.22 18.22 108 100 62 25.5 4~M10
4V-18 Al5 | M30x3.5 6~M20 35 26 66 | 165 43 51.22 18.22 108 100 62 25.5 6~M24
4v-21 All | M30x3.5  6~M24 | 41 85) 74 | 180 | 60 72.5 24.5 89 81 65 25 6~M20
4v-21 Al5 | M30x3.5 | 6~M24 | 41 35 74 | 180 | 60 72.5 24.5 89 81 65 25 3~M12
4V-24 All | M30x3.5  6~M24 | 41 35 74 | 180 @ 60 93.5 24.5 128 120 65 25 6~M20
4v-24 Al5 | M30x3.5 | 6~M24 | 41 35 74 | 180 | 60 93.5 24.5 128 120 65 25 3~M12
4V-32 Al5 | M30x3.5 6~M24 36 85! 74 | 180 | 60 189.5 24.5 128 120 65 25 3~M12
19 AuTtocrIP 4T EES 4V-A Bl Z <H5% (The dimensions and the specifications of 4V-A type are in red data.)




MEAPEEIRE (D) TR BB B
POWER CHUCK FOR VERTICAL LATHE

BRI R B 35 -

FMOIEFFEFHETE - DA THERD -

MrthiE KFhKeRer - FRlEa ARSI -

WEDGE-HOOK type 4-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

4V-40 A20
4V-50 A20

4V-63 A20 A0 b w
Refer to Fig.A /<<>>\ -

=7

125

E1l
" [ z

SHEA ] \<2§/ W
L

! 1 | /
HEEEE== Gy gfétt—ﬂ;ﬁ{ O
H o ° Lij} 9
& 9 L1 Ll 2
ol e N\
f Se
i | 1B
B B M
Fig.A
BA
RBRIEIERAVIER

Subject to technical changes

F##R1& SPECIFICATIONS

v monR | o SERT skexog mamen | BEEsm EE | ERESE  BARAES
Model PJ#ZE? Ja?lofzc))ke §§ R:ﬁ/r{.\ v DD Ml Max'fgr'?? P9 wax. speed M?r:gft?;m Weight | \atching ey | M2 pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? ki MPa (kgflcm?)
4V-40 | A20 57 46+(60) 1000 310 | 180(18350) | 320(32620) 500 70 94 740 | 790  RK-250 4.2(42)
4V-50 A20 57 46+(60) | 1250 | 290 | 180(18350) @ 320(32620) 450 222 224 1130 1180 ggigg 0 4.2(42)
4V-63 60 48+(80) 1600 = 390 | 200(20390) | 360(36700) 340 565 1800 RE-L250 4.6(46)
4MYR~F DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J K
4V-40 | A20 1000 | 184 226 | 520 | 463.6 412.78 463.6 8 50 190 | 123 73 66 | 16 65 65 M36x4
4V-50 A20 | 1250 @ 200 @ 242 520 463.6 412.78 463.6 8 50 190 123 73 66 16 65 65 M36x4
4V-63 1600 = 240 - 720 | 647.6 - - 8 - 214 131 71 65 - M36x4
Model L L1 M N P Q R max. R min. S T U \ W
4V-40 | A20 | M24 37 110 270 76.2 295 457 404 6~19.03  7-M24 | 3-M12 42 84
4V-50 A20 M24 38 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
4V-63 M30 46 110 270 76.2 540 738 674 12~19.03  13~M24 - 42 110

AT A 4V-A B2 <F5% (The dimensions and the specifications of 4V-A type are in red data.) AUTOGRIP 20



=M= RFRESDN /KA SEH

THRU-HOLE FULLY SEALED TYPE POWER CHUCK

o EEENRF NEREREBER  ESEENE -

o REEAESOIRIEEE - BERILLIEIK - IBEMHBA - BRI B
RE -

o HEEBESEALEFRSS  BHMBRANEZANT - SELR NNLIER - £5l
BEERARIIAER -

o OIKBEENMEEERRITEPLEKEER(ER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

®  Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
—H BEiE 15
G M S
E1l
(=1 T
G I i ]
=
u [ e A= o
o imey=0 A
G *%1\25 |
5 w o
2 I
y

¢

N

|

|
R|
|

©
o8l g o
SIESIAS) 8
a
1l ®
=== g
L L
E
B
3HS-A 3HS
1REBIRIEIENAIHEF] Subject to technical changes
B R SPECIFICATIONS
o N z=30 712 RIEFER e = o = e =
1) P =
23 BOR | @IS congbia | BUEAND | BARES | SOy 8 EMEWE BAERED
Plunger | Jawstroke & &A | &\ Max. Clamping Moment of )
Vodel o (Dia.) Max. | Min. Max. D.B. pull e Max. speed F— Weight Matching oy, Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3HS-08 A6 18 7.6 220 | 22 31.9(3250) 107(10900) 5000 0.18 26.5  28.1 | TK-A853 2.6(26)
SNEYR < DIMENSIONS
Model A B © D D1 D2 E =il F G max. G min. H J
3HS-08 A6 220 98 110 170 133.4 106.38 150 5 17 52 20 15 2 -3 20 30
Model K max. K Default L L1 M N P Qmax. | Qmin.  Rmax. = Rmin. S T U
3HS-08 A6 M60x2 M55x2 | 6~M12 19 17 39 95 25 47.75 | 29.75 29 25.2 35 14 3~M6

AT EBEEA 3HS-A BUZ 1 (The dimensions and the specifications of 3HS-A type are in red data.)

21 AuTtoGRIP




SEHE

= MAPERREE /KA

FULLY SEALED TYPE POWER CHUCK

EEMNRE - BORERE - BESEEVE -
REAMLAREEES - BEMIELIEIK - IBHEDHBA @ BRIFEE
HMAE -

o HMEBESEALMHFFESS HBHEMBENLZAMI - SELSAR FNIE
- SRIEaERRIIAER -

o TIKBEELEEBKITRP LT KI TR (ER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch

HreagE 15 M s
Lod ]
| 7 =
— N~
o
\‘F:::: /: =z
i IN=
H G
o
[ q
 r— — ( E o
o) \ VS £
Q | f [N\ i
«/ " .
ol L1 Q
I
< O \ \ 14
Ql 8 [ [ N
e
L/ E ‘
B
RBIGIEBLBONER
Subject to technical changes
BRI SPECIFICATIONS
\ /=20 7128 TEFER BIFrmK = Sy = | wms RAGEA
- BT e ¢ RATHH BEEHY 1 EE  EAEEE &5
" Pl Jaw stroke | = Sk Max. clampi '
s{:gg:r a‘?’Diar.()) € RAMax. &/J\Min. | Max. D.B. pull axf(c)rigplng Max. speed | Weight Matching cyl. Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min'l(r.p.m.) kg-m2 kg MPa (kgf/cmz)
RK-150(N) | 2.4 (24.4)
PS-12 . . .
3PS 30 12.7 315 22 38.5(3926) | 160(16315) 3360 0.84 67 RA-270 0.7 (7.4)
4MYRSF DIMENSIONS
Model A B © D © G H J K
max. min.
3PS-12 315 106 220 171.4 102 72 39 48 M20x2.5
Model L L1 M N P Q Q i R S T
max. min. max. min.
3PS-12 6~M16 22 52 130 30 87.25 46.75 27 20.65 50 21

AUTOGRIP 22




IS B&h5) ERER

POWER INDEXING CHUCK

o THEEBETETOERE, IR SE T BETRESR,
o REANBEHIERUNNEEE, LEERR,

o RBIkERBIRERS.

o BRtEELREEERE.

o BENDERGNRBRSR, REEENENHE, TRES.

® |ndexing operates during the spindle rotation, can perform a quick change

g between multiple working axles.
& ® All parts of chuck hardened, ground and lubricated directly.
7 ® Sealed against swarf, chips and coolant.
7 ® High rigidity and high repeatability precision.
Iz ® Unique indexing system and hydraulic system, with pressure detection device in
chuck, high reliability.
J
K
L T T

B A B
% - N

ac
OE
OF
DA

I

B2 = @ ?
BLl|
B
S
IS-254~1S-315
BEF
Sumect o el canges
% SPECIFICATIONS
TR NEAE R OORE  apaEEn | R BEEEH 0 ER MR swed
— Index Angle Jaw stroke E&%ia E,\ilfn Max. pressure hax f(gliénping Max. speed M?[:g?t?;m Weight FETSTING JEINE MainBirpeindIe
Deg mm mm mm kgf/cm? kN (kgf) min? (rp.m.) | kg * m? kg mm
1S-254 4x90° 20 65 160 45 19.5(1990) 1700 0.41 41 1S-315 70 U E
1S-275 4x90° 20 80 220 45 25.4(2590) 1500 0.61 52 IS-315 70 U E
1S-315 4x90° 20 100 230 45 25.0(2550) 1200 1.13 76 1S-315 704 £
$ME R~ DIMENSIONS
Model A B B1 B2 C(H6) D E F G H J K
I1S-254 254 190 5 23 220 171.4 60 13 475 18 155 48
1S-275 275 213 5 26 220 171.4 60 13 58 20 171 48
IS-315 315 232 5 22 220 171.4 60 13 71 18.5 187 50
Model L M N N1 P Q(H?) R S(H7) T U v w
I1S-254 13 M8 20 5 40 18 M10 20 106 57 46.5 5.5
1S-275 18 M10 20 6 80 18 M10 20 125 67 57 7
I1S-315 18 M10 20 6 75 24 M12 25 125 85 70 7.5

* DERE 8x45° WIFHMARE, HEARATI XSS, *Index Angle 8x45° or Specific Angle, Please contact AUTOGRIP for more detailed information. Thanks.

23 AUTOGRIP



YT = I 5E 5 =R
INCLINED MASTER JAWS POWER CHUCK

o FLPAREEIRESHERIE, AliMA THIa AMEEEIRE,

o AHRAEMBEEBFHEITRENBRIIMR), AETARE LFER, LAl
ERREE,

® The surface of the center through cover is grinding treated, it can be the
position base surface of the jig/workpiece.

® The slideway of main jaws is inclined. It improves the clamping force and

reduces the upfloat situation of the workpiece.

Work with standard top jaws.

T (R ) -
SREERR THIME -

Airtight pressure detect function is optional.
External gripping only.

o
s
EJ)
7
x
G}

Serration Pitch Axial jaw stroke
HrEgE 15 #HoniTE

M
3~U ! S
/ N
T il 1
| i \i
n_
T T] __ | Z
Sk €]
H G
| e «
<o - — T
Q| Q| UZEV:L \H
7 L=
a
K L1 i \T 8
f | V=l
u:%g
3~L
E
B
REBFARIEDLBIER
Subject to technical changes
FT#R& SPECIFICATIONS
o N oo 742 TRFER peire = oy = — = .
1] N = =
By R s CucknoDia | BEERAAN  BANES  ESOEH 1 ER BRESE | EAGRED
Plunger Jaw stroke BR =0 Max. Clamping Moment ’
Vodel Setie (Dia.) MR, /)\Min.| Max. D.B. pull o Max. speed T Weight S — Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgf/cm?)
3N-06 20 8.1 (ﬁﬂ]l'ﬁ] 0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 111 RK-100(N) 2.6 (26)
3N-08 23 9.4 (ﬁﬂll’ﬁ] 1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245 RK-125(N) 2.2 (22)
3N-10 25 10.2 (Bm 1.1) 254 22 29 (2950) 108 (11000) 4000 0.32 345 RK-150(N) 1.8 (18)
$MUR~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K L
3N-06 165 72 140 104.8 5 54.5 345 36 34 M16x2 M10
3N-08 210 85 170 133.4 5! 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N P Q max. Q min. R max. R min. S T U
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 35 14 M6
3N-10 24 47 11 110 30 33.75 11.25 52.1 47 40 16 M8

AUTOGRIP 24



FOUR-JAW TWO MOTION TYPE POWER CHUCK

Y & IS E) e

o HIRELERIMME BBIEZ AR,

o RRERATMREMIBRATZARB T,
CRANK type with two pairs of 2 jaws self center independent of each other.
The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

SEMEMFIE Patent numbers :
&7 : PAT.NO.M359385 (Taiwan)
APE : PAT.NO.ZL200920009309.1(China)

H
Serration Pitch
G1 M BrERE 15
T T
|4 —
T e -
Hl i ‘V_\—ii
L o
G e T o
- \
SRRl
| @
s ¥ +
x/ ||
)
= S
K1 " =&
f _
1 I V=
%ﬁ—&l
L E
B
REBFRRIEDLBIER
Subject to technical changes
F#iIR& SPECIFICATIONS
By mogr e FIEEE  ammaon | BAKEH  BRSESE | BB EBENE | BRAEEES
(BEfX) Chucking Range
Plunger | Jawstroke = A =2\ Max. Clamping Moment of )
— stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
4T-08 17 13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2 RD-120(N) 1.7(17)
4T-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 0.35 44.3 RD-125(N) 2.2(22)
4T-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6 RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780) 105.3(10750) 1200 2.25 118.3 = RD-125(N) 2.7(27)
4MEIR~F DIMENSIONS
Model A B C(H6) D E G max. G min. G1 max. G1 min. H H1 J K
4T-08 210 91 170 133.4 5 32 15 2.5 -14.5 29 20 61 M14x2
4T-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-15 381 135 300 235 6 44.5 19.5 5 -20 45 28 110 M20x2.5
Model K1 L L1 M N P Q max. Q min. R max. R min. S T
4T-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T-10 M45x1.5 = 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T-12 M45x1.5 = 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

25 AUTOGRIP



BAITLE) ] IR G

PULL DOWN POWER CHUCK

SMerEn

o AIERHR TAHRERRFR#MREN, TR LT IR ES B,
o BRIMEURENAERRERRAME, WACBHMILIEHE, BERKFEERTN

close to the base surface of the chuck.

Almost no workpiece uplifting displacement.
The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

R,
[ ]
"
|

B (ERC) -

Airtight pressure detect function is optional.

Radial clamp and axial pull down at the same time, keep the workpiece attaching

< O W T
Q| 8| Q| § T
/
1~J
L 3D-04 3 bolts only
RSN 3D-05 3% iRHe
Subject to technical changes
FHIRIE SPECIFICATIONS
5 S 1772 TR e = = = — =
1) {=] e 2y =
L BOFR @ cmeemgoia | SUEANN | BATSH | RE0EN | 8 | EMOEE | BARRED
Plunger | Jawstroke = ®A | & Max. Clamping Moment '
- stroke (Dia) Ma. Min. Max. D.B. pull T Max. speed of inertia Weight Matching cyl. Max. pressure
mm mm mm mm KN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
4MEUR~F DIMENSIONS
Model A B C(H6) D E F G max. | G min. H J Kmax. | Kmin. L L1 M N P
3D-04 110 60 85 70.6 25 20 22 15 25 M10 30 23 3~M10 15 19.5 50 22
3D-05 135 70 110 82.6 30 25 24 17 28 M12 35 28 3~M10 16 245 56 23
3D-06 165 85 140 | 1048 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 1334 45 36 38 28 38 M20 56 46 6~M12 15 41 84 31
3D-10 254 110 220 1714 55 46 47 32 50 M24 65 50 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 | 345 53 M27 70 55 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. | Q min. R S T T1 U V (h7) V1 w X Y(H7) Y1 z Z1
3D-04 37 34.5 M3 25 225 - 3~M6 8 2.5 35 2 8 6 - M10
3D-05 46 43.5 M3 30 275 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 57.7 54.3 M4 35 35 20 6~M6 10 25 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 3 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 1019 965 M6 60 70 35 6~M10 20 3 90 12 17 7.5 36 M16
3D-15 135.6 | 128.3 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 26

o
s
EJ)
7
x
G}




PULL DOWN POWER CHUCK

’ 2D BRI UEN /IR ER SMeE

o DIFEEHE THMIS M REmEB AL, FTHR DI T REEEAER,
o EMIMEWERIERARREIF R A, TR LERE, RAKFEER
M AE,
® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
Almost no workpiece uplifting displacement.
The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

N RERA (k) -
M Airtight pressure detect function is optional.

o
s
)
7
S
1

K S
M T T1
S i = T
Ch |
~ 7\L ]
— z
=]
G A
E - o
)
|
<l olw| x| | _ _
[SIESIRNEN =
| S
1 I @zg,
1~J X a
L1, ——\ 8
E=——-1]
/ I \a=
.5 - _
AL B V h7
—
E z1
— i —
>_T T
<

REIRBICREIER)

Subject to technical changes

TR SPECIFICATIONS

v mopm O RS smmog mausn | meEsem 1 ER OBEST BAERED
- Pél;:ga:r Ja\Evag(;ke fajx( i:\ Max. D.B. pull has fgrli;nping Max. speed M(i’r:r:tri];()f Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379) 40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)
4MUR~T DIMENSIONS

Model A B C(H6) D E F G max. | G min. H J Kmax. = Kmin. L L1 M N P
2D-06 165 85 140 | 1048 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 | 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 | 1714 | 55 46 47 32 50 M24 65 50 M16 24 46 100 38

Model Qmax. | Qmin. R S T T1 U V (h7) Vi w X Y (H7) Y1 z 71
2D-06 57.7 54.3 M4 35 35 20 4~M6 10 25 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 3 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 7.5 32 M14

27 AUTOGRIP




RAIEI SRV E) /KR

PULL LOCK POWER CHUCK

=MEh =

o EHIEERIUE = MAZ=5EE,
o BREFNAERE.
o HEAEANFEEREVHINGS,
Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.
High radial gripping force and high accuracy.
Suitable for heavy machining.

o
s
EJ)
7
x
G}

B W
E ‘ ‘
% 3~P
© ~ ]
\ P zZ
N
<| o SO g et s TS J a
Q| Q Q E|lQl— H 9 N ﬂ
X I @
- i
S A=
%ﬁ%\ 3~X
U:%d
o 0.5
L1 : L
Gttt tonita changes B1
FAHTHEAE SPECIFICATIONS
v ok OE SRR smsxon  mkgosn | emEEB 0 BB SMEEE | BAREEN
— Psl.tlf_zaeer Ja\EvD?:c))ke ’;%ZXC ?7’[{\ Max. D.B. pull | Max. Clamping force | Max. speed 2??;2?1?; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) mint (rp.m.) | kg - m? kg MPa (kgflcm?)
3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.7 RK-100(N) 2.6(26)
3U-208 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.5 RK-125(N) 2.2(22)
3U-210 10 5 163 34 31.0(3160) 100.0(10100) 4500 0.36 435 RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0 RK-125(N) 3.1(31)
4MUR~T DIMENSIONS
Model A B Bl C(H®6) D E F Gmax. = G min. H J K L L1
3U-203 85 54.5 42 70 54 35 25 18 14 22 38 M20x1.5 3~M8 11
3U-204 110 72.5 55 85 70.6 4 30 16 10 24.5 42 M24x1.5 3~M10 12
3U-205 135 84.5 63 110 82.6 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 10 31 60 M38x1.5 3~M10 16.5
3U-208 210 137 92 170 133.4 5 52 23 11 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 171.4 5 75 25 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 171.4 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Q max. Q min. R S T U(H6) Vv W max. W min. X
3U-203 12 26 M5 75 6.5 38 15 10 32 35 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 415 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 1325 72 30 17 58 6 5 -5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3U-210 39 74 M14 20.75 18.25 107 40 17 93 6 5 -5 M8
3U-212 44 74 M14 44.25 41.75 130 40 17 114 6 5 -5 M10

AUTOGRIP 28



RAIEI SRV E) /KR =Mepan

PULL LOCK POWER CHUCK

o EHIEERITE = MAEIEE,
o ERFHREIEE.
o RHBESFEAREEETHINGS
o FAIRAERERA, I ﬁﬁmmuﬁﬁﬁuﬁ, BERERIHEENENR,
®  Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.
® High radial gripping force and high accuracy.
®  Suitable for heavy machining.
® Can work with the airtight detection device to perform axial position confirm,
suitable for the precision of large length size process.
B W S
E | ‘
I V{W
G =TT
N T T |5 >
711;J/70 T\_/
oy \—
<O o|g S
Q| Qg
H;Jﬁ
a A
@\ |
g%‘él
L1
B1
REIEEHBER

Subject to technical changes

3R+ SPECIFICATIONS

v mome (OF ERE  swexon  siowsn | EmEER 0 ER SROEE BAREES
— Pgl;:gg:r Ja\EVD?:())ke ,%Z: ﬁﬂ\ Max. D.B. pull e fgrlsgﬂping Max. speed M?::S;Of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg m? kg MPa (kgf/cm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 | RL-100, RL-A100N 2.0(20)
3U-206K 10 5 105 | 24 17.9(1830) 57.8(5900) 7000 0.055 | 14.9 | RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.8 | RL-125, RL-A125N 2.2(22)
3U-210K 10 5 163 34 31.0(3160) 100(10100) 4500 0.36 44.0 | RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 81 35.0(3570) 100(10100) 3600 0.68 63.8 | RL-125, RL-A125N 3.1(31)
$MBUR~T DIMENSIONS
Model A B B1 C(He6) D E B F1(H8) | Gmax. | Gmin. H H1 H2 J K K1 L
3U-205K | 135 845 63 110 H 826 @ 4 35 14 16 10 42 12 - 50 | M25x1.5 | 22 M10
3U-206K | 168 118 @ 80 140 | 1048 5 45 14 20 10 48 12 30 60 | M28x15 24 | MI10
3U-208K | 210 137 92 170 | 1334 5 52 16 23 11 51 15 30 80 M35x1.5 30 M12
3U-210K | 254 | 152 102 220 | 1714 5 75 16 25 15 51 15 30 105 | M38x1.5 34 | Mi16
3U-212K | 304 157 102 220 | 1714 | 5 100 16 25 15 51 15 30 135 | M45x1.5 40 M16
Model L1 M N P Qmax. | Qmin. R S] T T1 U(H6) \Y Wmax. | W min. X
3U-205K 15 20 41.5 M8 13.25 | 11.75 55 24 25 155 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 | 15.75 | 13.25 72 30 30 26.5 58 6 5) -5 M5
3U-208K 18 34 63 M12 | 16.25 | 13.25 82 35 30 325 68 6 5 -7 M6
3U-210K 23 39 74 M14 20.75 = 18.25 107 40 30 36.5 93 6 5 -5 M8
3U-212K 26 44 74 M14 4425 | 41.75 130 40 30 36.5 114 6 5 -5 M10

29 AUTOGRIP



SRR HIT\ BN /2R ER

EXPANSIBLE PULL LOCK POWER CHUCK

=Mepgn

BRARPNERE,
Pl FIBs § TS M Ae i Bl gh ) 8 i, LA B 00 SRRG S ELAE
EREREN, BEEREREMT,
Suitable for internal gripping.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
Almost no workpiece uplifting displacement.
With high precision and stability that chuck suitable for end process.

REBIRAN (R ) -
Airtight pressure detect function is optional.

3E-06~08~10

Soft jaw : typeA

3E-05

Soft jaw : typeB
RELMBE

REEMAR
3~P
g
Gl g
N\
—
—
REBFARIEDLBIER
S%ubjjt to technical l:hanges
BHIERHE SPECIFICATIONS
2=30 Ve
e | mome | TOE el mERAN)  RAMEN  BEERH 8 EMENE  BAERES
Plunger Jaw stroke = = p Max. Clamping Moment .
e diroke (Dia.) F&AMax. | &/JWMin. | Max. D.B. pull — Max. speed e Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 110 44 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 190 60 35.0(3570) | 100.0(10200) 3600 0.31 39.5 RK-150 2.8(28.5)
4MYR <) DIMENSIONS
© F G G
Model A B B1 (H6) D = (H8) TR Tifin, H J K L L1
3E-05 135 98 72 110 82.6 25 18 18 12 25 M16 M10 15
3E-06 165 112 80 140 104.8 B85 18 22 12 30 M16 M10 16
3E-08 210 135 90 170 1334 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 171.4 50 25 25 15 48 10 M24 M16 23
Model M N P peA Bigeb C - R s T u v
Qmax. = Qmin. | Qmax. = Qmin. max. min. (p.c.d) (p.c.d)
3E-05 20 25 M6 68 50 83 67 50 29 25 M6x12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6x12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49 M6x12 170 100 170
3E-10 85 40 M10 127 110 190 125 110 60 59 M8x16 210 120 210

Autocrip 30

o
s
EJ)
7
x
G}




o
%
)
7
S
1

- EEhRIBhI = T\ 5E = MiEE
’ 3wl3w C SW|NG:'IF_YPE 3-JAW POWER CHUCK

2N,
U

BiEFEM2020
TAIWAN EXCELLENCE

= TUREN RS T (BEIROE 3w)

BEEH MR EREMERETIN T,
FRESEAREEETHING S,

PRI REE B, efrE TEEMEF,

BEMSESAII A S MM RREE L RRE, LIRHA ERERS®.
= MUREN A T (B OEEL 3W-C)

IHmOMEEE2mm, ROTEHE(L,

Swing and grasp the workpiece to three jaw. (3W is automatically positioned

to the center type.)

Suitable for such materials as the casting and forging to process.

Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when maintenance.

Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

® Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

® The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble.

OIHEECERE - RBTH IR EZRMMAR - (BEM)

RARMIFER - IMERFF Ol s ST -

Carbide gripper is optional.

* The type of the carbide gripper is selected according to the work-piece conditions.

According to different processing requirements, O.D. Gripping and I.D. Gripping can be interchanged.

58 MA{ Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1 i

10 71 . 14.2 71 0. n2
] /t M§x0 8 M5x0.8 4.8 |36 M5x0.8
e || B L gt
NN sl NN =g ¥ Ui s
15977 15927 127 |
4MEF$F 0.D. Gripping PiE3EF 1.D. Gripping B/VEEEEE  Min. Gripping range
BT
. fEF2Clearance
7 U min. 3(mm)
2 | Giog B
/\r 10°
} /
—— 1 e EER
min. 7(mm)

31 AuToGRIP



SWING TYPE 3-JAW POWER CHUCK

M
N
o _I]
T8
H G J/\\’ -
5 = o i
g9 g8 4 E=TF——FFH-. B
AR | — | S @L 7
K ximin, | | \3=Y1 3
G|
F—F—11
3~L
E
L1]
B
REBFARIEEHIER
Subject to technical changes
K T#E4% SPECIFICATIONS
wy  mome OE USRS RENE SEEXAN BANEN  REESH | EE  ODREMEH | WEE
Vodel Pgltl"'_g B Ja\e/D?g?ke H:illi\:j: E:ﬁ::if Max. D.B. pull Max.fglr%gwping Max. speed M?ﬁg?{i‘;c’f Weight Matching oy Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) | kg * m? kg mm
3W-08 14.4 9.8 16~150 76~203 | 25(2550)  85.0(8670) 3700 0.12 23 RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 | 25(2550)  85.0(8670) 3700 012 | 23 RK-100(N) 2
3W-10 175 125 50~205 85~235  35.3(3600) 105.9(10800) & 2500 0.37  48.6  RK-125(N) -
3W-C10 175 | 125 50~205 85~235 | 35.3(3600) 105.9(10800) = 2500 0.37 | 48.6 RK-125(N) 2
3W-12 175 | 125 63~240 127~305 | 35.3(3600) 105.9(10800) = 2400 0.73 65 RK-125(N) -
3W-C12 175 125 63~240 127~305  35.3(3600) 105.9(10800) & 2400 0.73 65 | RK-125(N) 2
3W-15 225 | 159 76~317 165~381 | 56(5600) 168.2(16800) = 2000 1.81 = 97 | RK-150(N) -
3W-C15 225 | 159 76~317 165~381 | 56(5600) 168.2(16800) = 2000 1.81 = 97 | RK-150(N) 3
4MEIR~t DIMENSIONS
Model A B C (H7) D E F G max. G min. H J K L L1 M M1 N 7 P1 P2
3W-08 210 89 | 170 1334 5 | 34 519|375 40 | 50 M18x25| M12 19 193 56,5 527 16 | 38 | 80
3W-CO8 | 210 89 170 1334 5 | 34 | 519 375 40 50 M18x25 M12 19 193 565 527 16 38 & 80
3W-10 254 106 | 220 1714 5 | 42 675| 50 48 | 58 M24x3 | M16 24 29 | 60.5 656  17.8 | 44.4 100
3W-C10 | 254 106 220 1714 5 42 | 675 50 | 48 58 M24x3 M16 24 29 60.5 65.6 17.8 44.4 | 100
3W-12 304 106 | 220 1714 5 | 42 675| 50 48 | 58 M24x3 | M16 24 29 | 60.5 656 17.8 | 444 | 100
3W-C12 304 106 220 1714 5 42 | 675 50 | 48 58 M24x3 M16 24 29 60.5 65.6 17.8 44.4 | 100
3W-15 381 120 | 300 235 5 | 55 625| 40 46 | 80 M27x3 | M20 30 324 72 743 19 | 635 140
3W-C15 | 381 120 300 235 | 5 | 55 | 625 40 @ 46 @ 80 M27x3 M20 30 324 72 743 19 635 140
Model P3 Q R R1 s T U V(7)) VI | WH7) | Wl XH7) | X1 Y Y1 z z1 z2
3W-08 M12 = 95 269 224 60 @ 57 2 794 3 | 1268 7 34 35 46 M6 | 32 32 | M10
3W-C08 M12 95 2.69 224 60 | 57 2 794 3 | 1268 7 34 35 46 M6 | 32 32 | M10
3W-10 M12 112 | 403 226 72 70 | 25 | 127 3 | 1903 | 7 | 45 5 60 M8 36 36 MI0
3W-C10 M12 | 112 4.03 226 72 | 70 25 127 3 1903 7 | 45 5 60 M8 @ 36 36 @ MI10
3W-12 M12 1325 4.03 226 925 70 | 25 127 | 3 | 1903 7 | 45 5 60 M8 @ 36 @ 36 | MI10
3W-C12 | M12 1325 4.03 226 925 70 25 127 3 | 1903 | 7 | 45 5 60 M8 36 36 MI0
3W-15 M12 @ 172 514 283 121 80 2 127 3 | 1903 7 | 56 3 90 M8 @ 36 36 | MI10
3W-C15 M12 172 514 2.83 121 | 80 2 127 3 | 1903 7 56 3 90 M8 @ 36 @ 36 @ MI10

AUTOGRIP 32



% 23 Hl| FH 2K 58

RETRACTABLE-JAW 3-JAW SHAFT CHUCK

= MAEER

o THRUMEELIMm, FOIEHEM, = TUEENZREF T,
o AILEAREIHMIER TEITRINI, Bt RER D EEHRRE,
o EBHEEMKEETHEMI, NEFEH, FHEEMRAR.
o ERCERANTERET(3RF-D),
o ERBNEHMEIA/NAT BB /132 HI(3RF-D)o
® The workpiece compensation of eccentric is 1mm, fixed position for the center,
g swing and grasp the workpiece to three jaw.
8 ® Second machining can be performed without reversing the workpiece, thus
A \ significantly reducing setup time.
% ® With compensating jaws clamping, the Rough and precision machining can be
] carried out. With sealed design, the maintenance costs can be reduced.
Can be paired with double-rod rotary cylinder (3RF-D type).
The driver pin thrust can be controlled by the pressure of the rotary cylinder
(3RF-D type).
M
M1 S
H ¢ [F | E;ﬁi E‘
| I
=& |2
_ e o
g £ 8 I i T ]E / \"}
o =
Q k ]j
1+ J
=
{ 1 €
: i
L1 E
e ] \
2~M10x18dp
3RF FEFAERA APPLICATION NOTES
- M LITHIFER
M1 HHE MR, THER OB R Sl
RS, BB IR E R IR IR
H 1.Clamping diameter machining
i 7!_!% Th ting j
c [F | B retracta, The workpiecs i
elauieiias H ‘ & TJ = clamped between chuck center Face driver
Teieence syle | © . %, o and tailstock center. Additionally, o
s . it is driven by the face driver.
N \ ﬁ -
< £ Mk §I g /J : I @ 248
SR — | 7@7 : BB MRTETENT.
K *70 +30)| |TR R1 2.Rough machining
g} d K3 f—l__l" J EEENRY With compensating jaws

2~M10x18dp
3RF-D

SRR Z T EBRRRIEZ R, AR ED.
Note: The dimensions marked [*] are the dimensions of the inside Draw Bar ,
Please don't change it.

1RBHRMEIEAIHER Subject to technical changes

TR SPECIFICATIONS

Driver pin

clamping, the rough machining
can be carried out.

Face driver

3.EmMIT
HREMNGEE, THEP LR REE
TE#H RS 18, 3 E B iR AR ST AN T
> AT I TR BRI, M AT B RO E
HER,

3.Finish machining

Additionally, it is driven by the

face driver. The entire workpiece

=M
Soft Jaw

S
Face driver

can be machined with precise
concentricity.

mg mome OE REEE  amesogn | mxsn | emoEm | 8 EROEE RBEE
Plunger | Jaw stroke B =2\ Max. clamping Moment of ’ )
- T (Dia.) Max. Min. Max. D.B. pull o Max. speed T Weight Matching cyl. Compensation
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg mm
3RF-08 435 9.4 70 18 39.2(4000) 39.2 (4000) 4000 0.15 30 RS-1250 1
3RF-08D 43.5 9.4 70 18 39.2(4000) 39.2 (4000) 4000 0.15 30 RDL-130S 1
4MYR~F DIMENSIONS

Model A B C (H6) D E F  Gmax. Gmin. H J K K1(H7) | K2 @ K3 L L1
3RF-08 210 155 170 133.4 5 68 123 79.5 37 58 | M20x2.5 - - - 3~M12 18
3RF-08D 210 155 170 133.4 5 68 98 54.5 50 58 | M36x1.5 40.5 6 | 24| 3~M12 18

Model M M1 N P Q R R1 max. R1 min. S T(H7) U V V1 W X
3RF-08 62 58 78 2.35 62 - - 40 12 28 16 3 7 M12
3RF-08D 62 58 78 2.35 62 255 7 0 40 12 28 16 3 7 M12

33 AUTOGRIP




REBNR(E R = T\ 2kER

SWING COMPENSATING TYPE 3-JAW POWER CHUCK

= MAER

THROREE2mm, ROTEHE L, = TUREN T

BB HE, BN, £RETIEEMER,

BREMEES Y US STMUARIEE NV RAE, URAERERS®,

® The workpieces compensation of eccentric is 2 mm, fixed position for the
center thimble, swing and grasp the workpiece to three jaw.

® Special seal proof for dust and cutting fluid, it is more convenient when
maintenance.

®  Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

o
s
EJ)
7
x
G}

M
G M1
L A
‘ T o
HL__ H = =m
L (04
H | : /\f l/
[a) o Se—
é 8 Q I | ©
-
KW I S
g L1
A 1/ ﬁ - R lls
il 3R-08 fg3xgie
E 3R-10 Only 3 bolts
L B
REBFARIEDLBIER
Subject to technical changes
BHTHR% SPECIFICATIONS
p— =
By gogm | MR KBER  umran | BAKEH | REEIRE | BB EREMED RHE
(B Chucking Dia.
Plunger Jaw #mke BA E,IJ\ Max. D.B. pull Max. clamping Max. speed Mémer?t of Weight Compensation
Model stroke (Dia.) Max. Min. force inertia Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
3R-12 25 10.2 110 22 39.4(4000) 88.4(9010) 2000 0.75 72 RK-150N 2
4MYR~F DIMENSIONS
Model A B C (H6) D E F G max. G min. H H1 J K L L1
3R-08 210 105 170 133.4 5 57 26 6 425 36 10.4 | M20x2.5 | 3~M12 20
3R-10 254 115 220 171.4 65 64 36.5 11.5 5 39 15 M20x2.5 | 3~M16 22.5
3R-12 304 130 220 171.4 5 70 25 0 33 45.5 15 M24x3 3~M16 22
Model M M1 N P Qmax. = Qmin. R S T (H7) U Y V1 w wi X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 8 40 7 M14
3R-12 51 24 125 25 102.5 97.5 10 11.3 17 36 20 3 50 7 M16

AUTOGRIP 34



=MepER

REIEH E) 1K

FINGER POWER CHUCK

o IRIMFuRMEZESS, Bk THR:FER, BEEE THMT,
o IRIFFENE, I RIFARAIKEZ T
®  Gripping at the end face and preventing deformation of workpiece.
®  Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular surface
workpieces well.
L5 R
5t = EERA (ER) -
5] W Airtight pressure detect function is optional.
|
x
L]
Clamping stroke Rotating Stroke
8HFFITRE 12:88 T’ Rotati
otating Angle
G M ‘ 6p- BHAE
‘ 3-P 56
| P
M O 7 g for 05”,06”
[— 4
e §|
5 Jaw isg tion
12 30 || | B 71¥ _EMCER) ]
~ | —
I = . —
8 g EL,I . —— 8|8
Z K J‘—TA ‘
3 L
S 1 %,
3~L
B
10 5
d 3
s P {8
L =B (O 8L
34
ESR N L= 2 |
REIEIEELBINER) for 05”,06" for 08”,10”,12"
Subject to technical changes - -
R T#E4% SPECIFICATIONS
By EEEE | N R COUEE  smpiog)  BAKESH  BECER |0 BE  ERUEH  BABPEH
712 = Chucking Dia. i o . = ks
Rotating | Claming Jaw's =R | &I Max. Clamping Moment of )
Model stroke stroke | compensation | Max. Min. Vv B ful force v st inertia W Matching cyl. ERS, (HESENS
mm mm mm mm mm kN (kgf) KN (kgf) min?t (rp.m.) | kg *m? kg MPa (kgflcm?)
RK-100 OR
3J-05 12 8 2 53 25 7.5(765) 6.0(612) 4000 002 | 110 RK-100(N) 1.0(10)
RK-100 OR
3J-06 12 8 2 79 55 9.0(918) 7.5(765) 4000 0.04 | 12.0 RK-100(N) 1.2(12)
RK-100 OR
3J-08 12 8 2 106 | 75 | 18.0(1835) @ 16.5(1680) 3500 0.13 230 RK-100(N) 2.5(25)
RK-100 OR
3J-10 12 8 25 150 119 | 18.0(1835) | 16.5(1680) 3500 0.30 33.0 RK-100(N) 2.5(25)
RK-100 OR
3J-12 12 8 25 200 169 | 18.0(1835) @ 16.5(1680) 3000 0.56 44.0 RK-100(N) 2.5(25)
4MEUR~F DIMENSIONS
Model A B © D F G max. G min. J J1 K
3J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
3J-06 165 86 140 104.8 45 75 55 28 12 M16x2
3J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
3J-10 254 95 220 171.4 56 75 b5 38 16 M20x2.5
3J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
3J-05 M10 15 56 36 20 M10 42.5 27 3~M6 50 -
3J-06 M10 15 56 36 20 M10 57.5 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

35 AuToGRIP




REIEH E) 1K

FINGER POWER CHUCK

ZMhER

o ERIMFIRENRES, Bk THREFEN, BEFETHMI.

o IREFHEMIE, IR RAIRE 2 T
Gripping at the end face and preventing deformation of workpiece.
Suitable for thin wall workpiece processing.
The gripping compensating mechanism can grasp the irregular surface
workpieces well.

N REEA (ER) -

W Airtight pressure detect function is optional.

DA

LS
%
#
7
xR
L]
Rotating Angle -
—6p- WEAE
56
R for 05”,06"
N

Clamping stroke Rotating Stroke
8T 12;08 712
G M
N 2~P
! ©
=
Ty
Ty
Jaw is option S
. } EJNE 1)
N
I
ol
Q
K
¢

N2
B

[32]
3 5/ & % — ©
o
o wn N
s 8 ﬂ A -
<
et | =2 |
gﬁ:fﬁiafhﬂgﬁﬂhanges for 05”,06" for 08”,10",12"
AT SPECIFICATIONS
prcd
TR EEGR JOHTR  ERE s BRRKAN  RAKEN  BEEEH 1 ER OERENS  RAGEES
Rotating | Claming Jaw's ®A | = Max. Clamping Moment of )
Model stroke stroke | compensation | Max. | Min. Sy DL oMl force Wi, epesd inertia et Matching cyl. JLERS [IESENE
mm mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgflcm?)
RK-100 OR
23-05 12 8 2 53 25 5.0(510) 4.0(408) 4000 0.015 9.0 RK-100(N) 0.7(7)
RK-100 OR
2J-06 12 8 2 79 55 6.0(612) 5.0(510) 4000 0.035 9.8 RK-100(N) 0.8(8)
RK-100 OR
23-08 12 8 2 106 75 12.0(1224) 11.0(1122) 3500 0.12 20.3 RK-100(N) 1.7(17)
RK-100 OR
2J-10 12 8 25 150 | 119 @ 12.0(1224) 11.0(1122) 3500 0.28 30.7 RK-100(N) 1.7(17)
RK-100 OR
23-12 12 8 25 200 | 169 | 12.0(1224) 11.0(1122) 3000 0.52 41.2 RK-100(N) 1.7(17)
4MYR~F DIMENSIONS
Model A B © D F G max. G min. J Ji K
2J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 75 55 28 12 M16x2
2J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
2J-12 304 95 220 1714 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
23-05 M10 15 56 36 20 M10 42.5 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 57.5 40 4~M8 64 30°
2J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 50 °
2J-10 M16 24 71 5l 25 M12 99.5 783 6~M8 140 50 °
2J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 50 °

AUTOGRIP 36



=Mepzm

AFLER=RENKEE (—)

LARGE THRU-HOLE AIR CHUCK

BABFLIERETEE, NEREBIL @&8EMNL.

HHERES, RERER 5, BESIIRTHIRIBIERE, THE RERMEE
[57%:98

Large through-hole 3-jaw power chuck with build in air cylinder.

Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

= EFEMRFIE Patent numbers :
{8 : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
B 7 : 3169457 / 3178706 (Japan) / BX2E : EP 2517822 B1 (EU)
ABE : ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)
B : M440159 / M415011 (Taiwan) / 3 : US8770222
B2 (U.S.A.)/ &AF] : 0000278076(Italy)

(=Rt

2~RC1/8" ‘ £0.5 2~TH3/8"
UI Position for fix /;crew
R ZRE BB HUE
4~26.5 .
pE= } }‘: . : i
N N {
L Serration PItC}‘J Y
O HEEBE 1.5%60 \ i
\Wuﬁ %»i 5 \\\
42.5 I;] M _ Air supply device \\\ )
p= K HEHE VAN FF -
he K ~-ICLOSE OPEN -
525 . 4 T B
5 e ;L; —
B _ o
i | -
& n | =
S 3
Q s £
o
Q ﬁ,
_H
L
L1 B
REIRBICREIER)
Subject to technical ‘changes AP-A
FHiIR& SPECIFICATIONS
Je B 7| f /=70 21w TFER = = R, = SRHFER
Hlge B TITRRER) Chucking Dia, BAEREH RAKIEH Be s | B2 (EFREE okgficm?)
— Thru-hole Dia. Ja\EVD?:())ke ﬁaj: ﬁlﬂ\ Max. pressure Max.fg:(a:;npmg Max. speed M?::g;m Weight Air Consumption
mm mm mm mm MPa (kgflcm?) kN (kgf) min* (r.p.m.) kg * m? kg lit (at 6kgf/cm?)
AP-52 A6 52 5.9 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 30 3.1
AP-66 A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 0.4 38 45 5.1
AP-86 A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 | A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 112 12
4MYRSF DIMENSIONS
Model A B C D D1 E El F H J K L
AP-52 | A6 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 | A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 | A8 315 142 169 220 295 139.72 6.5 27 86 215 67 268 2 6~M10
AP-115 A8 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. S T U \Y
AP-52 | A6 15 18 37 73 20 21.2 9.2 38 35.1 31 12 145.5 6~M12
AP-66 | A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 6~M12
AP-86 | A8 16 24 43 110 30 322 12.7 62.2 57.8 40 16 184.5 6~M16
AP-115 | A8 16 24 51 130 30 44.7 14.7 e 71.7 50 21 212 6~M16

= 4T B EEA AP-A Bl 2 <T5% (The dimensions and the specifications of AP-A type are in red data.)

37 AUTOGRIP




’ AP KRAR PRI () = e

LARGE THRU-HOLE AIR CHUCK

2N ) - o BABIEREEE, NEAE, BABHMNT,

W e, o SRTEANEE"EHIRI S, SR seTE P HE R, BARIRER 2. (EA R
LR 2018 ¢ (X s
TAIWAN EXCELLENCE

o HIFRAM, RERER S, BELIRTHIRIBIERE, AIEE RENEBRE,
e  Large through-hole 3-jaw power chuck with build in air cylinder.

U e With build-in "pressure detection" device in chuck which can check the pressure is lowered
rapidly within the chuck, guarantee to the security of operating.(only for O.D. gripping)
= 0. e Patented air supply system, it is easy to install and maintain. No abrasion issue of traditional

sealed ring. Maintenance cost and time can be saved.

FHRERZFIE Patent numbers :
&[] : 20.2011.101.818.4 /20.2012.102.498.5(Germany) /
H7s : 3169457 / 3178706 (Japan) / EXE3 : EP 2517822 B1 (EU) / K : ZL 2011 2
0141324.9 / ZL 2012 2 0274549.6 (China) / &7 : M440159 / M415011 (Taiwan) /
%[ : US8770222 B2 (U.S.A.) / &AF : 0000278076(ltaly)

o
s
EJ)
7
x
G}

Position for fix screw
REE BB

2~RC1/8" 4~ 065

2~TH5/8"

pressure detection
(0.d clamping only)
EHBARBARING

M  Serration Pitch
[~ HEagE 3.0x60°
Kl
4
U.I;‘ L /
N A Air supply device
Y [ [ = N\ ki
] T =z u
Mi
T
~ R
g E g
[§)
a E
al »
ﬂT\E Q| ®
L1 E1 ‘
B L1 H
RO L
Subject to technical changes AP-A B
BHIERHE SPECIFICATIONS
2 =7 1 712 TEFER = = [ = TRHFE
1) =
g ELE B9 | ChukmgDia, | BAEREN  BANSH | BEEEM 8 (BB dhgfiom?)
- Thru-hole Dia. Ja?/D?z'.(;ke ljllliajx( &/)\Win..  Max. pressure Max.f(g:izpmg Max. speed M?rzgi?;m Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min? (rp.m.) | kg * m? kg lit(at 6kgf/cm?)
AP-145 | A11 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 | 182 17.8
AP-185 | A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 | 223 22
AP-230 | A15 230 17 535 170 0.6(6.1) 150(15290) 1300 111 265 | 310 34
AP-275 | A20 275 17 580 200 0.6(6.1) 160(16310) 1100 15.5 301 | 346 39
AP-320 | A20 320 17 658 200 0.6(6.1) 180(18348) 1000 27.2 415 | 505 45
AP-375 | A20 375 24 738 260 0.6(6.1) 210(21406) 900 44.2 530 @ 545 55
4MYRSF DIMENSIONS
Model A B C D D1 E E1l F G H J K L L1
AP-145 | A11 = 400 198 231 300 365 196.87| 8 33 145 34 120 420 35 9~M12 20 31
AP-185 | A15 | 460 198 238 300 405 |285.78| 8 40 185 44 120 460 315) 9~M12 20 85
AP-230 | A15 515 226 266 380 483 28578 8 40 230 49 145 535 3.5 6~M16 24 35
AP-275 | A20 | 560 232 272 380 528 41278 8 40 275 52 152 580 35 6~M16 24 35
AP-320 A20 615 256 306 520 580 |412.78 8 50 320 55 116.5 658 35 9~M16 25 33
AP-375 | A20 | 690 272 322 520 650 41278 8 50 375 55 127 738 3.5 9~M16 28 33
Model L2 M N P Qmax. | Qmin. A Rmax. | R min. $ T U Y W X Y
AP-145 | A11 | 6~M20 63.7 165 43 53.5 23.5 98 91 62 25.5 57 ° 242 0° 38 20
AP-185 | A15 | 6~M24 63.7 165 43 53.5 235 118 111 62 255 58° 272 7° 38 20
AP-230 | A15 | 6~M24 71.7 180 60 48.5 18.5 145 136.5 64 25.5 30° 300 7° 33 15
AP-275 | A20| 6~M24 71.7 180 60 48.5 18.5 167.5 159 64 255 30° 322 7° 30 12
AP-320 | A20 6~M24 815 210 60 60.5 245 190 181.5 74 30 52° 350 7° 27 9
AP-375 | A20| 6~M24 815 210 60 66.5 245 2235 | 2115 74 30 52° 387 7° 27 9

* 4T EIEE AP-A BLZ T 3% (The dimensions and the specifications of AP-A type are in red data.)
AuTOGRIP 38



SMepzm

AFLERERBKE ( —ERITIE)

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

i ArPs

o BREFEREKE, NEREIL BEEMIMNT,

o REANEE"BIEH"EE, BEIRAIKENERE B, RARIRERE,

o FHIIRAM REWNER S, BEELIREHIRIEHRNE, &4
REERMEIB R,

o REANEE"IREHER S, ARl R R TN RER B ITIEP I TH, EMEEN
SRR THRIMFTR st 2 8 (RBRARIMERE)

o  WMETITIE, A IFFT R E R,
Large through-hole 3-jaw power chuck with build in air cylinder.
With build-in"pressure detection"device which can check the rapidly decreasing pressure
within the chuck, guarantee to the security when operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

®  The build-in "clamping detection” device can avoid jaws clamping the workpiece during the rapid
stroke stage. This mechanism can also prevent causing the damage of the internal parts or
flying out of workpiece.(only for O.D. gripping)

®  Extended jaw stroke design can shorten the processing time when gripping.
AR RRITEBRRBIRHEHN ZKFS -
Notice:No clamping in rapid stroke period.

o
s
)
7
S
1

Position for fix screw
X G ZEEERAIIE
‘ 4~6.5
|
D
S TR \ SRR
T Lege Serration Pitch Q g -
gl M S LS o071
- / 2, P /
T Y | t K- ¥ 4 '%?:{'7'\ !
— 1 .;:;7\$\" A
L /RE N Air supply device
ﬁ al ..‘("?S‘ i
B —‘ - S 2 <
1 o)
o @@ AN
~ @
<t I [T
Q o Q| |
Q E [a) ’ ®
Q
@ O @@ g
S I .
* &
c T ©
‘—[—’—LJ;
L L1 —
Rapid stroke
BIRITE
B (_ll_agpjggéroke
5T
T AT
RIETE iei:d
_ |
|
—
REBIRIEIENAIHEF] Subject to technical changes
BHIERHE SPECIFICATIONS
= S MmiT#2 KFFEHE = e = TROHFEE
] =
B B (B) Chucking Dia. BAKSN BECHH : 28 (EFAE2 77 6kgflcm?)
. Jaw stroke = = . . Moment of ; ) .
— Thru-hole Dia. (Dia) A Max. | &/J\WMin. Max. Clamping force Max. speed e Weight Air Consumption
mm mm mm mm kN (kgf) min?(r.p.m.) kg ¢ m? kg lit(at 6kgf/cm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
4MEIR~F DIMENSIONS
Model A B © D £ F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U Vv w X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

39 AuTOGRIP




EESSE e

COLLET CHUCK
o FitEE M EZEIEE,
o EACNCERK, ZAHK, UEMAEE N,
o SRE, sEEKSMIMAERE,
o 2MEPKERET, BALETIHIZKEN EEBFLE
® PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
®  High clamping accuracy, high speed and high rigidity.
®  Sealed against swarf, chips and coolant.
n BEEBM AR S DIN 6343 A1 -
M The collet used must accord with DIN 6343.
B ERERFI Patent numbers :
B 7% : PAT.NO.M380842(Taiwan)
ARPEE : PAT.NO.ZL.201020113762.X(China)
L1
E
L Lock Screw
| HHEENE
— &3 - f
S |
_—
<lololx|l=! | Il +——HhKIL  Tulg
SIRSIRSERSYES! @ﬁ 8| §
LH —
o TR |
BRI ERRA EL
Subject to technical changes B
Fi i #3218 SPECIFICATIONS
ER BRI HE e = o = e BEAER
| g 28 =3 = = o
il poisy Max. Chucking Capacity BHEBAAN | BAKFN | EESEEH I L ISP R EE B
Plunger = [E# NEM VL] Max. clamping Moment ) .
Model stroke | Round | Hexagom | Square Max. D.B. pull force v giEst of inertia Weight Match|r|1|g e Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) = kg-m? kg CocL MPa (kgflcm?)
CL-26 4.5 3~26 4~22 4~18 | 17.6(1800) | 37.9(3870) 8000 0.040 4.3 161E TK-A533 2.4(24)
CL-30 4.5 3~30 4~26 4~20 = 19.6(2000) | 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 22.5(2300) | 48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42 6~36 6~29 | 24.5(2500) | 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 8~45 7~36 | 27.4(2800) | 59.0(6020) 6000 0.101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.098 141 185E TS-866 1.8(18)
CL-6022 6 5~60 8~52 7~42 | 29.4(3000) & 63.7(6500) 5000 0.126 @ 16.3 185E TS-866 1.8(18)
CL-80 6 20~80 = 18~69 @ 15~56 = 34.3(3500) & 71.5(7300) 4000 0.108 @ 17.8 193E TK-A1287 1.6(16)
9NEIR~F DIMENSIONS
Model A Al B C(H6) D E El | Fmax. | Fmin. | G max. | G min H J K max. L L1 M
CL-26 120 85 100 110 82.6 4 23 26 3 7 25 15 12 M40x1.5 | 3~M10x25 16 4
CL-30 120 85 100 110 82.6 4 | 23 30 3 7 2.5 15 12 M40x1.5 3~M10x25 16 4
CL-36 155 100 120 140 1048 | 5 23 36 3 7 1 17.5 20 M55x2 3~M10x25 18 4
CL-42 155 100 120 140 | 1048 5 | 23 42 3 7 1 17.5 20 M55x2 3~M10x25 18 4
CL-52 185 130 1455 170 | 1334 5 @ 27 52 5 9 3 24 30 M60x2 6~M12x30 20 5
CL-6017 185 130 1455 170 1334 | 5 | 27 60 5! 9 8 24 45 M75x2 6~M12x30 20 5|
CL-6022 234 130 142 220 1714 5 32 60 5 13 7 24 45 M85x2 6~M16x30 20 5
CL-80 234 156 163 220 1714 | 5 32 80 20 15.5 9.5 22 45 M100x2 6~M16x30 20 5!

AUTOGRIP 40



_ EESSE e
’ CI' A COLLET CHUCK

AT 1 T R 3R AR

BECNCERK, ZH, SUEtAeHI# N,

ERE, aEERE ISR,

SmEKRE FLETIEICENE BB LER.

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

N BECEMEIRBERTS DIN 6343 #3E -
M The collet used must accord with DIN 6343.

B ERERFSE Patent numbers :
£ : PAT.NO.M380842(Taiwan)
APBE : PAT.NO.ZL201020113762.X(China)

L1 E

Lock Screw
HH[E IR 18

~
~
W
]‘344
H

DAL

DA
@D
D1
K

|

IREBRBIB LT B
Subject to technical changes
$1ii#1% SPECIFICATIONS

w5 P e gj{iﬁ BANGEN | REEAM 1 EE | @REx | om@esd | SRR

mm mm mm mm KN (kgf) KN (kgfy  min®(rpm) kgm? | kg collet MPa (kgficm?)

CL26 A4 45 | 3-26 4-22 | 4-18 17.6(1800) 37.9(3870) = 8000  0.040 @ 42 161E TK-A533 | 2.4(24)
CL-30 A4 45 | 3-30 4-26  4~20 19.6(2000) 42.1(4300) = 8000  0.038 = 4.1 163E TK-A533 | 2.7(27)
CL36 A5 6 | 3-36 6-32  6-26 225(2300) 48.5(4950) =~ 6000  0.058 6.3 171E TK-C643 | 2.3(23)
CL42 A5 6 | 3-42 6-36  6-29 245(2500) 52.9(5400) = 6000  0.057 @ 6.1 173E TK-C643 | 2.5(25)
CL-42 A6 6 | 3-42 6~36 629 24.5(2500) 52.9(5400) = 6000  0.061 7.5 173E TK-C643 | 2.5(25)
CL52 A6 6 | 5-52 8-45 | 7-36 27.4(2800) | 59.0(6020) = 6000  0.093 13.8 177E TK-A853 |  2.0(20)
CL60 A6 6 | 5-60 8-52 | 7-42 29.4(3000) | 63.7(6500) = 5000  0.091 135 185E TS-866 1.8(18)
CL-60 A8 6 | 5-60 8-52 | 7~42 29.4(3000) | 63.7(6500) = 5000  0.104 145 185E TS-866 1.8(18)
CL80 A8 6 | 20-80 18-69 | 15-56 34.3(3500) | 71.5(7300) = 4000  0.120 19.8 193E | TK-A1287 |  1.6(16)

SNEYR < DIMENSIONS

Model A Al B D D1 E Fmax. | Fmin. = Gmax. Gmin. H J K max. L L1 M
CL-26 A4 110 85 108 | 82.6 | 6351 25 26 3 9.5 5 15 12 | M40x1.5 | 3~M10x30 @15 4
CL-30 A4 110 85 108 | 82.6 @ 63.51 25 30 3 9.5 5 15 12 | M40x1.5 @ 3~M10x30 15 4
CL-36 A5 135 | 100 130 1048 8256 & 27 36 3 14 8 175 20 M55x2 | 4~M10x30 | 14 4
CL-42 A5 135 | 100 130 104.8 8256 @27 42 3 14 8 175 | 20 M55x2 | 4~M10x30 14 4
CL-42 A6 165 | 100 130  133.4 | 106.38 32 42 3 15 9 175 | 20 M60x2 | 4~M12x35 @ 16 4
CL-52 A6 170 130 | 154 | 1334 106.38 27 52 5 10.5 4.5 24 | 45 M60x2 = 4~M12x35 | 20 5
CL-60 A6 170 | 130 154 133.4 | 106.38 27 60 5 10.5 45 24 | 45 M75x2 | 4~M12x35 = 20 5
CL-60 A8 210 | 130 1475 1714 | 139.72 35 60 5 815 S22 24 | 45 M85x2 | 4~M16x40 = 22 5
CL-80 A8 210 | 156 | 175 1714 139.72 35 80 20 7.5 15 22 | 45 | M100x2 | 6~M16x40 @ 22 5

4] AUTOGRIP



STEEL COLLET

oD1
oD

|

)

—

. — 15’

DIN 6343 Collet standard

ERFREE
TREBIRBIEHIER
Subject to technical changes
SMEIR <} DIMENSIONS
BAREHES e TR
SBME R Max. Chucking Capacity (mm) BEREIIR
e d D D1 L
Collet B& NEM A )
Matching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
163E 3~30 4~26 4~20 35 48 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
173E 3~42 6~36 6~29 48 60 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
185E 5~60 8~52 7~42 66 84 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
AI#ED(S,H) ADIN
L mm
Test Bar D(S,H) Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~1.6 6 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 :l:{\—
10.0~18.0 40 0.020 0.030 A/‘;\_J
18.0~24.0 50 0.020 0.030 ; ;
24.0~30.0 60 0.020 0.030 .
I
30.0~50.0 80 0.030 0.040 %)
50.0~60.0 100 0.030 0.040 o

i —RAER KEES DIN Z4R
Note: Collets chuck are conformed to DIN 6343 Class2.

AUTOGRIP 49



B

BT E PR A

DRAW BACK COLLET CHUCK

o BEACNCE - BEFH - stEMEHEN - FEMSLOESMIA -

o BRI BEMmAFHEMEMBNE - BEAE -

o SEE SEERSHIMES -

o  ZEMBIKEE - BHLETIHIAGEA ESBEAE -

® |deal for CNC lathes, specialized machines, and turning equipment for bar
stock or shaft machining.

® Draw-back clamping with radial clamping and axial fine-tuning torque,
featuring through-hole.

® Offers high precision, speed, and rigidity.

® Features a comprehensive waterproof design to prevent cutting fluid from
entering the spindle through-hole.

B ) ERELGBEARERBIHAOAL -
K max EREFBIEOEREZT 7 HARE  akERFEKTH -

= Jis the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

CB- &R A .
CB type Clamping method onmnf -
77739,:* B
BE L
Radial clamping
~— ] % Y] —
EE 388 &3l Ty 8 8
L
G L
: 7
35%359}, If#[‘ﬁ%f%ﬁ?é#ﬁ?ﬁﬂﬁ?%{ﬁ%c E1 (N
During clamping, the workpiece
shifts slightly backward along with M
the collet.
B
REAVEEURRR B
Subject to technical changes CB—A CB
AR 1E& SPECIFICATIONS
m | EmAE |, SASEET o BERAAN  RAKEN  REERE ER | GREK | BPERT | RAERE.
Model Psl’tl:ZE:r ijd H;;Tg?m Sﬁl?re M Bl Max.fglrig‘lplng Max. speed | Weight | Matching steel Matching Cyl. %6 (TN
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg Coller MPa (kgflcm?)
CB-42 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 15 RG-65 TS-866 3.0(30)
CB-65 A6 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 13.6 RG-65 TS-866 3.0(30)
CB-65 A8 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 17.6 RG-65 TS-866 3.0(30)
CB-80 4.5 5~80 8~68 8~56 | 50.0(5100) 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 ‘ A8 4.5 5~80 8~68 8~56 | 50.0(5100) 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
4N R ~F DIMENSIONS
Model A Al A2 B C(H6) D D1 E El F Gmax. | Gmin.| H J K max. L L1 M N
CB-42 150 | 125 102 81.5 | 140 104.8 - 5] 31 | 43 | 105 6 17,5/ 30  M55x2  3~M10x25 11 | 60 @ 4~M8
CB-42 A5 | 140 125 102 915 - 104.8 8256 - |415| 43 | 255 21 175 30  M55x2  4~M10x25 12 | 70 | 4~M8
CB-42 A6 165 | 125 102 915 - 133.4 106.38 - | 45 | 43 29 | 245 175 30  M55x2 | 4~M12x35 18 | 73.5 4~M8
CB-52 150 | 125 102 83.5 | 140 104.8 - 5 315 53 11 6.5 175 30 M60x2  4~M10x25 16 62.5 4~M8
CB-5217 180 125 102 87 | 170 1334 - 5| 35 | 53 | 145 10 17.5) 30 | M60x2 | 4~M12x30 | 18 | 66 | 4~M8
CB-52 A5 | 140 125 102 935 - 104.8 8256 - | 415]| 53 26 | 215 17,5 30 M60x2  4~M10x30 16 72.5 4~M8
CB-52 A6 165 | 125 102 @ 99 - 1334 106.38 - | 47 | 53 | 315 27 175 30  M60x2  6~M12x35 18 78 | 4~M8
CB-65 185 145 120 100 § 170 1334 - 6 50 | 66 | 135 9 215 32 M75x2 6~M12x40 20  73.5 4~M8
CB-65 A6 165 145 120 111 - 133.4 106.38 61 | 66 | 305 26 215 32| M75x2 | 4~M12x40 20 |84.5 4~M8
CB-65 A8 207 145 120 107 - 1714 139.72 - | 57 | 66 | 26,5 22 215 32 M75x2 4~M16x40 24 80.5| 4~M8
CB-80 235 | 175 | 150 112 | 220 171.4 - 5| 37 /825 135 8 25 | 45 M85x2 | 6~M16x30 | 22 87 | 6~M10
CB-80 \A8 210 | 175 | 150 | 125 - 171.4 139.72 50 825|265 | 21 25 | 45  M85x2 | 6~M16x50 | 24 100  6~M10

43 AUTOGRIP



BHEMU

BAIE N TR B 2285 R

END STOP COLLET CHUCK

BREMRS  REEREEE  BEnisEuouENE - JiBgEEl
THANRE - FREBELEHISEMEZE -
ERFENNEBENRZEFETHRESHELHFER -
ERIREER O D REEFER - EREBINEE T LIFRE -

The pull-back positioning clamping, combined with the workpiece stop block
mechanism, features radial clamping and axial fine-tuning torque, enabling
precise positioning of the workpiece feeding length for enhanced length
accuracy control.

The blocking block and dust cover can be swapped for versatile use and chip
protection.

J ERBEEREARERET SR -

K max EREFBIIEEREF 7 & ARE - alikE
J is the hole diameter of blank draw nut.

K'is the maximum thread specification and it could be customize.

AJ CBE/CBE-A

5% =

RFBKET R -

CBE-MRsIE A Block Block
CBE-type Clamping method “9- ;I\{Ié;’IT:ZiBlock set E M;’I::ZiBlock set
MI12EHR B2 EAL ﬁ Glz%%ﬂﬁﬁéﬁ%h
B rraod %
Radial clamping \ 1
Y s vepeenen |
| 3 H J" | = % ]
s 8| 8| £| &) 118 3 s g8k 8
ELETERHEME, KB, THAgER U — +r
(i1, REGHLHFIRR,
/ o
:;T'IiFl)‘tat;::ékwearddul:ingclamping, M L1 E1 | AR  REMRE
e o the surfare. et seuf I ST I\ | S,
B
REBRIBELRIER
Subject to technical changes CBE_A CBE
$ i #5315 SPECIFICATIONS
ik EETE | o i) | BREAAN | RAKEN | REESE  EE | @AEK | ARERE | RARBED
vt W B o SAbe MexDBpul | MZEET o speed | Weigh Mahing ool yygingcyl | MO PESSe
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg MPa (kgflcm?)
CBE-42 45 | 4~42  7-36  7~30 @ 34.3(3500) | 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 45 | 4~42 7~36 7~30 @ 34.3(3500) | 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 45 | 4~42  7-36  7~30 @ 34.3(3500) | 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 45 | 4~42 7~36 7~30 @ 34.3(3500) | 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-52 45 | 4~52  7-36  7~30 @ 39.2(4000) | 92.1(9400) 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 45 | 4~52 7-36  7~30 @ 39.2(4000) | 92.1(9400) 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 45 | 4~52  7~36  7~30 @ 39.2(4000) | 92.1(9400) 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 A5 45 | 4~52  7-36  7~30 @ 39.2(4000) | 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CBE-52 A6 45 | 4~52  7~36  7~30 @ 39.2(4000) | 92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 45 | 4~65 8~56 | 8~46 @ 44.1(4500) = 103(10500) 6000 8.6 RG-65 TS-866 3.0(30)
CBE-6514 45 | 4~65 8~56 | 8~46 & 44.1(4500) = 103(10500) 6000 9.3 RG-65 TS-866 3.0(30)
CBE-65 A5 45 | 4~65 8~56 | 8~46 = 44.1(4500) = 103(10500) 6000 10.8 RG-65 TS-866 3.0(30)
CBE-65 A6 45 | 4~65 8~56 | 8~46 & 44.1(4500) = 103(10500) 6000 95 RG-65 TS-866 3.0(30)
CBE-65 A8 45 | 4~65 8~56 | 8~46 @ 44.1(4500) = 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
SNEYR S DIMENSIONS
Model A Al A2 B C (H6) D D1 E E1l F G max. G min. H J K max. L L1 M
CBE-42 150 | 132 | 100 95 @ 140 104.8 - 5 20| 48 | 55 1 17 | 45 | M55x2 | 4~M10x25 19.5 58
CBE-4212 132 | 132 | 100 | 95 | 120 100 - 5 - |48 | 55 1 17 | 45  M55x2 | 4~M10x25 19.5 58
CBE-42 A5 | 132 132 100 105 - 1048|8256 - - 48 | 205 16 17 45 M55x2 4~M10x30 16 @ 68
CBE-42 A6 | 160 132 100 105 - 133410638 - 35 48 | 205 16 17 45 M55x2 4~M12x35 18 @ 68
CBE-52 150 | 140 | 107 99 @ 140 1048 - 5 - | 52|55 1 17 | 56 | M60x2 | 4~M10x20 14.5 60
CBE-5212 140 | 140 | 107 | 99 | 120 100 - 5 - | 52|55 1 17 | 56 = M60x2 @ 4~M10x20 14.5 60
CBE-5217 180 | 140 | 107 109 170 1334 - 6 - | 52 145 10 17 | 56| M60x2  4~M12x30 18 70
CBE-52 A5 | 140 140 107 109 - 1048|8256 - - 52 205 16 17 56 M60x2 4~M10x30 16 70
CBE-52 A6 | 160 140 107 109 - 133410637 - - 52 | 205 16 17 56 M60x2 4~M12x35 18 70
CBE-65 180 | 157 | 122 114 170 1334 - 6 24| 56 15 105  17.5 68 | M75x2 | 4~M12x30 @18 72
CBE-6514 157 | 157 | 122 116 140 1048 - 6 - | 56 17 125 175 68 | M75x2  4~M10x30 18 74
CBE-65 A5 | 157 157 122 114 - 1048 8256 - - 56 21 165|175 68 M75x2 | 4~M10x25 @ 16 72
CBE-65 A6 157 157 @ 122 | 112 - 133410638 - - 56 | 19 | 145 175 68 M75x2 4~M12x35 185 70
CBE-65 A8 202 157 @ 122 116 - 171413972 - 38 56 | 23 | 185 175 68 M75x2 4~M16x35 24 74

AUTOGRIP 44



- A PIEEENIZBEHIRAE AT AR
’ CBDI CBD=-A (i (enormcoLier cruck

o IR BEEREEE  BREFEEASBM - oEEEUTIHA
BEE  FREFELEHIENEE - ‘

o HECAUTOGRIPZEBE N - A8 EL—MEME G THEIRHENEBER -
ol THRERDE - ) -

o HERRAMEZIEMERER BARMENBINEILURE  E5E
FEheHF - olp /DI RIRIB NIRS -

®  The push-forward clamping, combined with a stop block mechanism, features
radial clamping with zero radial displacement, enabling precise positioning of
the workpiece feeding length for improved length accuracy control.

® AUTOGRIP rubber tube clamping eliminates forward pushing, minimizing
surface damage.

® Interchangeable workpiece stopper and dust cover enable through-hole
applications and chip protection, suitable for sub-spindle clamping, reducing
tension and compression.

n JERELBIEAEREBETSAL -
K max EREFBIBE ) BRET ZHEARE - AIRERFBKRIH -

= Jis the hole diameter of blank draw nut.
K is the maximum thread specification and it could be customize.

E
CBD-E%&HkHFHFHN _ T
CBD-type Clamping method T p—
J‘7'30"£\ .G
TEEHR o~
BLOCK / * AT = s
/ Radial clamping ot
/ : F (3] -
<ol 8| & Q£ ol al 8 = < <
s 8| 8 E s 8 s/ 8 8 E® ] " 8 8
L1 |
}<—>
R, THAREERNIE, 4 /
When clamping, the workpiece does
not shift forward. L El
M
B B
REREERRT CBD-A CBD

Subject to technical changes

11T #3148 SPECIFICATIONS

ny EETR | o i) gy | BRRAAN | RAKEN)  REESH | EE | EAEK | EREET | SAEHE?
mm mm mm mm kN (kgf) kN (kgf) min (r.p.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 7.3 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 10.9 RG-52 TK-A853 3.0(30)
CBD-52 A5 4.5 4~52 7~36 7~45 | 39.2(4000) = 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 8.6 RG-65 TS-866 2.7(27)
CBD-6514 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 9.3 RG-65 TS-866 2.7(27)
CBD-65 A5 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 10.8 RG-65 TS-866 2.7(27)
CBD-65 A6 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
CBD-65 A8 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 915 RG-65 TS-866 2.7(27)
SMUR ST DIMENSIONS
Model A Al A2 B C (H6) D D1 E El F |G max. G min. H J K max. L L1 M
CBD-52 150 | 140 @ 116 99 140 | 104.8 - 5 - 52 7 2.5 17 | 56  M60x2 | 4~M10x20 14.5 57
CBD-5212 140 | 140 @ 116 99 120 100 - b) - 52 7 2.5 17 56  M60x2 | 4~M10x20 14.5 57
CBD-5217 180 & 140 | 116 & 109 @ 170 1334 - 6 - 52 16 115 17 56| M60x2 | 4~M12x30 | 18 | 67
CBD-52 (A5 | 140 140 @116 | 109 - 104.8 | 8256 @ - - 52 22 175 | 17 56 M60x2 | 4~M10x30 16 @ 67
CBD-52 (A6 | 160 140 @116 | 109 - 133.4 106.38 | - - 52 22 | 175 | 17 |56 M60x2 | 4~M12x35 18 @67
CBD-65 180 |« 157 | 132 112 @ 170 1334 - 6 24 54 155 11 | 175 68 M75x2 | 4-M12x30 | 18 | 70
CBD-6514 157 | 157 | 132 | 114 | 140 | 104.8 - 6 - 54 | 175 | 13 | 175 68 M75x2 | 4~M10x30 18 | 72
CBD-65 |A5 | 157 | 157 | 132 | 112 - 104.8 8256 | - - 54 | 215 17 | 175 68 M75x2 | 4~M10x25 16 | 70
CBD-65 (A6 157 | 157 132 | 110 - 133.4 106.38 | - - 54 195 15 175 68  M75x2 | 4~-M12x35 |18.5| 68
CBD-65 A8 202 | 157 132 | 114 - 171.4 | 139.72 - 38 54 | 235 19 | 175 68 M75x2 | 4~M16x35 24 | 72

45 AUTOGRIP



U E IR AIE R ER UE

STATIONARY DRAW COLLET CHUCK

BETER. BRSO

EfREREEER,

FEERIMEEC I TR,

RRAS, #E EEEERPETMNI.

BERGRMGB B, MR EHERE,

RAANSECE BR B0 h B AR M A AR,

Build-in cylinder, ideal for drilling machines, milling machines and machining

centers

®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
runtime.

® Two modes for the media supply: side-supply mode or baseplate-supply

mode.

dQ

DA
@D
OF
ac
’——

DAL

E m 0

2~OBIE N = —

m\ % Unclamp Clamp
Frtheh/ -
|||

"

I Fﬁﬁ X
-MEssER /| 6 | H | Unclamp Clamp
Baseplate T R o
Pressure Port B 2~RC1/4" RliE4a AL
Side Pressure Port
R ISR R
Subject to technical changes
F1ii#1& SPECIFICATIONS
PR BASIFEES o - - - -
- M REE) o G e BATHS 8 R BAREFES
= EE AR =
Jaw stroke(Dia.) N Max. clamping force Weight Max. pressure
Round Hexagom Square Matching steel collet
Model mm mm mm mm kN (kgf) kg MPa (kgflcm?)
SCB-52 +0.5 4~52 7~45 7~36 80(8150) 8.6 RG-52 4.0(40)
SCB-65 +0.5 4~65 8~56 8~46 105(10700) 10.2 RG-65 4.2(42)
4N R I DIMENSIONS
Model A (g6) Al B c D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 245 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S
SCB-52 10 51.5 4~M10 12 4.2 P7 3~M6x12 160 42 69.5
SCB-65 10 61.5 4~M10 125 4.2 P7 3~M6x12 175 50 7

AUTOGRIP 46



RG 1% B & 2 18 B

RUBBER GRIP COLLET

IR AT BRI TR ST RY R JE 3R,

FlEE e B8 IIFRFYE, BB B RE T,

BFREBHBEIH.

BEE—HEIHRY,

B — IR I EE E BT E £0.5mm,

ERIRE TS

RhEERA B 5% 5t o

Rubber grip collet for push type or draw type collet chucks.

Full griping area: high rigidity, more gripping force.

Gripping smoothly: prevent to damage the workpiece.

® More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.

®  Grip Range: £0.5mm.

®  Quick change and easy.

®  Dust-proof and swarf-proof design.

k=) L | [a)] he] _ [a)]
Q Q Q Q
goog
: =1
15 15
L L
RIS IS T
Subject to technical changes RG_RT RG_R
Fi i #3218 SPECIFICATIONS
o BRARFSEES o o g 5
B Max. Chucking Capacity § o . B RSTIR
Model Lz lzaud Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 11~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 11~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 11~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
H#E D(S,H) L ADIN
L Test Bar D(S,H) mm Class1 Class2
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020
10.0~18.0 40 0.020 0.030
- - = 18.0~24.0 50 0.020 0.030
e 24.0~30.0 60 0.020 0.030
30.0~50.0 80 0.030 0.040
- 50.0~60.0 100 0.030 0.040

1 —MABKIBES DIN 2k

i 2 KRB ERE DIN —RA%%E

Notel : Collets chuck are conformed to DIN 6343 Class2.

Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

47 AUTOGRIP



MFRER

REIGEE YL

EXPANDING COLLET CHUCK

A crp

BAXARB UG RREBSCNCER - EAK - sStEMIEHIE -
BRTIHNERE  SEEIFIEE -

—IREBHRRET - WIFIBE

JUBRALERET - BAEAL

RBENE I E B RIBZRITE -

SEE  SEERSHIMES -

EERE M R (ECP type)fEfd -

ARERTER0.6mMmm - XiFEE0.015 -

The pull-back expanding collet chuck is suitable for CNC lathes, special-purpose
machines, or other turning machinery.

Designed for I.D. clamping of workpieces, ensur-

ing stable clamping at high speeds.

Integrated dual-cone design, stable clamping.

Countersunk hole design, suitable for blind holes.

All sliding surfaces are hardened and precision-ground.

High precision, high speed, and rigid structure

Compatible with elastic collets (ECP type).

Internal clamping diameter travel is 0.6mm.

Clamping accuracy is 0.015mm.

|
Ho
|
H
/L&
L

C E
B
REBRGIELAETR)
Subject to technical changes
K17 #R1& SPECIFICATIONS
” N BASHHES i — - " — E
Rg BT | Codkng ovacity  BSFRANS | BEEAH & ERER | EREHE  BARRES
Plunger stroke [El#%Round Max. D.B. pull Max. speed Weight Matching steel Max. pressure
Model 1 I Matching Cyl. 2
mm mm kN (kgf) min” (r.p.m.) kg collet MPa (kgffcm’)
CEP-40 2 40~51 17.7(1800) 5000 1.0 ECP RK-100 2.5(25.7)
HMUR <) DIMENSIONS
Model A(h6) B C D E F G H J L L1
CEP-40 75 110.5 20 26.3 45 M10x1.5 30.5 58 3~M8 3~M8x25 14

AUTOGRIP 48



ECP AT
EXPANDING GRIP COLLET

o EBRASREIILHE -
® Designed for Expanding Collet Chuck.

[a]
Q
L
REBREIERAER
Subject to technical changes
= yrs
B BICSET EAREESRIE
) Max. Chucking Capacity (mm)
RISk D L
. Ei% Matching Collet Chuck
Grip Collet Model R 9

ECP540 40~40.6 40 45 CEP-40
ECP541 41~41.6 41 45 CEP-40
ECP542 42~42.6 42 45 CEP-40
ECP543 43~43.6 43 45 CEP-40
ECP544 44~44.6 44 45 CEP-40
ECP545 45~45.6 45 45 CEP-40
ECP546 46~46.6 46 45 CEP-40
ECP547 47~47.6 47 45 CEP-40
ECP548 48~48.6 48 45 CEP-40
ECP549 49~49.6 49 45 CEP-40
ECP550 50~50.6 50 45 CEP-40
ECP551 Eil=FLE 51 45 CEP-40

EC554 54~54.9 54 50 CEP-40

EC555 55~55.9 55 50 CEP-40

0.015 TIR

RR /

Ring gage

49 AUTOGRIP



== 17 BT KR
STATIONARY CHUCK WITH THRU-HOLE
o VUENPEENNRE  BEERK - HARILIIEI R OKER
BIME=MNMELH -
VH2-22002Y 50 o 7 B GR AR A& K~ R B 2H- 28U ARG -

77 ] VH2-3200 5t i = JEBE#R 18 B < & £23H-2BUSUARFE] -
® Stationary Chuck with two or three jaws for drilling, milling and other
machines.
® Specification and size of matching chuck for model VH2-2200 is the same
as model 2H-2.

® Specification and size of matching chuck for model VH2-3200 is the same

\ 4‘7 as model 3H-2.

L Hriggh
i Serration 1.5
i
L=
5]
hva
1 B
B pa
VH2-3204,VH2-3205 VH2-2204,VH2-2205
{£32 924 0nly 3 bolts | #4282420nly 4 bolts |
REFBIEREIER] K
Subject to technical changes
FHT#RH& SPECIFICATIONS
itk JEZEEFEES. Piston area TITRER) RAERES s
— $H{8lExtend fifflRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 46.7 5.5 2.0 (20) 9.5
VH2-3204 52.4 46.7 OI5) 3.0 (30) 9.5
VH2-2205 63.7 57.9 5.5 2.0 (20) 131
VH2-3205 63.7 57.9 5.5 3.0 (30) 12.6
VH2-2206 971 88.5 6.0 1.8 (17.9) 21.5
VH2-3206 971 88.5 6.0 2.7 (26.8) 21.5
VH2-2208 128.9 113.6 7.6 2.1(20.7) 329
VH2-3208 128.9 113.6 7.6 2.9 (28.6) 33.4
VH2-2210 189.2 174.3 8.9 1.9(19.2) 55
VH2-3210 189.2 174.3 8.9 2.9(28.7) 59
4MERSF DIMENSIONS
Model A B c D(H7) E F @ H J K L M N P Q
VH2-2204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-3204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-3206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-2208 210 217 195 80 5 55 29 44 91 160 14 135 30 75 RC3/8
VH2-3208 210 217 195 80 5 55 29 44 91 160 14 13.5 30 75 RC3/8
VH2-2210 260 266 246 100 6 76 32 47 102 192 17 135 30 75 RC3/8
VH2-3210 260 266 246 100 6 76 32 47 102 192 17 13.5 30 75 RC3/8

AUTOGRIP 50



B 17 BT 2KEE R
STATIONARY CHUCK

o VUENPEENRE BGERK  HARIIIEIPOEER - AZTR=/M
MAER T -

o VP-200EU PRy 2 SREAME R AB2PRITUAR(E) -

o VP-300ZUF PRy 2 JREAME R IAB3PRITUARIGE -

® Stationary Chuck with two or three jaws for drilling, milling and other
machines.
® Specification and size of matching chuck for model VP-200 is the same as
model 2P.
® Specification and size of matching chuck for model VP-300 is the same as
model 3P.
= B
1 |
i S
B | g T |
;t g8 8§ I # — <
AN
B E L T ‘Q;
BT
L I T L 2~M
RENL Vb 15°] 18
K
REBRARIEEHIER
Subject to technical changes
K #T#4% SPECIFICATIONS
ISR SEZEMARES. Piston area TITEER) =AERRH B8
o $#{8lExtend fifilRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VP-204 28.0 24.9 6.4 2.1(21) 71
VP-304 28.0 249 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 53.5 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 133.5 8.8 1.5(15) 52.8
VP-310 153.1 133.5 8.8 2.2(22) 54.5
4MYR~T DIMENSIONS
Model A B c D(H8) E F G H J K L M
VP-204 110 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 45 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 45 12 18 2 55) 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

5] AUTOGRIP



LONG JAW STROKE STATIONARY CHUCK

A sm LB R TIE e

B ERE - RITE -

MR - SERREBMBE NDIRE - cBERCREBEMT -

ZRAS - ELREYETMT -

SR S(ERRE - W o FERRELMEEAERET -

OREEREWA - ETHEUERER -

B—EBMmA - EPEE -

WEDGE-HOOK type power chuck, and long jaw stroke.

Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

Easy to install. Installing the tubes and then operating.

Thin and compact design. Use standard soft jaws or standard hard jaws.
Air-tight pressure detect function is optional.

» EEREERA.

= Equipped with airtight pressure detector function.

F
JerteEd s
ﬁ:j:: T =1
g o =
g B B )
,:} IS
i o GE|
<o g 4
9| 9 §
=
LT
D 13.5
27 1
7,,J 2~RC1/4" air supply port _
40 for open/close 45 Lock valve(Option)
B FRAERL 70 (RERAGREDFV-01)
RC1/8 & EEREA
RC1/8 Negative pressure
(BRI R dustproof connection hole
Subject to technical changes
B HFR1E SPECIFICATIONS
rvees SIS AN BAERER SREE
Bz jiFL: - : SARERESD 8
(B BAx | BN RE SHE RE SHEE EFAEE176.0 kgflom?
Jaw stroke Chucking Dia. Max. clamping force Max. pressure : ) ) .
Dia.) ) ) ) ) ) Min. pressure Air consumption Weight
Model ( Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/lcm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgflcm?) kg
SM-306 13.1 168 14 15.9(1621) | 27.2(2780) 0.7(7) 1.2(12) 2 1.5 18.7
SM-308 16 210 18 26.2(2670) | 45.0(4590) 0.7(7) 1.2(12) 2 2.7 32.5
SM-310 19.6 254 20 37.0(3772) = 63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4MUR~T DIMENSIONS
Model A(h7) Al B © D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 16.75 4.75
SM-308 248 210 127 230 15 41 95 25 23.75 8.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R S T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 B85 14 M10x1.5 11 160.5 1255 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

AUTOGRIP 52



MU ZEM ) s hER

I EI(3RER

STATIONARY CHUCK
o UENPERBEMUENPERE  B_NK=TMERTER -
o WEMEL - EERREMDE NRR - clERIRERAEE -
o AR BEBEMEMNT -
o ZEARS  HIRKEAIYUESTMI -
o HERE(LRERET - WolfERREETSFERM -
o TDJHEVERBEERMASETML -
[ ]

Stationary Non-Thru-Hole Chuck and Stationary Thru-Hole Chuck. Two types
of jaws (two-jaw, three-jaw).

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

®  With small thru-hole and suits for long bar workpiece processing.

® Easy to install. Installing the tubes and then operating.

®  Thin and compact design. Use standard soft jaws or standard hard jaws.

°

Can work together with multi-plate.

— Sl
-~ e S
v =
=B B ) - v
2 588 RERE
3w’ — ]
% Fics
= ‘ | =
D_|D1| |
‘ - e granen (It
5 |27] W R 7 45 | |\ memamrv-op
llOJJ 40 | 70 Lock valve(Option)
B B
—F
-F —
r L
T L T
e L T o
i = i
R T [O) % 5
SEE : 38 { 3
Is e 1
SIS
7i7 '2~RC3/8’}a|irsupplypgr‘to ; I;):g]ﬂm %~RC3/8’}alirsupplpr|cc|>r§ v' "8 RERE(RRFV-03)
for open/close 2R (3 | for open/close 6 - i -0,
0 3‘5 = m ‘ 125 ‘ :igkﬁﬁ(ﬂﬁga(g/pggb |35 BARRIERIL 105 Lock valve(Option
56| RC1/4 SEHEEFEY, > B RO AL
B ReRforabet protaction heftor abist protection
sP-316 SP-320/sP-324
RERBIEREHER]
Subject to technical changes
B #$R4& SPECIFICATIONS
712 FEFER ARSI RAEREN TRHFE -
gk s _ - = X = ) BEEREN - 58
(B15) Bk | &) RE ‘ SHE FE | HE fEFBEEF36.0 kgflcm?
Jaw stroke Chucking Dia. Max. clamping force Max. pressure ) . . .
. . § : N - Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.7(7) 1.2(12) 2 0.5 7
SP-206 5.5 168 30 34.1(3477) 46.1(4752) 0.7(7) 1.2(12) 2 1.4 16
SP-306 5.5 168 30 35.5(3620) 60.0(5252) 0.7(7) 1.2(12) 2 1.4 16.5
SP-208 6.8 210 42 43.2(4405) 74.0(7545) 0.7(7) 1.2(12) 2 25 27.7
SP-308 6.8 210 42 51.5(5251) 88.3(9004) 0.7(7) 1.2(12) 2 2.5 28.7

53 AUTOGRIP




SP

I EI(3RER

M =M s hER

STATIONARY CHUCK
£ i gf %\Eém i Eﬁk\mﬁ S ﬁzﬂﬁ\ﬁﬁgfm@ RiFERED ﬁméﬁf? L
Model Ja‘;VD?;f.‘;ke l\/?ar:(l‘.mking 3::1 Pneux::;:dampingl-:j;i:ulic Pneum’\:\::. press:;raulic Min. presstre Alr cansumpfion Weight
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-210 7 254 52 60.5(6169) 94.5(9636) 0.7(7) 1.2(12) 2 4.2 41.8
SP-310 7 254 52 68.2(6955) = 118.7(12104) 0.7(7) 1.2(12) 2 4.2 42
SP-312 9.3 304 60 75.8(7729) 148 (15091) 0.7(7) 1.2(12) 2 6.4 73.1
SP-316 14.5 400 30 |120.7(12305)| 120.7(12305) 0.7(7) 0.7(7) 2 10.6 147.8
SP-320 16 500 45 | 155.6(15865) 155.6(15865) 0.7(7) 0.7(7) 2 15 232.7
SP-324 16 600 140 215.9(22015)  215.9(22015) 0.7(7) 0.7(7) 2 22 338.7
SMURST DIMENSIONS

Model A(h7) Al B c D D1 E I G H J max. J min.
SP-304 148 110 84 130 15 13.5 - 25 52 14 3.75 0.75
SP-206 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-208 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-308 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-210 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75
SP-310 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75
SP-312 350 304 130 330 18 13.5 65 54 130 30 30.75 12.75
SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25
SP-320 540 500 170 500 22 20 = 74 180 60 87.5 24.5
SP-324 640 600 175 600 24 20 - 74 180 60 87.5 245

Model K max. K min. L M N P Q R S T T1 U Vv
SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -
SP-206 47 44.25 31 12 M10x1.5 11 139.5 104.5 b5 18 = = 6~M8x1.25
SP-306 47 44.25 31 12 M10x1.5 11 139.5 104.5 55 18 - - 6~M8x1.25
SP-208 57 53.6 35 14 M10x1.5 1 160.5 125.5 68 25 = = 6~M8x1.25
SP-308 57 53.6 35 14 M10x1.5 11 160.5 125.5 68 25 - - 6~M8x1.25
SP-210 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-312 775 72.85 50 21 M12x1.75 13 207.5 172.5 100 85 = = 6~M10x1.5
SP-316 70 62.75 60 25.5 M16x2.0 17.5 271 236 115 45 80 110 12~M10x1.5
SP-320 82.5 74.5 65 25 M20x2.5 22 301 266 165 = = 130 3~M16x2.0
SP-324 129.5 121.5 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0

AUTOGRIP 54

v
=
%
S
BB




=Mepg

i ETVR KR

STATIONARY PULL DOWN CHUCK

NEMEL - EEAKBMBE NIRE - oERREREAT -

ol AR THEE @S EMEEN - FIAA DFTRESEER -
SHHECEENAZEETBEE  TABHABE BRRSKEEE
HAE  #E5BUHISE -

OJ B 17 EAREH R A S TN -

Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

® The body with heat treatment and the organization of cylinder pull-down and fine
boring, which guarantee to the high clamping precision and durableness, it’ s
suitable for heavy duty machining.

® Can work together with multi-plate.

= EREREEH,

= Equipped with airtight pressure detector function.

L S 6~W
——T MmNV 4-@K
|
o T
- ()
6~J1
%{ z ¥/ o
— 154 1™
el — 5 5
S8 = fa = <
] sl | 8§l s T % b o
3~G - ®
= — =)
] .
— T 2~RC1/4" air supply port
[ for open/close
F | 13.5 BEES T,
RC1/8" air supply port
21 for gripping-confirmation ‘ 45 Lock valve(Option)
40 EERERAL 70 RERIGEEFV-01)
B
REBFARIEDBIIER
Subject to technical changes
AT SPECIFICATIONS
. 5 KRBT BAKSSN BAGAESN _ ) SRERE _
il 2 N \ 23 oL
o E® | Bk | B aE | AE . AT Y =
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . i .
" . ) Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 110 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3(13) 2 0.26 8.1
SD-306 7.2 165 35 11.5 (1173) | 25.0 (2550) 0.6 (6) 1.3(13) 2 0.58 20.6
SD-308 7.2 210 28 21.7 (2213) | 47.0 (4793) 0.6 (6) 1.3(13) 2 1.02 34.1
SD-310 10.8 254 40 36.0(3680) 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55)
4MEUR~F DIMENSIONS
Model A(h7) Al B © D(H7/h7) E F G H J J1 K L max. L min.
SD-304 148 110 93.5 130 35 15 M3 22.5 10 M5x0.8 9 30 23
SD-306 206 165 116 188 52 7 18 M4 35 20 M6x1 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 11 56 46
SD-310 300 254 151 280 75 12 20 M6 55 30 M8x1.2 13 65 50
Model M N P Q max. Q min. R S T U \ w
SD-304 19.5 52 19 37 34.5 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 35 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

55 AUTOGRIP



TERMERERKE = Mg

STATIONARY PULL LOCK CHUCK

AEHEEL - EFRAKBMSEN RIS - oERREBREAL -
U E KRR O E S TS @R EmmEn - FIHR DU RMES
W - BEER - SERSTIHI P ORER -

o SHIME(CEENARRABH BRI  WABMIIBE  BRSXEEE
HMAE  BSEVHISS -

o OIEAVEWREERMASETML -

® Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.
®  Suitable for drilling, milling and other machines.
® The body with heat treatment and the organization of cylinder pull-down and

fine boring, which guarantee to the high clamping precision and durableness, it's
suitable for heavy duty machining.
® Can work together with multi-plate.

»  EERERA.

= Equipped with airtight pressure detector function.

w

B L
 — M‘ 3~V o
[ A
B £
G min. e zZ T it
— W S xR
sy o .
‘ —| 8
AL = J
135 wei]
3~J
T > e
L 2~RC1/4" air supply port EAClose | HOpen
! ! for open/close
A GIEIEEED mop
RC1/8" air supply port
40 for gripping-confirmation 45 X SU-303
= REG IR Lock valve(Option) DU-5US
REBIUEEHIER Bl 05 EERERMA 70 {RERRI(ERCFV-01)
Subject to technical changes -
SU-304,306,308,310
B H#i#E SPECIFICATIONS —
. M KIFEE BASKIN BAEREN _ SRNEE _
y s
. E®H | B | & aB | o | owm | OO e Ok | TR
Jaw stroke Chucking Dia. Max. clamping force Max. pressure ) . . .
; . § . - : Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgflcm?) kg
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 5 6.7 (683) 16.0 (1632) 0.6 (6) 1.3 (13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) @ 40.0 (4079) 0.6 (6) 1.3 (13) 2 0.58 18
SU-308 5 132 32 37.0 (3773) | 80.0 (8158) 0.6 (6) 1.3 (13) 2 1.02 31.5
SU-310 5 163 44 46.2(4710) | 100.0(10100) 0.6(6) 1.3(13) 2 2.1 53
4N R~T DIMENSIONS
Model A(h7) Al B B1 © D(H6) E F G H(H6) J K L max. L min.
SU-303 122 85 80.5 68 104 28 22 12 3.5 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 4.5 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 115 230 55 45 18 7 156 M6 4~11 17 7
SuU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1
Model M N P Q max. Q min. R S T U \ w X (p.c.d) Y
SU-303 12 30 7 3.5 2.5 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~M10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 71 35 1255 160.5 M12 6~M10x1.5 95 6~M6x12
SuU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M14 = 6~M12x1.75 115 6~M6x12

AUTOGRIP 56



=Mepga

I ETNPIREHIKER

STATIONARY EXPANSIBLE PULL BACK CHUCK

NEHEL - 2CAKBHBENRE - oPERREBRE AL -
BRRAEIF -

SEELEY  BemBREmL -

Oj B 17 B AREH R AR A S TN -

Build-in hydraulic cylinder; it can also work with lock valve and be driven
by air pressure.

For internal gripping.

With high precision and stability.

Suitable for the precision large length size process.

Suitable for end process.

Can work together with multi-plate.

RBZRA (GRE ).

Airtight pressure detect function is optional.

6~R

4~ZK

6~M6x127%

oA
OAL
\
ST

ac
OH1
&

Ja
%‘Y

7
o~
e

Clo7/ 2] ] Opet
2~RC1/4" air supply port
m_H

hvA
B
%
S
]

2 | s

for open/close

FAPAERAL

I
9
Bl . 14
- - RC1/8" air supply port

for gripping-confirmation

EERERHIL

Lock valve(Option)
FREZRI(EEFV-01)

Soft jaw : type A
EEETAR

Soft jaw : type B(Option)
EAEATIB BU(EERR)

5

REBRIEIERETRF

Subject to technical changes

3R+ SPECIFICATIONS

. G FEFEE RAKEFS RAERES - TREHE -
il o N N i
2 @®  ex | & i S nE wm RN e e okgtome | T
Jaw stroke Chucking Dia. Max. clamping force Max. pressure i . X )
) . - . - . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgflcm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SE-305 3 83 29 14.3 (1459) 41.0 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 110 44 20.0 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 32.0 (3263) 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4MYR~F DIMENSIONS
Model A(h7) Al B B1 Cc D E El Fmax. = Fmin. G type A type B
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 7 5] -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9 5 -5 49 110 90 150 108
H1
Model : J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 27.5 275 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 11 125.5 160.5 50 35 3~M8 M10x1.5

57 AUTOGRIP




37 B ZREARER

STATIONARY CHUCK BASE PLATE

SJRAR#SEARSM IO - BRI E TS -
EELRUARAARER -

o842 - 3~ 6 LHEHEE -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

1 g
S —
,{
<zlslslsl T8
1
EE— B
) D Y
K
s 5
16~aL J K
K
N E N
D
B

Lock valve(Option)
FREEFIGERCFV-01)

0 O s

4

&o.ﬁm%+Jﬁm%

REFBIEREIER]
Subject to technical changes

SMEYR < DIMENSIONS

‘ Model A B C1 Cc2 C3 C4 D E = G

‘ MP4-06206 460 580 400 320 250 200 544 210 220 120

‘ Model H J K L M N P Q R 5 T U
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206

*B ¥JBRFTEAC ACBREALSR 2~ B -
The dimension *B: Please refer to the dimension B of the chuck model assembled.

’ VH-201 FENTIIRRA

HAND OPERATED AIR VALVE
ot s chnges
RABHES BRIERE FEO®
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90 ° Rc1/4

AUTOGRIP K8



’ RAP 08 R R BR = T\ 3k 8 BEBREL

PNEUMATIC ROTARY CHUCK

o WEFIIZERERKE, Mh=EN), BSETEIGES, LAl ERAZEEM
REERET,

o EARDERLETHIEMT,

o KEIRFFEEMIERE, MIHYIBRZENKEN,

o RRENEMISEUNETIRE, L EEEE.

® Rotary chuck with built-in pneumatic cylinder, compact design, suitable for light
machining, compatible to standard soft jaw/hard jaw.

® Can be installed on a rotary table for indexing machining.
Sealed against dust and cutting chips.
Matching surfaces of all parts hardened, ground and lubricated directly.

B R BAREERRIRERBEAEZ HREER S ) EENREHE
WABI TR

@ Note: To overcome friction force between distubritor ring and chuck body, the
rotating torque of rotary table must be highr than the requirement shown in

L]
o
A
)
B
LS
L]

the table.
Serration Pitch S
HFeEEE1.5
M .
- [ et ©
e
al
L L - x
qu9 e g f@
’\nL L \\\X‘i‘ g 3~-W
Hl| s "\ e
[ A
= ==0
L 6-L
Y JV A ealonun PRy PO~ g B 2~RC1/4"
o1 EEERIL Open Close
REBRRIELEER B
Subject to technical changes
TG SPECIFICATIONS
= = = =
= T\E{g Cr?jiifinsg&Dia. ﬁ@(ﬁfﬁ%ﬁ?ﬂgﬂcmﬁ SO | g S L4 (fﬁﬁﬁf@i?? ij/cmz) —
woiel by | M| premamgem | Menpese Mecsmt | IRy Ve
mm mm mm kN (kgf) (kgflcm?) (r.p-m.) Nm lit (kgflcm?) kg
RAP-306 55 170 25 21.0(2141.4) 7 72 40 3.1 16.2
RAP-308 6.8 215 37 34.2(3487.4) 7 60 60 3.1 30.6
RAP-310 7 254 53 48.0(4894.7) 7 53 85 4.2 42.4
SMURST DIMENSIONS
Model A B B1 C (H6) D E F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N P Q max. Q min. R max. R min. S} T U Y W
RAP-306 6~M8 11 36 73 20 10.75 6.25 47 44.25 31 12 19.5 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 35 14 19.5 14 3~M8
RAP-310 6~M8 14 42 110 30 23.25 12.75 64.5 61 40 16 19.5 14 3~M8

59 autocRrIP




A F 8K 0 = T I3 =meesn

SELF-CENTERING 3-JAW MANUAL CHUCK

o SERMKBWURSERNAMOERETEIMIK, IR IEINIERT=M™.
PO EERS, BB ENKBENE, UMEEARREBENERAS R
BE.

Thin and lightweight design and increase the z-axis machining range.
With the center hole cover and dustproof design for the accuracy and
service life of the chuck.

®  For 5-axis indexing plates and milling machines.

B RRIEMRTATEEZEREANSHIINERK - FRIFEEIR Ht e 5058 & B it
ZERETZIE -

W 3MF series are not designed for the vertical or horizontal lathes,
unless there is a rigid plate and providing adequate support rigidity and strength.

P1

DA
JC He6
OF

IREBIRIBISLAER
Subject to technical changes

11T #3148 SPECIFICATIONS

itk TR (EX) F&FF EE Chucking Dia. BABTHE BAKHE T BeLEY B8
- Jaw stroke (Dia.) &K Max. &/)\ Min. Max. allowable torque Max. clamping force Max. speed Weight
mm mm mm N - m (kgf - m) kN (kgf) min (r.p.m.) kg
3MF-16 60 350 95 175 (17.8) 59 (6000) 1450 66.9
3MF-20 80 500 142 170 (17.3) 71.2 (7300) 1150 121
HMEUR <) DIMENSIONS

Model A B C (H6) D E F G H J(H7) K L L1 M
3MF-16 400 80 140 375 10 135 [114 27 19.03 @ 4~M12 @ 6~M12 23 60
3MF-20 500 85 170 465 12 160 019 38.1 19.03 | 4~M16 6~M16 23 80

Model N P1 P2 P3 Q max. Q min. R max. R min. S T (h8) u %
3MF-16 148.5 27.16 54 112.5 184.5 164 103 62 40 12.7 15° 28
3MF-20 192.5 29.5 76.2 135 254 214 139.7 99.7 50 12.7 15° 40

AuTocrip 60



B HE D\ R EH

POWER CENTERING VISE

FHEXEREN RN DB P HHER R 1o

HMEYSE R BB R BAPR SN T O, R Fe G INPERE = /o

PWEHEREL, Al AR B SUHBE R B 1R,

TA EBRRRRENE, REH S MEEAA,

Constantly high clamping forces are ensured while machining.

Compact design, suitable for milling machines or machining centers.

®  With built-in cylinder, it could be either pneumatically or hydraulically

operated.
®  Plug & play, easy to install.

V1

Ul

P Q
2~M4EEER i B L
. | 2~M4 Bottom lubrication oil hole

R *ﬂt Pt I+ G M5 FEEBHTL A
M5 Bottom oil inlet A

W

% ]
4@‘ L
:
E3l

x

% U
z| A —@ 7—+—7+@— - @l o - - B+ - ®)— 5| >
—goles g E23ERS - . @w\
i ‘ i Yy & ,/éL MAEEERIR S FL M4 Bottom air vent
t D (VR-1012:M5 ; VR-1214:M5)
K‘@T | W@T) Z = RO EEERT, B
4~L ‘ s ‘ T M5 Bottom oil inlet B
‘ | 2~@8(H7) BEEF
A 2~@8(H7) Master hole
Bl
G
D
R ‘ M H7 M1 E 2~M6:FEE L
| “—" 2~M6 Oil hole
""717 } [ } ) ﬁt f } AE=; 1 M5 EFL
j ‘ (D I %
| i
o | i © .
| 3 o =
| §
J 2~RC1/8” 4437l
{REBIIEIELUAIM#F Subject to technical changes 2"’RC1/8” Pressure port
R ili#i1& SPECIFICATIONS
. P = y BRAKE BAEREN =
25 MiT(EE) BAKISEE Max. clamping force Max. pressure =
) . . RE SHE KRB JH[E '
Model day st iGl{DE) v Ehueiitng (e Pneumatic Hydraulic Pneumatic Hydraulic ccht
mm mm kN (kgf) kN (kgf) MPa(kgf/cmz) MPa(kgf/cmZ) kg
VR-808 8 100 2.0(200) 20.0(2040) 0.9(9) 7(70) 3.55
VR-1012 12 120 4.4(448) 30.7(3130) 0.9(9) 4(40) 7
VR-1214 14 160 8.6(876) 60.6(6180) 0.9(9) 4(40) 12
4MUR~F DIMENSIONS
Model A B B1 © D E(h6) F Gmax | Gmin H H1 H2 J J1i K
VR-808 120 80 52 63.5 36 16 2 125 117 335 24 26.5 36 40 M5x0.8
VR-1012 150 100 64 76 45 20 2 158 146 39 30 32 46 48 M6x1
VR-1214 188 125 82 82.5 60 24 2.5 196 182 41.5 44 34.5 57 51 M8x1.25
Model L M(H7) M1 M2 N P Q R S S1 T T1 U U1l Vv V1
VR-808 M6 6 21.5 2.5 27 9 6.5 49 95 65 70 65 24 10 36 18
VR-1012 M8 8 27 2.5 32 12 8 63 120 80 90 80 30 12 46 20
VR-1214 M8 8 30 3 43 12 10 80 158 100 128 100 44 16 57 25

61 AuTtoGRIP



ERMEVEE

RJJEEIR (—)
SINGLE-SLIDE FACING HEAD
o EAMBREMUENEANEH AR  EXRRERTE  ERREHETENHE
FEERS -
RBEEIIABEERIBBME
EMEE:£0.03mm -
® Feed mechanism is Wedge Plunger, with steady feed speed. Simple adjustment for
feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

BIMEMAMIFERY -

®  Stopper accurancy: +0.03mm.
m BTIRALR SR BRG] A A -
n BRERE IR OB ECE RS ERRIKIEEREMERERTIMNL -
= Suitable for using with RS type cylinder.
= For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.
BRI EE
WEDGE PLUNGER
FA-408 Max.26 7
Min.12 4 0
©
0
A~MBx10 18 1~
4 g g
s
=4 ’:\\: o) =
= o | | 4 =}
SIES 4
‘ e
] % i %j S
RBRBUEIE R HOMF L%
Subject to technical changes 58.5 4~M10x60
%1§3845 SPECIFICATIONS €9
Btk BOTiE B2 ReaEH BRFERAAN 2 EREE BAFERERT
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . . Max. pressure
Model 5 Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)
BREZEE
WEDGE PLUNGER
FA-610 FA-812 L oR Q1
— S G %]
ng i 5\
e oty P
K YEO
'_
s8R 'QI&IZI_V(Q @ ! b
| - wlly
G
| MM
el ]
" D
(REBIEEBEORT
Subject to technical changes B Q
} 1T #3415 SPECIFICATIONS
Btk BOTE BETiE RieaEH BREERAAN B8 HEREE L RAEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . ) Max. pressure
Model . Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
4hNEIR < DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-610 156 110 140 107 5 20 66 48 +5 20 M12x1.75
FA-812 198 130 170 127 5 25 84 63 +6 25 M16x2.0
Model L M N P Q Q1 R (H8) S T U
FA-610 4-M10x90 12 2-M10x45 104.8 45 28 8 4-M10x16 40 40
FA-812 4-M12x105 12 2-M12x60 133.4 54 32 10 4-M10x16 50 50

AUTOGRIP 62



R JJ¥EBEE ()

SINGLE-SLIDE FACING HEAD

o HAWBREUEREGRESHNAZ, EGRE
REBEERS.
REHIIEBELNAETRE, BIMERFA IR RT.
ENIFEE: +0.03mm, FHEERE (11812,

®  Feed mechanism is transmitted by Rack and Pinion with steady feed speed.
Simple adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

®  Stopper accurancy: £0.03mm , work with stoper screw.

n BTIRALEEH B AR -
= Suitable for using with RS type cylinder.

EIRE, EnEELEITIEN

| EE IR B R 8 E) RACK AND PINION
FA-615 FA-830 FA-1570

#18 Keyway
6FXx4%
K
8|8 *%_ = °I">
[SEIRSHEN
H G
L/ E
B
IREBRIB IS AR
Subject to technical changes
AR 1& SPECIFICATIONS
Rtk BLLITIE B EETTE EeEEH BHEAAT B8 EREEL EAEAES
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min?(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
4MUR ST DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-615 150 107 110 102 5 25 43 28 35 20 M12x1.75
FA-830 198 126 140 121 6 30 55 25 45 25 M16x2
FA-1570 400 200 300 192 6 60 110 40 75 50 M30x3.5
Model L M N P Q R S T U W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 - +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 +15 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 - +17.5 -

63 AUTOGRIP



DOUBLE-SLIDE FACING HEAD

’ FD 0 /)i B R B

o HAKBRUMMEN SR, ELRERE, EMRERTENHAZIER
BHo
REEYCBECRIEEME, BItEHALIEE R,
ENIAERE © £0.03mm, BREE (11812,

® Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

®  Stopper accurancy: +0.03mm , work with stoper screw.

EAFTIR AL S B Gl FAACE RS -
Suitable for using with RS type cylinder.

| BhiR{EE) CRANK TYPE
FD-632 FD-840 FD-1060

P
H ax2~T Q
T
RS
ML
K } éj
;ﬁ | | .
<l O|wWw - | _ - ©
s 88 1 ] 9 £
| =
J |G|
= ;*i%ﬁ | 1t
) 6~L
5
B N
REBIRBISHIER
Subject to technical changes
F1li#1& SPECIFICATIONS
itk BT BETEER EeEEY BHEAAT B8 BEREEL EAERES
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
SMUR T DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -25 4 36 M20x2.5
Model L M N P Q R S T U v W(H8) \%
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

AUTOGRIP 64



CP EEZJ=! AL R
SYNCHRONOUS CLAMP

o MRBE_MELSKE, TITER.
o RBENEIKREUAIEEE, I BEER.
o SRFHEE, EMRFE,
® CRANK type 2-jaw synchronous clamp with long jaw stroke.
®  Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
| W1 |
»:i \%im/\—‘
| i B | B
4 ¥ ‘ @ | @ 3 ¥ -
= f — Y
=606 =
4 N N o ¢
DOHONE | @O
== ==
8~L U 2~@8(H7)
Y, Master hole £#4,
U1 B1
G N Adjusting hole
‘ R M NaEzeud, E,
_ Q. P P, 2x3~K |
fiii‘—T—T—! ‘ ii/u_ ’_F;[_‘
T I S =
T i B RC|/€"Lubﬂnalegusl;uﬂ@tﬁ%J 7 g T J &%@L
4,/ g D ) \,g S @ @
2| &+ 4 d ——9
|E_| ‘ ‘ - ‘LJ‘ .
17 ‘ | LY N
% A
‘9 E=
e r 2~RC1/4” » =
G- o Prestrepon 101,
AT #5318 SPECIFICATIONS
ik SHEMHETE Eff. Piston area TR (EX) RARFFHES BAKRES RAERES ES
— #13 Extend HIff] Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
oce cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 1
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) 3.5(35) 30
MR ~F DIMENSIONS
Model A B B1 c D | EM6) F | Gmax. Gmin H H1 J ] 32 K L M
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 53 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 | M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 | M10 14
CP-50 300 | 110 | 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 | M10 16
CP-70 346 | 120 | 126 89 55 32 5 430 360 114 15 115 115 146 M14x2 M12 16
Model N P Q R (S T u U1 u2 % w w1 w2 X Y z
CP-20 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 23.5

65 AuTOGRIP



FHRI\ED kB

WEDGE-DRIVEN SYNCHRONOUS CLAMP

RHRE

HE

R UELRE - UTER  EMNLEED  FESKE -

R EILE(CRERNE - WEEEB

SRFEE - BIEMRE -

This wedge-driven synchronous clamp features a long jaw stroke, ensuring
continuous high clamping force throughout the machining process.

The sliding surfaces are hardened and precision ground, with direct
lubrication to enhance performance.

High clamping accuracy and excellent dust protection.

@ ¢ O @ ¢ ©
CICRC: (ORI
| AL
e Ho—¢- 0 F3 g3 e
666k 56 60]
OAR
© ¢ © © « ©
8L 2~@8(H7)
Master hole E#7|,
Ul
N Adjusting hole D
NRZEIRAAA
R M REEESRARIL E
Q. _P__P_ 3K E
T = 2
= — Fi7
e it 2
-9 % &/ /Y ¥ P, = 2
A I 3
A AR >
== 1 \**/V/A/* AL\r\\\l\**\ \—%% T
R U L S L e I +
(i i I, ik
s S
11
u!\\ ﬂ!\
2~RC1/4”
Pressure port ##H4L
REBIRBIELHET)
Subject to technical changes
i li#1& SPECIFICATIONS
il JEZEETE Eff. Piston area MTITRRER) BARFFEES BAREEN BAERES B8
##{8] Extend #Ifll Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
Model
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CW-30 31.10 24.10 30 150 34.3(3500) 7.0(70) 32
SMEIR~F DIMENSIONS
Model B © D E(h6) F Gmax Gmin H H1 J J2 K L M
CW-30 260 145 86 50 22 4 304 274 102 10 100 100 | M12x1.75 M10 10
Model P Q R S U U1 U2 U3 Vv W w2
CW-30 M6x1 28 20 86 25 80 200 120 73 140 30 30

AUTOGRIP 66



B AE A4 oh ZE E BEOH AR T (— ) BiEEREE
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

b 1«

1B - RAERDEHEL - = RESMERER2/3 -

25 | e B S AR e JBR 0 R R -

ZEF O REREREZ -

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

n CIPINAR M E ML R TS - (EREMm)

W Linear sensor can be attached.(optional)

B EREmRFIE Patent numbers :
&7 : PATNO.M491534(Taiwan)

== .

ARFE : PAT.NO.ZL201420584274.5(China)

QO
=
o

w1 3~Mounting Hole 6~X2 25 i i 6~L1
T o5 o
) 3 5488 488 8
2x2~Q3
e by
_4-Y2 |
RCL’ / ; <
Drain Port F#UH7L b
233 Alle D K
i1 SPECIFICATIONS
BUSR JEEEHETEES. piston area 718 ReABE ReERES I S mRRE
#48)(Extend) HiIfAl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia = Weight Total oil leakage

Model cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 73 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 124 3.9
TK-A853 193 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 17.4 4.2

* EKBROTEBRAEEFSEZMEEME - *Coolant Collector and Confirmation Device Please See Accessories pages.

67 AuTOGRIP




’ TK HExG A oh 2R A BB ER G (— ) BEEEREL

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

MBS R <F DIMENSIONS

A E Gl G2
Model RIE B © D F H J K L L1 L2 M1 M2 M3
- h7 max. min. max. min.
I.D.
TK-A528 105 | 141 | 125 125 110 | 45 | 12 0 38 26 49 775 123 6~M8x20 M8x55 14 | M38x1.5 25 13

TK-A533 105141 | 125 125 |110| 45 | 12 O | 38 | 26 | 49 | 77.5 123 6~M10x20 M8x55 14 | M38x1.5 | 25 13

TK-C643 128 156 140 140 120 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13

TK-AG46 128 162 147 147 130 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 100 65 | 15 | O | 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140 120 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165 130 70 | 20 | O | 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-AB53 | 145|185 170 165 140 70 20 O | 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165 130 70 | 20 | O | 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-A1068 170 212 190 190 160 95 | 25 0 | 50 25 | 74 108 158 12~M10x20 M10x80 | 16 M75x2 85 15

TK-A1075 | 170|212 190 190 160 95 25 O | 50 25 74 108 158 12~M10x20 M10x80 | 16 M85x2 35 15

TK-A1078 | 170|212 190 190 160 95 25 O | 50 25 74 108 158 12~M10x20 M10x80 & 16 M87x2 85 15

01 | 02 R s
Model N1 N2 | N3 P Q1 Q2 Q3 T u Vo WL w2 | X1 X2 Y1 Y2 z
H8 | H8 g7 | H7

TK-A528 < M39x15| 25| 8 35 28 79 85 30 RC14 37 | 62 |70 98 6 62 110 49  M6x6 | 83 H M5x6 | 5

TK-A533 ' M39x15/ 25| 8 35 33 79 85 30 RC14 37 | 62 |70 98 6 62 | 110 | 49 M6x6 @ 83 M5x6 | 5

TK-C643 ' M52x1.5/29 | 9 45 43 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-AG646 < M52x1.5/ 29 | 9 50 46 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-B646 < M52x15/ 29 | 9 50 46 97 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-C646 < M52x1.5/ 29 | 9 50 46 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-BB46 < M58x1.5/ 30 | 8 50 46 97 85 36 RC3/8 56 8 | 96 128 115/ 79 130 | 73 M6x12| 110 | M6x6 | 5

TK-AB53 < M58x1.5/ 30 8 55 53 97 85 36 RC38 56 8 96 128 115 79 130 | 73 M6x12| 110 | M6x6 | 5

TK-B853 M58x1.5/ 30 8 55 53 97 85 36 RC38 56 85 96 128 115 79 | 130 | 73 M6x12 110 M6x6 5

TK-A1068 M84x2 |34 9 | 70 68 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 | 5

TK-A1075 | M84x2 |34 | 9 80 75 110 12 | 40 RC1/2 81 108 121 164 10 | 98 160 | 98 M6x12| 155 | M6x8 | 5

TK-A1078  M84x2 |34 | 9 82 78 110 12 40 RC1/2 81 108 121 164 10 | 98 160 | 98 M6x12| 155 | M6x8 | 5

AUTOGRIP 68



HBE R P ZEEm L () R
TK

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

1B - AARIEEHET - = RERWREMN2/3 -

PRI LS B SRS R R R B -

ZREUHEREEZ -

Super short form, light weight large Through-Hole, just as 2/3
of typical model length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

aIf AR EAI A RS - (EREm)

Linear sensor can be attached.(optional)

B EFEMRFI Patent numbers:
&7 . PAT.NO.M491534(Taiwan)
ARPFE : PAT.INO.ZL201420584274.5(China)

. Q1 P
W1 3~Mounting Hole 6~X2 25 i i 6~L1
N1 »n‘
= i
_ ; LA
=
= — L
o Og =l 9 x NN&MLét:g w o O om
o ) 8 8 Q| O 50 % Q Q & ©
2x2~Q3 F
Pressure Port
Emal 4/
4~Y2 | L
S z\|
\
RC1" @ o H G1
Drain Port {#JHFL | . 5
REBIRBISHIER 233 Al |B \_I?r K
Subject to technical changes LIl
F1li#1& SPECIFICATIONS
RISR EZ HETEES. piston area 712 BaOEY EaEREBN | B8 BERE
— {8 (Extend) HIf(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
ode cm? cm? mm min?(r.p.m.) MPa(kgflcm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
TK-A1512-35 336.4 315.2 35 3000 3.5(35) 0.38 53.8 7.0
TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
SMUR T DIMENSIONS
A E Gl G2
Model A B c D F ) : H J K L L1 L2 M1 M2 | M3 N1
ID. h7 max.  min.  max.| min.
TK-A1287 200 | 245 215|225 180 110 30 O 59 | 29 | 86 | 126 184 12~M12x24 M10x90 145 M95x2 | 35|15 M99x2
TK-A1291 200 245 215225180110 30 O |59 | 29 86 | 126 | 184 |12~M12x24| M10x90 |14.5 M100x2 35 15| M99x2
TK-A1511 250 | 300 275|275 /230140 30 O 58 28 102 156 226 |12~M16x36 M12x110 @21 A M120x2 | 45|15 M129x2
TK-A1512 250 300 275|275 230 140 30 O 58 | 28 | 102 | 156 226 12~M16x36 M12x110 21 A M130x2 45 15 M129x2
TK-A1512-35 250 | 300 | 275 | 275 230 140 35 O 63 28 102 161 231 12~M16x36| M12x115 21 M130x2 | 45 15 M129x2
TK-2114 265 320 | 295 295 240 165 35 O | 60 25 115 |173.5/247.5/12~M16x32  M12x120 | 17.5 M155x2 | 45 | 20  M149x2
Model N2 | N3 on op P Ql Q2 Q3 B S T U \ w1 w2 X1 X2 Y1 Y2 z

H8 H8 g7 H7

TK-A1287 38 90 | 87 | 1275 15 |45 RC1/2 96 | 120 | 138 | 180 110 | 185 108 | M6x10 | 165 M6x10

TK-A1291 38 95 | 91 | 1275 15 |45 RC1/2 96 | 120 @ 138 @ 180 110 = 185 108 M6x10 165  M6x10

134 | 210 138  M6x10 210 = M6x9

TK-A1512 38 125 | 120 | 153.75 17 ' 50 | RC1/2 126 | 150 | 170 | 227 134 210 | 138  M6x10 210 = M6x9

TK-A1512-35 38 125 120 158.75 17 50 RC1/2 | 126 | 150 @ 170 @ 227 134 | 210 138  M6x10 210 & M6x9

9
9
TK-A1511 38 9 115 | 110 153.75 17 | 50 RC1/2 | 126 | 150 | 170 | 227
9
9
9

N NN NN~
o oo o o o

TK-2114 38 145 140 170 17 |50 RC1/2 146 | 170 190 250 145 210 160 M6x10 | 230 = M6x10

* EKERTIEBIAEEF LS EM - *Coolant Collector and Confirmation Device Please See Accessories pages.

69 AuTOGRIP



BT R D Ze M AT (=) wemaRnD
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

b K

EHARLLEET - AR IREH BT -

PRI L B SR s R B R B -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.
Ol INAR BN R AR HAE - (EREm )

Linear sensor can be attached.(optional)

EHHZEMFIR Patent numbers:
&7 . PAT.NO.M491534(Taiwan)

== .

KPE : PAT.INO.ZL201420584274.5(China)

Wwi1

6x2 2> P 6L
mvasill | =
9 |N2 |
NE% S|l @ = Liw|olm
(6] y o o
SRR 50| & | Rl ms e® |8 8|8
2x2~Q3
Pressure Port ##4, U
M1
4
4~Y2 z
Vv H G1
RC1”
Drain Port 7L X G2 ‘ J
(TK-2820:M40x1.5) @33 (TK-2820:339) u__ﬂ_.__L%Em "k
A)BTQDr
RAIRIE SR
Subject to technical changes
R 1ii#R4& SPECIFICATIONS
RIS SEZEHEE Eff. piston area 112 BaOEY BaEREN I B2 wRRE
813 (Extend) HI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage
Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TK-2416 418.4 375.4 35 2000 3.0 (30) 1.12 78.0 9.0
TK-2416L 418.4 375.4 51 2000 3.0 (30) 1.31 79.2 9.0
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
9hEIR~F DIMENSIONS
A E Gl G2
Model o B © F N N H J K L M1 M2 | M3 N1 N2
AFLI.D. h7 max. = min.  max. = min.
TK-2416 290 | 340 300 260 190 35 0 60 25 | 129 | 185.5 275 M16x32 |« M180x3 | 45 | 20 M174x2 38
TK-2416L 290 | 340 300 260 190 51 0 76 25 | 145 2015 291 M16x32 = M180x3 @ 45 20 M174x2 52
TK-2820 340 | 395 | 360 320 235 | 51 0 76 25 | 152 | 2125 316 M20x40 = M220x3 @ 45 | 20 M218x2 52
o1 02 R 5]
Model P Q1 Q2 Q3 T U V w1 w2 X1 X2 Y1 Y2 z
H8 H8 g7 H7
TK-2416 170 | 166 | 186.5 20 50 RC1/2 | 171 | 202 | 220 @ 292 | 7 167 | 250 | 188 M6x11 260 M6x12 5
TK-2416L 170 @ 166 | 2025 20 50 RC1/2 171 @ 202 | 220 292 7 167 | 250 188 M6x11 260 M6x12 6
TK-2820 210 | 205 216 21 50 RC1/2 | 215 | 262 | 285 360 @7 | 202.5 300 | 240 M6x12 320 M6x12 6

* EKERTEBRAEEFLMEMN M EME - *Coolant Collector and Confirmation Device Please See Accessories pages.

Autocrip 70



Y AL

AA ke 7R 2L oh 22 10 88 AR ]

AL BEE

SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

ARG - BAA LR E RG] -
BAAEHNEBACRFENIYZEBASENSERIEX -
R LR B SRS R B R B -

ZEFKHEREEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O] 08 040 8¢ @60 MNABFIKEREHE -

oI MNARMEEM RS - (EER)

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, F60.

Linear sensor can be attached.(optional)

HHEBFIE Patent numbers :
&% : PATNO.M491534(Taiwan) / KFE : PAT.NO.ZL201420584274.5(China)

(=R

W1
2~ AR AU AR AL
Mounting Hole 6-X2
& 1
Y1
=
—n T N
[T T JES
JIEE( | mee
\ } SNEISIES
2x2-03 N ~ -
#m AL ==
Pressure Port ~
2
) ”
4~Y2
B /‘ %
:Jrainport 8
@33
[ [
RBRIEELET] A
Subject to technical changes AB ﬁr
Kl #i1& SPECIFICATIONS
ik SHZEHETE Eff. piston area 112 ReLEE ReERESN | 58 wERE
o {3l (Extend) HIfil(Retract) Pigton stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
odel
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TS-539 72.4 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 155.5 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
TS-1210 231.7 222.0 30 3500 3.5(35) 0.193 35.6 6.0
MR~ DIMENSIONS
A E Gl G2
Model EES B B1 © D F . . H J K L L1 L2 M1 M2 | M3
1D h7 max. min., max. = min.
TS-539 107 | 143 | 141 125 125 110 52 15 0 425 275 57 91 124 6~M10x20 M8x60 12 M45x1.5 25 12
TS-866 165|211 207 190 190 168 85 25 |0 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 @ 35 15
TS-1081 180 226 | 222 205 205168 100 25 O 58 33 74 115 166 = 12~M10x20 | M10x80 16 M90x2 | 35 | 15
TS-1210 210 263 260 240 240|200 125 30 | O 64 | 34 935 136.5 1935 12~M10x20 M12x100 20 M115x2 | 35 15
Model N1 N2 | N3 ol o2 P Q1 Q2 Q3 R s T U vV | Wil | w2 X1 X2 Y1 Y2 z
odel
(H8) ' (H8) 97) | (H7)
TS-539 M44x1.5 26 | 8 42 39 8 85 30 RC1/4 42 69 | 72 103 10 |62.5 100 54 @ M6x10 = 90  M5x12 | 5
TS-866 M74x15 37 | 8 72 66.5 105 12 | 45 RC1/2 72 | 100 111 154 12 95 140 88 M6x12 | 140 M6x10 5
TS-1081 M89X2.0 | 38 | 9 85 81 109 15 45 ' RC1/2| 86 113 1123/ 175 | 16 103 160 103 M6x12 160 M6X10 5
TS-1210 M118x2.0 47 9 110 106 131 16 46 RC1/2 | 115 | 145 151 210 16 103 160 133 M6x12 195 M6x11 @ 5
* KB RTIEEREEFRSHEMNMHEE - *Coolant Collector and Confirmation Device. Please See Accessories pages.

71 AUTOGRIP




TH i 22 2[0] 83 5 [BR {1 Tt d B
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE
BE® . W AL CRIDE R -
PRSI S SEE  TI IR SR S A - RRENTE

B MeERERERNREFLEY -
®  Super high speed, light weight large Through-Hole.
® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.
n o OJMIINARMEEMRAERE - (EER)
W Linear sensor can be attached.(optional)
P |
|
I
N1 ﬂ h
o~ o O:%E 8 g 8 Q—J.N_Z.‘ 7L$J7 87 L w oo g
(o4 S Q 50 ﬁtﬂ SR “MZ' [SIRSIRSIRN]
+ 01
2~Q3 I U 7
Pressure Port M1
e o A
s 4/ ‘ 9
X2/ L
1 vl e 1
(TH-428:RC3/4") | | 3 G2 | | H G1
RC1” Drain Port Eg v E%
EEE | J
@33 | (TH-428:926.5) I K
Dr
A'B
(REIRIEEBAONER
Subject to technical changes
F1li#1& SPECIFICATIONS
BUSR JEZEMIA Eff. piston area TR R LEE oS AR | 58 mRRE
#{8 (Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
9MEIR~F DIMENSIONS
A
Model A B € D E F e e 2 52 H J K L M1 M2 M3
. (h7) max. min. max. min.
TH-428 90 130 120 100 80 40 10 0 35 25 45 1127.5| 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 | 135 | 115 100 48 15 0 40 25 40 118 166 = 6-M10x20 M42x1.5 25 15
o1 02 R
Model N1 N2 P 1 2 T \% w1 w2 X1 X2
ode H8) | (He) o] e B gy | S v
TH-428 M34x1.5| 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 M44x1.5 | 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10
*EXKBRITEBRIEEZSESMHER - *Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 72




’ TR LG 2 oh 22 30 B8 H BR ] BESEEEL

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

SR ERER - BEKI -
RSN F I REBERE  EEREERE
REERAEAR M - AHEKX - HEHIE -

BHZEDARHEZEMA - TRRAEEE -

ORI T BABAT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIf INARME EAL R AR - (EREm)

Linear sensor can be attached.(optional)

o

=z O =

B E=REMRFIR Patent numbers :
£ : PATNO.M491534(Taiwan) / AFE : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
6~V2 W.H = 1]
=
L
ol o8| p| N&JMJ @F O| m
log B o Q| Q
| si8s s &
2x2~Q3 g = f
Pressure Port
@, f:h i
ur |\ u1 4-W2 L =
| 4~We,
e | 1B iy
Drain Port
i J z1
G2 K Gl
I
IREBIRIBISLAIHER
Subject to technical changes Al \_Qr
AR 1& SPECIFICATIONS
RI5R JEZEETE Eff. piston area 72 ReEEY EaEREN | 2 BHRE
— {8 (Extend) HiIfA (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage
ode cm? cm? mm min“(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TR-539 72.4 67.1 15 8000 4.0(40) 0.010 6.8 3.0
TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
TR-853 135.3 125 20 6300 4.0(40) 0.032 1.5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
TR-1291 234 217.5 30 3500 4.0(40) 0.092 29.5 4.5
SMEUR ) DIMENSIONS
A E Gl G2
Model RE | B cC | D F : : H J K L L1 L2 M1 M2 | M3
ID. h7 max. | min. | max. = min.
TR-539 107 | 143 1125125 110 52 15 O 34 19 4 97 | 133 | 6-M10x20 M8x60 12 | M45x1.5 | 25 12
TR-646 128 165 147 147 130 65 15 0 | 34 19 35 | 97 135 12-M10x20 M8x60 11.5 | M55x2 25 13
TR-853 145 185 165 170|130 70 20 @ O | 47 27 45 1185 160 | 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 | 212 190 | 190 (160 95 25 O 52 27 45 1295 181 | 12~M10x20 = M10x85 16 M85x2 85 15
TR-1291 200 | 248 | 225215 180 110 30 O 59 29 5 146 240.5 12~M12x24 | M10x95 16 = M100x2 | 35 15
01 02 R
Model N1 N2 N3 P Q1 Q2 Q3 S T Ul u2 V1 V2 w1 W2 VA AR
H8 | H8 g7

TR-539 M44x1.5
TR-646 M52x1.5
TR-853 M58x1.5

25 | 42 39 (925 65| 26 RC1/4 42 40 103 525 55 53 | M5x8 90 M5x9 RC1/2
25 50 | 46 | 95 5) 32 RC3/8 50 50 116 59 62 615 M5x9 98 | M5x9 RC 1/2
30 55 | 53 114 8 34 |[RC3/8 56 | 50 128 65 67 70 |[M5x10 110 M6x11 RC 1/2
TR-1075 M84x2 33 | 80 | 75 [1235 12 40 RC1/2 81 50 164 83 86 95 |M5x10 155 M6x11 RC 3/4
TR-1291 M99x2 38 | 95 91 | 139 14 45 |RC1/2 96 | 50 180 91.5| 93  110.5 M6x12| 165 M6x12 RC3/4

*EXKBRITEBRIEEFZSEEMEER - *Coolant Collector and Confirmation Device Please See Accessories pages.
73 AUTOGRIP

© | © |0 |
oo oo G




PSRt

ot

P30 L 78 o 8 2 8 H BR (L

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

R & - KSAEEMEL -

R RSB SRS R B R ERR -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder.
Built-in safety check valves and pressure relief valves.

Can screw it from the rear end of the cylinder when mounting.
BMAREBLEB L AEE D RELESE -

The drain port should be independently connected to oil tank to avoid back

pressure.

L2
M =
u— JR—— i —
6~L1 ~
. . A LD R | N1 ]
3 m Bist 7 ||
L 2 I ™|
) stu|w [8)
welo 3 e SR
; g I =
il ‘ N K
- s ~ RC1/4" =7
. Drain Port 3, | | r/| | p —
2~RC3/8" (RK-200:RC1/2")
70 (RK-75:60) Pressure Port #H4L SRS
H G
2-RC12
Pressure Port  455HFL Q P J
JoR
A B S5
= S
;@i Q
RC3/8" ﬁ:
Drain Port 3#5@,~ Dr R
RERAEBEA RK-250
Subject to technical changes —
AR 1& SPECIFICATIONS
Eizh SEZEMETE Eff. piston area 7%2 = aEY EeEAEN I S
- HHRI(Extend) HiI{3l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
ode cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RK-75 44.2 37.1 15 6000 4.0 (40) 0.01 2.9
RK-100 78.5 71.5 20 6000 4.0 (40) 0.03 4.4
RK-125 122.7 113.1 25 6000 4.0 (40) 0.05 6.9
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 3141 290.4 35 5500 4.0 (40) 0.28 154
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
HMEUR <) DIMENSIONS
= G G M
Model A B © D1 | D2 () F e H J K L L1 L2 (H8) N N1 P Q R S
RK-75 75 15 107 90 90 65 | 30 | 45 | 30 57 148 M20x2.5  6-M8x16 M8x60 | 12 21 35 5 415 10 |27.5 26
RK-100 100 20 | 132 /115 /100 80 | 30 | 45 25 72 163 M20x2.5 | 6-M10x20 M8x75 | 12 | 21 | 35 | 5 [39.5 10 28.5 32
RK-125 125 25 160 140 130 110 | 35 | 50 | 25 82 172 M24x3.0 | 6-M12x20 | M8x85 | 12 | 25 45 5 38,5 10 28.5 32
RK-150 150 | 30 | 190 | 170 /130 110 | 45 | 55 25 95 184 M30x3.5 | 12-M12x24 M10x100 16 | 32 45 5 | 37 10 285 32
RK-200 200 | 35 | 245 /220 145 120 55 | 70 35 115 201 M36x4.0 | 12-M16x30 M10x125 21 1 38 60 5 | 38 6 285 28
RK-250 245 60 307 275 220 160 65 85 | 25 165 255 M42x3.0 @ 12-M20x35 M16x175 28 45 65 | 12 33 | 18 | 6 -

AUTOGRIP 74



0 & 300 B 5 [BR T ]
ROTATING HYDRAULIC CYLINDER

o A . EiR - ESAVDEHE -
o LHERUMBEKEEL -
®  For short form, light weight and high speed rotary cylinder.
® Can screw it from the rear end of the cylinder when mounting.
B EMAREBLERELDHEE  DUBESELEE -
B The drain port should be independently connected to oil tank to avoid back
pressure.
=
I =
2 6~L1 T
N g I
1 ~ A:1.D. A& N1
AB D 2 Bist 72 || T
A Sl w o
1 N \J I @] Q Q [m) 5 g
g Y — 1 Q Q
r N K
RC1/4" ]
Drain Port S85H7L
2~RC3/8"(RK-200N:RC1/2") 5 L
(RK-75N:60) Pressure Port #4387 —
‘ 77.5(RK-250N:90) H G
J
REFIEEBIER
Subject to technical changes
$1ii#1% SPECIFICATIONS
il SEEMEME Eff. piston area 1752 o DEg e EREN I 52
{8 (Extend) HiIf8l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
RK-100N 78.5 71.5 20 6000 4.0(40) 0.03 4.3
RK-125N 122.7 113.1 25 6000 4.0(40) 0.05 6.8
RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 3141 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2
4R ~T DIMENSIONS
E G G M
Model A B C D1 D2 ) F lmax| min.| P J K L L1 L2 (H8) N NI P QR
RK-75N 75 15 107 90 90 | 65 | 30 45 30 57 134.5 M20x2.5 6~M8x16 M8x60 | 12 |21 35| 5 28 10 275
RK-100N | 100 20 132 115 100 80 | 30 45| 25 | 72 1495 M20x2.5 @ 6~M10x20 | M8x75 ' 12 21 35 5 26 10 285
RK-125N | 125 25 160 140 130 110 35|50 25 | 82 |159.5 M24x3.0 6~M12x20 | M8x85 | 12 25 45 5 26 10 28.5
RK-150N 150 30 190 /170 130 110 45 55 25| 95 1725 M30x3.5  12~M12x24 M10x100 16 32 45 5 26 10 28.5
RK-200N | 200 35 245 220 145 120 55| 70 35 |115|/192.5 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285
RK-250N 245 60 307 275 220 160 65 85 | 25 165 255 | M42x3.0 @ 6~M20x2.5 M16x175 28 45 65 12 37 18 6

75 AUTOGRIP



il
Bt
[
il
e

Ch 8 30 55 B ]

ROTATING HYDRAULIC CYLINDER

A RH

LEEREIRERATAKSSREMNR - E2K -
DERSRRRE - FEANNEARERDREE LA - MASM SR
e . EESS -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

®  Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B EMAREBLERELDHEE  DUIBSELEE -
@ The drain port should be independently connected to oil tank to avoid back
pressure.

L
4
/ A:1.D. RTE T N T
~ B: St. 1712
@Eﬁﬁ A'B . Dr mﬁ E[u_ wialo
\\@E@/ QL JHM AT
RC1/4”
Drain Port J#JHFL ‘ Q IR \'S 10
| < 13(RH-200:14) E’;:ssure Port #307L
6
60 102 H G
J
ot o tonica changes
K iili#31% SPECIFICATIONS
L JEZEHETE Eff. piston area 712 ReOEE e EHEN | B8
818 (Extend) HI{8(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29
RH-80 47.7 42.8 15 6000 3.5(35) 0.01 34
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
SR <) DIMENSIONS
Model A B Cc D (hE7) F m(asx' m(isn. H JJ K L (}—’\(:3) N P Q R S|
RH-65 65 | 15 98 80 | 60 | 22 | 45 30 73 175 | M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 112 90 65 25 | 45 30 74 176 | M16x2.0x30 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 135 /100 80 | 25 45 25 885 1905 M16x2.0x30 | 6~M10x20 & 17 4 RC3/8 30 15 45
RH-125 125 25 160130 110 30 50 25 955 197.5 M20x2.5x35 @ 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145|120 55 70 35 130 232 M36x4 12~M16x30 | 38 5 RC1/2 31 16 43

AUTOGRIP 76




il
et
[
tB
i

Ch & 30§31 28 [BR ]
ROTATING AR CYLINDER

RA

DEEREIRERATAESSREMNR - E2K -
LEEALRRRT  EFEREERNEREASRY)  ROBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

B EAF BREAMERNEE -
B When used, a little oil mist should be contained.

L
A: |.D.AE
|/
=
/ %\?\ Al i
— AT S w] w g o] @
S ! I B— Q) Q] Q] Q| Q
o}
® j L K
i ISt ~
13!13 / Als 36.5
! N
,,,,,,,, Silencer 2~RC1/4”
r HERR Pressure Port
\ Badl
60 | 95 H G
i J
TREBIRBISHIER
Subject to technical changes
Fli#1& SPECIFICATIONS
itk JEZEEIE Eff. piston area 72 ReaEEY EaEREN 1 B8 ERBRE
18 (Extend) HIfAl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight | Air Leakage( 6kgf/cm?)
Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg cclsec
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
SMEUR <) DIMENSIONS
Model A B c D E F € € H J K L M (H8) N
(h7) max. min.
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

77 AUTOGRIP




o RS

B3 L 7817 72 122 | BU 30§55 BR ]

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

SpEyEES

confirm when operating.
®  Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.

B ORMAREBNEBERMEE  DIERELESE -
B TESAEEBUENRREEURAEE - (M)

I The drain port should be independently connected to oil tank to avoid back pres-

sure.

B S - TIEEHIENEE R -
BTV ERRE - TRERAEES - AR IEEES -
AR |78 B R A JBR )8 B -
ZERRIBEIREE -
For short form, high speed and stroke control.
With proximity sensor , the movement of the position is easy to adjust and

[ Stroke Detection Type can be customized to Linear Positioning System.

\'j‘\j\ L)
37
&\ c 6~L1 L2
> or 1 AB S
\ A:l.D.@j 5 -]
\y j( B:StL 72 ;*
_ A‘F::H?tu_ wl N 8l o
L‘ \L g ] SRS RS RSIRSRS]
" : LN
RC1/4 I _n
Drain Port 33l I &5
27(RS-200:29.5) T1o 5| L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #5#7L 3
RS-200 RS-75,100,125,150
RBIRIEIELRORER
Subject to technical changes
1T #31E SPECIFICATIONS
il JEZEMETE Eff. piston area 7' BeEEY ReEREN | =
Vodel 818 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
ode
cm? cm? mm min*(r.p.m.) MPa(kgficm?) kg:m? kg
RS-75 43.0 37.1 15 6000 4.0 (40) 0.01 34
RS-100 77.4 71.5 20 6000 4.0 (40) 0.04 4.9
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
MR~ DIMENSIONS
E G G M
Model A B © D1 D2 ") F . H H1 H2 J K L L1 L2 (H8) N
RS-75 75 | 15 {107 90 90 | 65 | 30 | 45 30 57 | 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 50 | 25 | 82 | 41 144 | 226 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 b55 25 95 39 142 237 M30x3.5 12~M12x24 | M10x100 16 32 45
RS-200 200 35 245 220 145|120 55 70 | 35 | 115 34 1425 257.5 M36x4.0 12~M16x30 | M10x125 21 38 60

* 3 #ERHRE : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 78




Py SRt

il

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

’ RS-N /T2 2 s ]

R & - [TREEHIVDE R -

RIETVA R - TR2RESS - OIfERUME EEES -
ZREUHEREEZ -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

B OORHAREBVEBERMEE  DBReELEE -

B TERAEETIENSREEMN RS - (F/5Hm)

B The drain port should be independently connected to oil tank to avoid back
pressure.

I Stroke Detection Type can be customized to Linear Positioning System.

==
A:1D. FE
B:St. 1712
- @L 88
Drain Port 5#3#7, ==
10 SN
2-RC3/8"(RS-200N:RC1/2") | 1314%S-200N:134.5) H G
RS-200N Pressure Port 4437, ;
Sbiect 1o el changes
i1 SPECIFICATIONS
L JEZEMIE Eff. piston area 712 ReOEE R EHEN | B8
818 (Extend) HI{8(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 3.3
RS-75N 43.0 371 15 6000 4.0(40) 0.01 3.3
RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
RS-100N 77.4 71.5 20 6000 4.0(40) 0.04 4.8
RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 78
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
ShE R~ DIMENSIONS
Model A B © D1 D2 (rlé) F mg)(- m(izn. H J K L L1 L2 (IYB) N
RS-6520N 65 20 97 80 80 60 25 45 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 30
RS-6530N | 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 | 107 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N 75 30 107 @ 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 | 21 | 35
RS-100N 100 | 20 | 132 115 100 | 80 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 | 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x3.0 6~M12x20 M8x85 12 | 25 45
RS-150N 150 | 30 190 170 130 110 @ 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200N 200 35 245 220 145 120 55 70 35 | 115 | 249.5 | M36x4.0 12~M16x30 M10x125 21 | 38 | 60

* 3 #FIRA - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

79 AUTOGRIP



RL PR30 | 1 [ 0 7K B 3 88 5Eh R T e

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

SR - EKEEEHEL - ol AREBRAATIHIK -
PRI LS B SRS R R R B -
To allow coolant to be feed from the rear end of the distributor through the
rotating union
®  Built-in safety check valves and pressure relief valves.

B EMAREBLERELDHEE  DBSELEE -

B OIKEERSRAR  BFYEE -

@ The drain port should be independently connected to oil tank to avoid back
pressure.

B The rotary cylinder should not run without liquid through coolant port.

6~L1 *’L_z‘«
o E ==
RC1/4" @ b _
Coolant Port KL — g\ lSItD ?E 8
ﬁ St 7 *Hf
mhE ‘ — N| =
T e alal Q
() o T ] SISIRS
® Tl |
[ mATod L
RC1/8" f
Coolant Drain Port 387Kf.
- 20 H1
T
RC1/4” 5 L
13,13 Drain Port 7, 10 N
60 Ci. H2 H G
1 I~ J
(
A
_ 2~RC3/8"(RL-200:RC1/2")
C-Dr AH Bi Dr Pressure Port #8587,
PV Limit value 14400 MPa-r/m -
PV [RHIE
RBWASEANET)
Subject to technical changes
K Ali#1& SPECIFICATIONS
RigR JEZEMFE Eff. piston area 712 B OEE R EREA KIS EREN | B8
Vodel {8 (Extend) HiI{8(Retract) Piston stroke Max. speed Max. pressure Co'&l::'t groensr;ifgon Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg:m? kg
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1
RL-100 77.0 71.5 20 6000 4.0(40) 3.5(35) 0.04 4.6
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
4MUR~T DIMENSIONS
Model A B © D1 D2 (5) F |Gmax. Gmin. H H1 H2 J K L L1 L2 (I-’::i) N
RL-75 75 15 | 107 | 90 20 65 | 30 45 30 57 | 42 | 137 | 194 | M20x2.5 | 6~M8x16 M8x60 12 21 35
RL-100 100 | 20 132 | 115 100 | 80 @ 30 45 25 72 | 42 | 137 209 | M20x2.5 | 6~M10x20 M8x75 12 21 35
RL-125 125 | 25 160 | 140 130 110 35 50 25 82 | 41 | 136 218 | M24x3.0 | 6~M12x20 M8x85 12 | 25 | 45
RL-150 150 30 190 170 | 130 110 | 45 55 25 95 39 134 230 M30x3.5 | 12~M12x24 M10x100 | 16 32 45
RL-200 200 | 35 | 245 220 145 | 120 @ 55 70 35 | 115 36 | 132 | 248 M36x4.0 12~M16x30 M10x125 | 21 | 38 60

Autocrip 80



’ RL-N yE 7K B 300 68 5 ER L SRS

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

2R - TKIVEEHER - o EREIREATIHIK -
ZRFOREIREE 2 -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

B EMAREBLERELDHEE  DBSELEE -

B OIKEERSRAR  BFYEE -

@ The drain port should be independently connected to oil tank to avoid back
pressure.

B The rotary cylinder should not run without liquid through coolant port.

L2
6-L1 »ﬁ«

- RC1/4" = ‘
Coolant Port 7£7K4L ALD.E ) g T
B: St. 1772 '*H$
s iy . e
NI ) (] I st w N| =
N = 1 \\M®1®g008
© | — Q| Q
[sp] i #, L i | j\l N K
R m o w N
RC1/8" ] ‘ .
Coolant Drain Port J87K%L —
< 20 28 S
T
RC1/4” 5
B8 Drain Port AL 1/24 . 10 y ~
60 .
C| J
( 2~RC3/8'(RL-200N:RC1/2")
A Pressure Port #3578 7L
C-Dr I \\
PV Limit value 14400 MPa./m A B | Dr
PV BRHIE
REBBERRT
Subject to technical changes
K Ali#1& SPECIFICATIONS
RigR JEZEMFE Eff. piston area 712 B OEE R EREA KBRS EREN | B8
Vodel #{8 (Extend) HI{8 (Retract) Piston stroke Max. speed Max. pressure CO&S:T;;ZZE?SM Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgficm?) kg:m? kg
RL-75N 42.6 371 15 6000 4.0 (40) 3.5(35) 0.01 3.0
RL-100N 77.0 71.5 20 6000 4.0 (40) 3.5(35) 0.04 4.5
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 312.5 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
4R ~T DIMENSIONS
Model A B © D1 D2 (hE7) F |G max. G min. H J K L L1 L2 (P:AS) N
RL-75N 75 15 107 = 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 | 21 | 35
RL-100N 100 | 20 | 132 115 100 | 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 | 21 35
RL-125N 125 | 25 160 | 140 130 110 | 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 | 25 | 45
RL-150N 150 @ 30 190 170 130 110 45 55 25 95 | 218 M30x3.5 12-M12x24 M10x100 16 | 32 45
RL-200N 200 | 35 245 220 145 | 120 @ 55 70 35 115 | 240 M36x4.0 12-M16x 30 M10x125 21 38 | 60

81 AutoGRrIP



RL-AN 7+ 5 A0 38§85 BR ] Ptk
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

R OTREEHEL - o EAHERRAER -
ZHEFBOREIREE -
® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.
n EAR ARANMENHEE -
B IRAEKEEAR  F7EE -
B When used, a little oil mist should be contained.
W The rotary cylinder should not run without air passing through the air
port.
6~L1 *’Er
\k_‘\ I 1
- L
RC1/4"
Air Port i £&7L A:LD. A ] ) I
B:St. 718 |l .
I =
- — [l STul ) o) =
13— SIS aalQ
© }‘ / 1 - 1] SIRSIRSIRS
” T@y 'F:‘ :37" = 1IN \L(
ROLA 7
Drain Port 8 #4L 57 28 =]
2~RC3/8"(RL-A200N:RC1/2") | 10 5 N
Pressure Port #3H7, 109.5 H G
J
-3
A B L Dr
(RSB
Subject to technical changes
i 1& SPECIFICATIONS
Eidl JEEEM Eff. piston area 718 BeEEY BeEAEN ERSRSERES I B8
. Air connection — .
odel #{3 (Extend) HiI{8l(Retract) Piston stroke Max. speed Max. pressure s, R Moment of inertia Weight
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RL- A75N 42.6 37.1 15 6000 4.0(40) 0.8(8) 0.01 3.0
RL- A100N 77.0 71.5 20 6000 4.0(40) 0.8(8) 0.04 45
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5
9hNEIR T DIMENSIONS
E G G M
Model A B c bL P2 v F ek mn | M J K L L1 L2 g N
RL- A75N 75 15 107 90 90 65 30 45 30 57 166 M20 x2.5 6~M8x 16 M8x60 12 | 21 | 35
RL-A100N | 100 20 132 ' 115 @ 100 80 30 45 25 72 181 M20 x2.5 6~M10x20 M8x75 12 | 21 | 35
RL- A125N | 125 25 160 | 140 130 | 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 | 25 | 45

RL-A150N 150 30 | 190 170 130 | 110 | 45 55 25 95 | 204 M30x3.5 12~M12x24 M10x100 | 16 = 32 45

RL-A200N 200 = 35 245 220 145 | 120 @55 70 35 115 225 M36x4.0 12~M16x30 M10x125 | 21 = 38 | 60

AUTOGRIP 82



RC 2000 828 137 §E 9 43 U 200 B H [BR 6 RSN B
HYDRAULIC CYLINDER WITH ROTATING JOINT

o POEBBIEHEL -

o WEFEBEAWESEHEE  ABBRATRARP L HKOER -
o RWEIMEBIE -

o TERRAEMENAIELERARETTRE -

[ ]

Center through-hole hydraulic cylinder, suitable for horizontal CNC lathes..

® Can choose an external rotary joint with either single or double paths.

® |t meets the demand for coolant through spindle and airtight pressure detect
function.

®  Has a buil-in check valve for safety.

®  Stroke control via proximity switch or linear positioning system.

N AERBRIMNEERENEREDERRSEESR -
@ The proximity switch and single or double paths rotating joint are optional.

6~L1 L2

20
10 - j}
Q &4 5
Q
A

@

H

@ >

25

=]

2~R
Pressure port A,B
SHFLAB

wal s

=3

@ 110
@56 H6
@38
@ 24 H7

oM
oF
oE
@D
ac2

R |

=yl —Tiim

235
Q P
H
G2 J Gl
ot chrca ehanges
iif#iHE SPECIFICATIONS
RigE SEZEMAE Eff. piston area iy BReOEE BeEHARN | B8
#{8 (Extend) HiI{8(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgflcm?) kg-m? kg
RC-85 43.8 48.1 20 5000 3.5(35) 0.01 6.8
RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
RC-125 109.8 108.5 25 5000 3.5(35) 0.03 1.1
RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 35.5
§hEU R~ DIMENSIONS
Model A B C1 Cc2 D E (h7) F G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150  M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 | M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 | M30x1.5
RC-145 145 30 187 183 165 110 50 b5 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 222.5 | M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T1 T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 1 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

83 AuToGRIP



’ RC 30§81 132 A 9 132 A0 70 900 BR R D8 0 5

HYDRAULIC CYLINDER WITH ROTATING JOINT

o OEEBATHEMBALRILN -

® Rotating joint and Proximity switch with bracket type.

F-I BERX - BiEE F2 BEN  &i\E
With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

M1 wE  BERE M2 wE  ®RE
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

Inner Outer|

B AMERREIANSI IR S TR AR

linear Sensor with bracket Proximity switch with bracket

s
pii
o)
=
ill

R PO A S S - * The proximity switch and rotary joiint are optional.
* OEERTS BRI MR - * Choose and attach the appropriate type.
* FRR BN E R T SRR - * Please contact AUTOGRIP for more detailed drawing.

AuTOGRIP 84



TR A B oh BT R AT (— ) samn
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - SRS R ERE] -

REZYIFE B SRS BB R TEERIERE -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

ORI SN BB ERONHEE - DBRREESE -

TRBAEBUENARUEEULRGAHE - (FT&m)

@ The drain port should be independently connected to oil tank to avoid back
pressure.

W Stroke Detection Type can be customized to Linear Positioning System.

2-RC3/8" 45 ; =
Pressure Port A,B P Th——"F pd
ML AB HE- A:|l.D. ?_W;n: N K
B:|St. 1712 /
[ IR y.d
s ) AT st ul w g o
g W \Ri a[ S 8 § 8
5
15
] !
| [a2s (] ; ]
RC1/4" v = Y
Drain Port NL
B, H L1
I J G
Drf AB
RBIUBISTRHIHER
Subject to technical changes
K Afi#1& SPECIFICATIONS
itk SEEMEME Eff. piston area 1152 ReEEY BeEREN I =
#8{3(Extend) HiIfAl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
SR <) DIMENSIONS
© G G M
Model A B ") D E F — — H J K L L1 (H8) N
RE-110 110 20 145 | 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 | 21 | 168 | 145 | 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 85!
RE-130 130 | 30 | 168 | 150 | 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 40

* 3#2BARH - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuToGRIP



SRR SEIPEEEHET () R E
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

i RE

S - KERSHPEMERL - FRESERRIAER -
REZYIFE B SRS BB R TEERIERE -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

RHAREB M EBEOREE  DIBRELEE -
TRBRABBIENREEEMRARE - (F&M)

The drain port should be independently connected to oil tank to avoid back

pressure.
Stroke Detection Type can be customized to Linear Positioning System.

L2
|
T ]
] ]
5 | _
_ K
S 1.D. A
712
_ =|w|w 8 o
CIESIRSI
1
M1
N |
\uﬁg
2~RC1/2" 12~L
Pressure Port A,B
4amfL AB
(RE-150:2~RC3/8™)
H G
RC3/8” o J
Drain Port J8HFL
(RE-150:RC1/4™) f
Dr A A B
RIS IS T
Subject to technical changes EF:
Fi i #31& SPECIFICATIONS ﬁ
BR
RUSR JEZEHETE Eff. piston area 152 R=EEY EaEREN | - LE
1848 (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight i
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg ill
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 304
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
9hNEIR~F DIMENSIONS
= G G M
Model A B © D1 D2 () F — i H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 205 180 130 110 45 | 60 30 99 177.5| M30x3.5 M12x24 M12x105 185 32 | 10 50 125 114
RE-200K | 195 35 257 225|145 120 55 73 38 | 120 239 | M36x4.0 M16x30 M16x130 27 38 | 12 65 15 150
RE-200L 195 50 257 225 170 125| 65 80 30 | 135 254 | M42x3.0 M16x30 M16x145 27 45 | 12 65 15 150
RE-250 245 60 307 275220160 65 85 25 | 165 280 | M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3 #%B9%8 : DC 10-30V 100mA NPN - *Proximity sensor

: DC 10-30V 100mA NPN.

AuTOGRIP 86



T A AT IR (— ) s
COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR BRERSINIREENRL - JEARBRHRAER -

R B SR - RERERTEERIIEREAE -

ZEF O HEREE 2 -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

RSN BB ELOHERE DB RELESE -

R BEAMEBRHTE -

TRBAEBUEBLSRUEEULRFEE - (FT&Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

Tl
U Ih—"— Ab.&E | N K
| HE B: St. 772 a
< | [ -
- 1D N 2} wiw ol o
sl W L] ste,8 a8l &
8
- i
|
1
L85 1 ===
12.5
H L1] LL
2~RC3/8"
Pressure Port A,B J G
#omILAB
RIS ISR T
Subiject to technical changes
Ai#R1& SPECIFICATIONS
itk JEZEHETE Eff. piston area 72 ReaEE EaEREN RS EREN I Ed
. Air connection — )
ol {8 (Extend) HiI{8)(Retract) Piston stroke Max. speed Max. pressure N S Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
SMUR~T DIMENSIONS
(03 G G M
Model A B (h7) D 1= F TR — H J K L L1 (H8) N
RE-A110 110 20 | 145 128 @42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 | 21 | 168 145 42 29 60 39 695 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 | 30 | 168 150 @ 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 43

* 3E#EFIRA - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP




COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

’ RE-A FAESEIRIOEMHER () —

o SR KSESIWIRUEHRI  JEREREAEZSR

o RNEYIFABHEEE REMRTEEGIIERRA -

o ZRISUHERHEEYZ -

®  For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.

[}

Built-in safety check valves, pressure relief valves and proximity sensor.
1 ® Can screw it from the rear end of the cylinder when mounting.

SHRALEC BN BB ELOUHERE DB RELES R

R BEAMEBRIHTE -

TRBAEBUEBUASRUEEULRFEE - (F&Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

L2
1 1
5
K
g - 7
2 A: 1.D. A 1
o 2 : 25wl 5 o
S o B St 722 | A ISR STRS
= T
£ N »L«
lil=— —
2~RC1/2" iy g {
Pressure Port A,B p 12~L
#aH7L AB o
(RE-A150:2~RC3/8")
RC3/8" Air H G
Drain Port 27, —1O0g3 ‘
(RE-A150:RC1/4") J
RC1/4"
Air Port JERAL I
(RE-A150:RC1/8") prl AB

REBRBE LT

Subject to technical changes .
1% 1li#318 SPECIFICATIONS ,JB;
it JEEHEM Eff. piston area 718 REEEY R ERES EREERSERES I E8 %
—_— {8 (Extend) HI{8) (Retract) Piston stroke Max. speed Max. pressure g;;og::?iﬁg Moment of inertia Weight %
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg ill
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 291
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 304
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2

ShEY R <t DIMENSIONS

E G G M
Model A B C | D1 D2 7) B e | H J K L L1 L2 (H8) M1 | N P Q

RE-A150 150 30 205 180 130 110 45 60 30 | 99 | 177.5 = M30x3.5 M12x24 M12x105 [18.5 32 10 | 50 12.5 114

RE-A200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 | 27 38 12 | 65 15 150

RE-A200L 195 50 257 225 170 125 65 80 | 30 135 254 M42x3.0 M16x30 M16x145 | 27 45 12 | 65 15 150

RE-A250 245 60 307 275 220 160 65 85 25 165| 280 M42x3.0 M20x35 M16x175 | 28 | 45 12 65 15 | 150

* 3142 39R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 88



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE-L EE%SELCOMBRG (—) B

SR KERSIVT/KEEMEL - JARBREATIHIK -
NZY B EE BB TEEIERE -
ZEF O REREREZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

R BN BB ELOHERE DB RELESE -

FEKERERASEIBN - BYEHE -

TRBAEBUEBUASRUEEULRFEE - (F&Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8”
Pressure Port A,B

#msLAB

I = L
B | [T N k
ﬁ -
3 ALD. RS- L LIz
= ) AE- AT =T alo
g 10|V Bs{aR Ll T u g
|
m 8
(nl % 15
i
—_ 1
Coolant Drain Port ‘ 4 1= __];E
JEIKAL H L1 L
235 125 | N
RClat RC1/4” . ©
Collant Port 3E7KFL Drain Port #8387,
IREBRBIERAER
Subiject to technical changes
1ii#1& SPECIFICATIONS
Bigg JEZEHETE Eff. piston area 772 REOEE EafEREN KB e S R I B2
18 l(Extend) HiIffll(Retract) Piston stroke Max. speed Max. pressure Co’\c;llant BUIIEEaT Moment of inertia Weight
Model ax. pressure
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 123.1 30 6000 4.0(40) 1.5(15) 0.03 9.5
4R ~T DIMENSIONS
© G G M
Model A B O7) D £ F TR .. H J K L L1 (H8) N
RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38
RE-L130 130 30 168 150 50 33 60 30 79.5 | 1815 M24x3.0 6~M10x85 17 27 43

* 3142 39R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

89 auToGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE-L B/ KimmmERE () ARNED

o B KSEGILI/KEEHERL - tAREBIKRHEATIHIK  SRESER
JiNAVA=W==17 )
NZY B EE BB R TR ERE -
ZREUHEREEZ -
For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.

®  Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SRALEC BTSN BB RO ERE DB RELES B

EKERERASEIBN - BYEHE -

TRBAEBUEBUSRUEEURREE - (FT&Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5x8 6% L2
1 ]
2~RC1/2" 5
Pressure Port A,B
#5MFL AB
(RE-L150:2~RC3/8") K
< . = 7
/ﬁ*\g 5 Z A.|.).W1Iﬂ STulylal =
7 Q| || I B St A2\ SHSISHSIESIES)
R
b &l | NIRELL
RC3/8” 1  —
Collant Port 3E7KFL | e L
T P N B 12~L
1LP —
RC3/8" 25 H G
Drain Port JE;Hf,
(RE-L150:RC1/4") J
RC1/8" )
Coolant Drain Port 87K HB
RIS SRR
Subject to technical changes Jo
I
i1 SPECIFICATIONS H
_ - . N . BR
itk JEEHETE Eff. piston area 112 ReOEg =aEREN FKEEREEREN | ES %
{8 (Extend) HI{8)(Retract) Piston stroke Max. speed Max. pressure Co'alant CENCEHET Moment of inertia Weight [
Model ax. pressure =
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg il
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
SMUR~T DIMENSIONS
E G G M
Model A B © D1 D2 O7) F ey H J K L L1 L2 (H8) M1 N P Q
RE-L150 150 | 30 205 180 130 110 45 60 30 | 99 201 M30x3.5 M12x24 |M12x105 18.5| 32 10 50 12.5 114
RE-L200K | 195 35 257 225 145120 55 | 73 | 38 120|264 M36x4.0 M16x30 |M16x130 27 38 12 65 15 150
RE-L200L | 195 50 257 225 170|125 65 | 80 | 30 | 135|279 M42x3.0 M16x30 | M16x145 27 45 12 65 15 150
RE-L250 245 60 | 307 | 275 220 160 65 | 85 | 25 165 305 M42x3.0 M20x35 'M16x175 28 45 12 65 15 150

* 3 #ERARA - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

autocrip 90



B 255 |- RS €& 42 B B 8% 6 BR ]
DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

@
[ui
e

o g . WS . ERAVEEHET -
o ARSI B SHIEE KB TR R -
®  For short form, light weight, double rod rotary cylinder.
®  Built-in safety check valves and pressure relief valves.
B EMAREBLERELDHEE  DBESELEE -
@ The drain port should be independently connected to oil tank to avoid back
pressure.
Cylinder A Cylinder B 6~M12x1.75x24
] {
A: 1.D. Bf& ﬂ
p M42x1.5
. (&L
B: I.D. A1 ‘35ﬁ;,
‘ L M20x2.5
1 \\ ] Fn%ﬂ ~
== ABLDr — 8 a8 s s
|G- L ‘Q_ Qy Q :: g ,®_
3 g == 8
RC4" ! 35
1313 Drain Port 884l 2 40.5 5|
0 —1
] 2-RC3/8"
60 Pressure Port #25H+L 90 C F
D E
REBBIER R
Subject to technical changes
Fi i #2148 SPECIFICATIONS
SEZEETEES. piston area
itk 718 REOEE EeEREA I 3]
818 (Extend) HIf8 (Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min“(r.p.m.) MPa(kgf/cm?) kg-m? kg
RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 1.5
9hNEIR~F DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

91 AuTOGRIP




£ 157 2030 §5 5 BR 1
DOUBLE ROD ROTATING CYLINDER

o Y. WS . BRRVEEHEG -

For short form, light weight, double rod rotary cylinder.
MAREBLEREODEE  DBtELEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

Cylinder A Cylinder B 6~M12x1.75x24
. TR -
A LD P {% M42x1.5
B: I.D. A& 35‘;’
T o L M20x2.5
W@W A B |Dr H == ~
o 0 O
—) — © / Q3 o ¥ K
——] IS [ m— S = ISR
g i L%;u Q
L RCl4" o | 35
Drain Port ##Hf 9 o8 51
1313 =45 =l
] 2~RC3/8” R
Pressure Port #5#7FL 77 C F
60 D E
REBFRABIEL R
Subject to technical changes
i3 1& SPECIFICATIONS
EZEEFEES. piston area
itk 718 REOEEY REERESN | B8
813 (Extend) #Ifl(Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RD-120N  122.7 @ 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.2
RD-125N | 122.7 @ 126.1 | 116.1 113.1 25 5000 3.0(30) 0.15 1.4
SMEIR~F DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 35 10

AuTOGRIP 92




SR

i BRI B ) )7t
HYDRAULIC ROTARY VALVE

o BHET{FE IR MBI REESRME -
o OHEFIAMARIRET - FREEMOEKNES) - BAERME -
o BRI  EIRFEHIFKREE -
o |IBATEE - o2 RIESIFKREE -
® Rotary valve is used for clamping cylinder on rotary table.
®  Through unique design, it can make the rotary housing be rotated light force
and is free from oil leaking.
® | Type is a single circuit which controls the clamping.
® |l Type is a double circuit which separately controls the clamping.
B RV AR ARER N EBERRE DR ERESE -
M The drain port of RV type should be independently connected to oil tank to
avoid back pressure.
4~M8 2x4~RC1/4"
Screw hole Distributing port
, o BEal pARiv:iEiY 4~M8x11
L
= : ‘ — RC1/4”
“ﬁ% %ﬂ =" 1 prainport mmn
3 5 —b-&—
Q < Q
° SEE
44 1=
— } 1
’E];*
5 12\ 405 | 25 18 | suprcii
T 7 @
136 Pressure Port #4587 I I
TREBIRBISHIER]
Subject to technical changes
1 1ii#31% SPECIFICATIONS
BER DIRE EaEREN 2
e Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-31H 40 (IR 4.0(40) 7.4

RV OJRHES - (Note:RV can be custom-made.)

’ RV-A ZE [ER 5[ 82 7 7

AIR ROTARY VALVE

4~M8 2x4~sc1/4”
Distributing port
%g;gv}\thole A g p
T 2~M8x11
[ |
o| T 71 L <
Tl s O-©& 2
Q 8 N2 *ﬂ‘ Q
O P
[ =
1 f 2(4)~RC1/4"
BEEp Pressure Port 454l
5 12L 37.5 25 18
125 I II
REABG SRR
Subject to technical changes
1T #31% SPECIFICATIONS
BSE DRE EeERES B8
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-A31H 40 (IR 0.8(8) 4.8

i1 RV-A TJIEEEE! - (Note:RV-A can be custom-made.)

93 AuTOGRIP



A RI-80 PmEEm
COOLANT ROTATING JOINT

SEE  SEHRLAREEREE -

AE L KEERBES S RIEZERERRKY - WERSMHE -

Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics, which provide

4. ’V/ higher wear-resistance.
e KBRS EBRE - BEE -

M The joint should not run without liquid through coolant port.

M16x1.5 LH =5

Y (or 5/8-18UNF - LH)
3 S8
/ 5
NN g heh 2
%\j{/ ) il - i N
‘ \
RC1/8"(D
©n) O [:] | 19
45— " 30| | 1125 15
o8 RC1/4"(IN) 21 65
122
IREBRIBIELRIMEF] Subject to technical changes
e AiA & SPECIFICATIONS
RigR PVER#I{E MPa: r/m &= 1 F B IMPa(kgflcm?) Mt & (EFEA 50 kgflcm?) B EHEEE (rp.m.) B8 (kg)
Model PV Limit value MPa- r/m Max. pressure MPa(kgf/cm?) Delivery amount (at 50 kgf/cm?) Max. speed (r.p.m.) Weight (kg)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

’ RJ-92 ~AlRE\ZEAAMILKEESEIFER R

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

SR EIER - BE8KI -

SEEY  SEIRLAREERERE -

RELEKEERBES S RIBTHERRY - MERERE -
BEEGMETREES AIIEKEEERE  £IEKEAREZEMEE -

Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics,which provide
higher wear-resistance.

® The seal will depart automatically if no liquid passes during,operation, and will not
be dmaged due to dry touching.

m H/EUEES 4kgficm? -
M Min. pressure is 4kgf/cm?.

o}

(o)}

S M16x1.5LHAEF

8/ osowm

|/ 280uh
R i 7377 = {f\}
. A= Y

ARl ; 1
RC1/4(IN) 9| 242 RC1/80Dr) |-2.. 185
98,5

IREBIRIBIE U AT Subject to technical changes

Fli#1& SPECIFICATIONS
BISR PVIRHIE MPa- im | REEMES MPakgiicm?) | IS (EFAES 50 kgflem?) | HSEMEEH (p.m.) H/BEIES MPakgiem?) | E2 (kg)

PV Limit value Max. pressure Delivery amount Min. pressure .
Wizl MPa- rim MPa(kgffcm?) (at 50 kgffem?) v s (i) MPa(kgflcm?) Weight (ko)
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

AuToGRIP 94



LSS WAl
’ GFS-100  (:ilicrorct sensor

EX 5.0 BHIBTE  HARMNES 5.0 &%ilf - BARBEEFENZEY -

Type-C REBEF] | Z18 Type-C RE - BAEFENEEE -

SHEEEEN  BRUERNEMKRE  BLELFPEZELCESHE -

218 Android 1 i0S : R 8 FIRYZ Android 322 i0S %4t - GFS-100 E35E$0

TERD - ENEERE -

o OJECE 2 MEL 3 TUE(F | RBENERTEK - GFs-100 I ISR ER 2 MK
3 TURIE - R ERAVENY -

o IR E—HKHE EORRE (GFS-100) A5 KA 35 71 EURI 2] (GFS-100)APP
ABEHA -

o i0S %% : Applei0S 16.1.2 RRALL _E - Android 2 %% : Android 12 fRZASSEL L -

® Stable Bluetooth 5.0 Transmission: Equipped with the latest Bluetooth 5.0
technology, ensuring stability in wireless connections.

® Convenient Type-C Charging: Supports Type-C charging for added
convenience in recharging.

® High-Performance Lithium Battery: Provides a longer-lasting battery life,
eliminating concerns about power during work.

® Supports Android and iOS: Whether you use Android or iOS systems, the
GFS-100 is perfectly compatible, offering a seamless experience.

® Configurable for 2-Jaw or 3-Jaw Operation: Based on your specific needs,
the GFS-100 can easily be configured for either 2-jaw or 3-jaw operation,
providing greater flexibility.

® Note: The first-generation gripping force sensor (GFS-100) and the second-
generation gripping force sensor (GFS-100) APP are not compatible and
cannot be used interchangeably.

® jOS System: Apple iOS 16.1.2,Android System: Android version 12.

aG

] DA - 52 RI8E Short
s| T——— —t——1h 8 @B - SHAEE Middle
i @C - £3FIF Long
Bl
Testing heads
E
F
RERRIEBBIIEF) Subject to technical changes
M SPECIFICATIONS
B BATHHEM) BEEE S EE =T
Max. Load (1-jaw) Max. Speed Gripping range
Model Accuracy
(kN) (r.p.m.) (mm)
GFS-100 100 6000 70,84 ,104 + 2%
B ShEYR ST DIMENSIONS
'21: Model A B © D E F G H ‘
=
m GFS-100 70 84 104 63 54 57 20 68 ‘

95 AuTOGRIP



SJ

REEN(—)

STANDARD SOFT BLANK JAW

S-13

S-1
S-6 S-7 S-8 s2
e s-10 1 |
3% | 0 |
| 1 \
| ] o |
o o Serration U"-'—:‘ ==
S-9 vl N\ Breaeiis S-4
=
. S-12
ShEY R <F DIMENSIONS IR IE AT Subject to technical changes
Rig b3 ot R “MEe
S-1 | S2 S3 S4 S5 S6 S7/| S8 S9 S10 S-11 | S-12 |S-13 i . . 3 Jaw Weight
MODEL Serration Pitch Matching Chuck kg
SJ-04 52 23 | 23 10 5 10 14 28 9 | 14 13 | M8 3 1.5x60° 3H-204, 3P-04 0.5
SJ-05 62 25 | 30 10 5|10 | 14 | 38 9 | 14 20 | M8 35 1.5x60° 3H-205, 3L-205, 3P-05, 3M-05 0.8
SJ-06 73 31 36 12 515 20 38 11 17 24 M1l0 14 1.5x60° 3H-206, 3L-206, 3P-06, 3M-06 1.5
SJ-08 95 35 37 14 524 25 46 | 13 19 22 M12 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 2.4
SJ-10 110 | 40 @ 42 16 5 30 | 30 50 |13 | 19 | 27 | M12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 3.7
*Q | . 3H-12, 3H-212, 3L-212,
SJ12H | 130 50 50 21 5 40 30 60 17 25 30 Mil6 23 1.5x60 3V-12, 3P-12, 3M-12 6.3
N 3H-12, 3H-212, 3L-212,
SJ12P | 130 50 | 50 18 540 30 60 16 23 30 M14 23 1.5x60 3V-12, 3P-12, 3M-12 6.5
. 3H-15, 3H-215, 3H-18, 3L-15,
SJ-156H | 165 62 | 62 22 8 | 37 43 85 21| 32 37 M20 - 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 12.6
*Q | ) N 3H-15, 3H-215, 3H-18, 3L-15,
SJ-15P 165 62 | 62 255 | 6 | 37 43 85 21| 32 37 M20 1.5%x60 3P-215, 3P-218, 3V-15, 3V-18 12.5
3H-221, 3H-224, 3H-232,
SJ-21 180 | 64 | 70 | 25 9 40 60 | 80 21 32 45 M20 - 3.0x60° 3P-221, 3P-224, 3V-21, 3V-24, 15.8
3V-32
*SJ-12H 73 12" 3EEAHBIECH - (12"Chucks are originally equipped with SJ-12H.)
* 8J-15P % 15" ZEEAH MIACHE - (15"Chucks are originally equipped with SJ-15P.)
O Gy
3U Z&gE =7 42 3 A [T{ STANDARD SOFT JAW FOR 3U CHUCK
E L
F ——
~No | P
L/\ N4
= ©
e & 1@
et BN .
G < LI 1
[a]
o || H S GK
— LM
for 3U-203
yl‘ﬁ!ETf DIMENSIONS IREBIRABIE AR Subject to technical changes
itk
A B © D = F G H J K L
MODEL
3U-203 55 11 9.5 66 12 C3 7 3 26 7 15
3U-204 6.6 11 11 84 17 C4 11 8 32 9.5 20
3U-205 9 13.5 14 108 20 C4 12 3 41.5 13 24
3U-206 11 15 17 129 30 C6 20 8 50 17 30 =
i)
3U-208 13 17 20 156 34 C6 22 3 63 20.5 35 fEF
3U-210 15 20 22 187 39 C6 24 4 74 23 40 /ﬂ‘i\
=
3U-212 15 18 22 234 44 C6 29 4 72 23 40 {ﬁ,,

AuToGRIP 96



FELEN ()

STANDARD SOFT BLANK JAW

g s)

2D/3D #BE 7 1ZEXEA T Standard Soft Jaw for 2D/3D chuck

mE (A Tl Ay
_&g/r\gL__
o] ¥
D D
OE L oE L
T | |
< Lt &éé% o | loF ]
S < [N

"P . . =2
O _I._I_H m e T T _
g o T Ll ] =

G
for 04"~06" for 08”~15"
RBRBIE LR
Subject to technical changes
4hEY R~ DIMENSIONS
itk
A B c D E F G H J K L M N
MODEL
3D-04 22 13 2.5 52 17.5 1 19 8 19 - 25 8 5.5
3D-05 27 15 2.5 56 20 13 23 8 23 - 30 8 55
3D-06 34 21 3 70 23 15.5 27 10 27 - 35 10 6
3D-08 44.5 29 35 84 19 13 31 12 18 26 40 16 7
3D-10 495 32 35 100 22 15 38 15 22 32 50 18 7
3D-12 54.5 36 35 120 26 18 42 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 60 20 40 40 70 24 10
g TH
3E MFE Z1ZHESE Standard Soft Jaw for 3E chuck
A
A
2B
|| b
! [E—
o| .
O __ 1 o
i S S
g F T <
S oG SS v&: r
Q Q
;_E,
IR AR RELTBE
TYPE A TYPE B
IREBRBIE LR
Subject to technical changes
MBS < DIMENSIONS
itk
A B c D E F G H J K L L1
MODEL
3E.05 AR 20 11 6.6 16.5 10 C5 25 22 29 34.5 39
B & 20 11 6.6 15 25.5 C5 25 30 29 425 39 69
3E-06 AH 23 11 7 19 13 C5 31 27.5 44 46 54
_ B & 23 11 6.6 18 36 C5 31 37.5 44 56 54 92
= AR 30 14 9 25 15 C6 35 36 50 56 62
[t 3E-08
# B & 30 14 9 24 41 C6 35 56 50 76 62 112
£ AR 35 175 11 26.5 175 C5 40 40 60 64.5 70
=t 3E-10
- B & 35 17.5 11 26 47.5 C5 40 715 60 96 70 129

iu

97 AuTOGRIP



FEEN (=)

STANDARD SOFT BLANK JAW

g s)

3R R BE ZIZXEA T\ Standard Soft Jaw for 3R chuck

(D (T -
NN ot
! M N

Ke

Sl

% ==
© sl "
RIS BT
Subject to technical changes
ShNEIR T DIMENSIONS
FUSR
A B © D E F G H J K L M N P Q R S T
MODEL
3R-08 29.5 13 35 82 20 14 27 12 55 30 5 14 26 90 2 40 16 7
3R-10 30.5 15 35 102 23 16 37 15 65 30 7 21 32 90 2 40 18 7
o i
3W HFE 7 1ZX#EAE T\ Standard Soft Jaw for 3W chuck
@ ©
+
a4
[ P
M N M N
D D
oE L oE L
| | | T T |
<@ ,J ‘ ‘ <m J ‘ ‘
2k ol |
el | | w
¥ ol T i 1 Il i | } ™
[ 1 I [ T 1 I T m
o g B = o o M —
A TARY RS TIBEY
TYPE A TYPE B
{REZIRIBIELAIMEF  Subject to technical changes
9N~ DIMENSIONS
itk
A B c D E F G H J K L M N P Q R S
MODEL
AR 60 44 3.5 80 20 13 35 12.68 30 120 57 16 38 7.94 7 - -
3w-08
B & 60 48 3.5 80 17 11 35 12.68 30 120 5174 19 32 7.94 7 12.5 32
AR 64 49.5 3.5 100 20 13 40 19.03 30 120 70 17.8 | 444 | 127 7 - -
3W-10
B & 64 50 3.5 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36
;Fﬁi
AR 64 49.5 3.5 100 20 13 40 19.03 30 120 70 17.8 | 444 | 127 7 - - E‘J
3W-12 \
B & 64 50 85 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36 %
35tk

*3W RFIETAHEREMMN, RIBTHFERFRENERN, TREE,

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

AuToGRIP 98

\|
/

=

\
/l

=




’ SJ iTALEIED%R)—DT\S(()EB)LANK JAW

3MF 38 Z1ZX4 T\ Standard Soft Jaw for 3MF chuck

DD
N\
| K J
D
OE M
i |
m aF |
< i [
[ 1 LL - _ I
© HIIREN N[
G
REBINE ISR
Subject to technical changes
SNEIR~F DIMENSIONS
By —mEs
i A B © D E F G H J K L M N P ;Fig '(kg)
MODEL aw Weight
3MF-20 70 48 6 160 25 17 80 19.03 | 76.2 41.9 M16 50 12.7 11.5 10.4
o >
AP 3R PE 7 1Z#E 4 [T\ Standard Soft Jaw for AP chuck
| 51 |
S-6 S-7 S-8 5.2
- | |
N SEREER 8-110
Q9 ~o [
5] T |
| I
= ol [ ]
R o—= |
‘\ \‘ S-9 Serration S-4
s12 L HE A5
N
IREBRBELAER
Subject to technical changes
9MIR~F DIMENSIONS
itk HrEagngE bl P =NEE (kg)
S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S9 | S-10 | S-11 | S-12
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-185 165 | 62 62 255 9 37 43 85 21 32 38 | M20 3.0x60° AP-145, AP-185 12.2
SJ-275 180 @ 64 70 255 9 40 60 80 21 32 45 | M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 | 75 80 30 9 40 60 | 110 26 38 55 | M24 3.0x60° AP-320, AP-375 24.7

i
1
izl

N
/A

o

\
/l

=3

99 AuTOGRIP



HJ EEERET (—)

STANDARD HARDENED JAW

H-1
= H6 _ H-8
i | i
o Hl10 ‘
1| ° %” ‘
|
— e
H-9 Serration
H-12 NE
RBHUE SRR Fid. 1
Subject to technical changes
9hNEIR~F DIMENSIONS
RIS Rt 38R “NEE  2%EE
3 Jaw
VODEL H1 |H2| H3 | H4 H5| H6 | H7 | H-8 | H-9 | H-10 H-11 | H-12 | H-13 SePr_ration VR Weight | Reference
itch - Drawing
HJ-05 542 23 28 10 4 311 | 14 23.1 85 135 10 M8 3.6 | 1.5x60° 3H-204, 3H-205 1 Fig.2
HJ-06 676 31 36 12 5 402 20 274 11 17 12 M10 9.3 1.5x60° 3H-206, 3P-06 1.7 Fig.2
HJ-08 86.1 35 51 14 ' 5 335 25 184 13 19 | 12 M12| 14 | 1.5x60° | 3H-208, 3P-08 2 Fig.1
HJ-10 100 40 54 16 | 5 395 30 225 13 19 | 13 M12 15 1.5x60° 3H-210, 3P-10 3 Fig.1
. . 3H-12,3H-212, 3L-212, .
HJ-12H 100.2| 50 | 52 @ 21 5 /647 30 355 17 | 25 | 17 |M16 31.5  1.5x60 3V-12,3P-12, 3M-12 3.5 Fig.2
L . 3H-12,3H-212, 3L-212, .
HJ-12P 100.2 50 @ 52 18 5 647 30 355 15 23 | 17 M14|31.5| 1.5x60 3V-12,3P-12, 3M-12 3.6 Fig.2
L . | 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-16H 140.7 62 | 86 | 22 | 8 625 43 | 34 21 32 | 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1
L . | 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-15P 140.7 62 | 86 255 6 625 43 34 21 32 | 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.5 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1535/ 80 90 25 9 /103.7) 50 149.8 21 | 32 | 40 M20 56.5 3.0x60° 3P-221, 3P-224, 3V-21, 14.3 Fig.2
3V-24, 3V-32
* HJ-12H ~ HJ-12P ~ HJ-15H ~ HJ-15P EFARIEER H-4 MR -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
oh
3MF 12 AERE T
STANDARD HARDEN JAW FOR 3MF CHUCK
L ! g
N IR
H-7 H-7
H-1
H-6 H-8 H-2
\ ] ]
o = o
- H+10
T
@ |
T
< Lrl) L Ll
by T
T T
T L J 1 1
[ [ 7
H-15 H-9 H-4
H-12 :” =
TREBIRIBIZAIMER] Subject to technical changes @
YNEIR T DIMENSIONS 1
FUSR EF5EEE =MEE kg 35t}
H-1 H-2 H-3 H-4 H-5 H-6 H-7 H-8 H-9 H-10 H-11 H-12 | H-13 | H-14 | H-15
Model Matching Chuck | 3 Jaw Weight ,H\
3MF-20 135 | 50 76 | 127 9 70 | 381 65 17 26 40 | M16 | 40 32 /19.03 3MF-20 6.7 ft

Autocrip 100



ARAERET (—
’ HJ STANDARD H,(ARDE?\IED JAW

AP fZ2ERE T STANDARD HARDEN JAW FOR AP CHUCK

Clamping range

‘ H-2
o
il i
| EqE-ES
EREEEE ‘ 5
' '{ H-6 -4
<<
H-1
IREBRBIEUAIEF] Subject to technical changes
9hNEIR T DIMENSIONS
RIS HreEEnsh ERARE =NE=E kg
—— H-1 | H-2 H-3 H-4 H-5 H-6 H-7 Al S
Model Serration Pitch Matching Chuck 3 Jaw Weight kg
HJ-145 191 | 55 | 73 |[255 9 92 | 38 30-125 420 3.0x60° AP-145 12.5
HJ-145 191 | 55 | 73 |255| 9 92 38 35-165 460 3.0x60° AP-185 12.5
HJ-145 191 55 | 73 |255| 9 92 38 55-240 535 3.0x60° AP-230 125
HJ-145 191 | 55 | 73 |255| 9 92 38 100-285 580 3.0x60° AP-275 12.5
HJ-320 243 1 75 | 82 | 30 9 110 @ 50 105-300 658 3.0x60° AP-320 24.6
HJ-320 243 | 75 | 82 | 30 9 110 | 50 165-375 738 3.0x60° AP-375 24.6

i
1
izl

N
/A

o

\
/l

E3

101 AutoGRrIP



A T-NuT 1

¥ o
)
E: E: w
S—<e AN
\J A Ft , . o
2-T8 2-T8 T4
T5 |76 T4 15 |T6| 5
T10 =
] nk
~ | ! — ~
=
HEE e,
‘ T1 T2 T T2
TN1 TN2
- A
- I
— AN 7=
= S SEieim
T8 T8 T8
_ | 79, _
TN3-21 TN4-221 T4
T T4 oT1 T4
| | I I R
~ [
Hilg Ep Hil Fl e Pl ke
|| N 0
‘ Az s T ‘ (I
|oT5 | T2 ‘@TS ‘ T2 T1 T2
o TN3 TN4 TN5S
{REBREIEURER e - -
Subject to technical changes
MBS R <t DIMENSIONS
il fo=p S =RE=
T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 | T11 3 Pcs Weight
Model Matching Chuck
kg
TN1-04 26 14 15 10 | 14 6 95 M8 5 - | - | H-204, H-205, P-04, P-05, L-205, M-05, SP-304 0.06
H-206, P-06, L-206, 1L-06, M-06, 3N-06, AP-52, RAP-
TN106 | 36 17 185 12 | 20 8 11 M10 6 - | - | 206, SP-308 0.15
H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
TN1-08 465 20 205 14 25 105 12 M12| 10 - | - | RAP-308, SP-308 0.27
H-210, P-10, L-210,1L-10, M-10 , 3N-10, 4T-10,
TN1-10 | 51 22 215 16 30 11 13 M12| 11 = | hn8s RAP!a0l SPLA10 0.36
*TN1-12 555 295 28 21 30 12 16.7 Ml6| 13 - | - | 2H-12, P-12, L-12, M-12 0.63
TN2-12 555 295 28 21 30 12 167 M14| 13 @ 18 45 2H-12, P-12,L-12, M-12 0.63
- - - - - - - 21
*TN1-15 80 35 395 255 43 17 205 M20 14 - . 215 3H-18B,P-15 P-215, P-218, L-15, M-215, M-218, 1.53
V-15, V-18
TN2-15 | 80 35 395 255 43 17 205 M20 14 22 6 2115 8H-18B,P-15,P-215, P-218, L-15, M-215, M-218, 15
V-15, V-18
*TN1-212 56 295 235 21 30 12 12 Mi16| 10 | - - | 3H-12, 4H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
TN2-212 | 56 295 235 21 30 12 12 M14| 10 @ 18 4 | 3H-12, 4H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
*TN1-215 80 35 34 255 43 17 19 M20| 14 | - - | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.32
TN2-215 80 35 34 255 43 17 | 19 M20 14 22 6 | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.29
TN3-21 | 46 375 45 25 26 - 26 M20| - - - | P-221,P-224,M-221,M-224,V-21,V-24 V-32 1.84
TN4-221 45 36 38 25 28 - 22 M20| 19 @ - - | H-221, H-224, H-232, SP-320, SP-324 0.63 -
TN5-185 | 32 | 35 30 255| - - 19 M20 - - | - | AP-145, AP-185, AP-230, AP-275 0.15 I
(e
TN5-320 36 42 39 30 | - - 24 M24 - - - | AP-320, AP-375 0.24 5|

=

\
/l

=

*TN1-12 & TN1-212 7% 12" €58 K BIEC /& - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
* TN1-15 & TN1-215 7% 15" €58 K BIBC & - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

Autocrip 102



ARGE AR

CHUCK ADAPTORS

‘ y
s [ o )
/e )‘
v /L @
d 4 4, d*
®
Counter Bore Counter Bore
U Bore U BRI, U BRI,
R _
R / 7 R 7(\ -
7 7'30'\ S / i 7 7'30"\ =
7"7'30"}:> T
o NI |~
A al o 11100 Qo <
88 SIS 88 SRS 88 SIESIRS
Y H—
AN iad |
E1 Screw hole E1 Tap hole _LE Tap hole
iy = \Lgsd E1 L Rl
REIEEHER
Subject to technical changes
FL1 FL2 FL3
4R T DIMENSIONS E— —
N =
Model A © D D1 D2 E E1 L ] R%E Weight
emark (kq)
FL3-04A24 110 85 | 70.6 = 63.513 826 8 | 28 |[M10 M10 3H-204, 2H-204 1.12
FL3-04A25 140 85 | 70.6 82.563 104.8 5.5 32 |M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 1110 82.6 | 63.513 96 - | 15 'M10 M6 @ 3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
FL3-05A25 135 110 82.6 | 82.563 104.8 6 | 30 |M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 - 1140/104.8) 82.563 116 @ - M10| M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
2H-206, 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06,
FL3-06A26 | 165 140 104.8 106.375 1334 6 | 35 |[M10 M12 3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 3.12
3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,
4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08,
FL2-08A25 - 170 133.4| 82.563 104.8| - 23 M12 | M10 3R-08, 3W-08, 3Q-08 2.7
*3L-208, *2L-208,
17 2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A26 - 170 133.4 106.375 | 150 @ - m12 | me | 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 1.55
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
3L-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10, 4T-12,
FL2-10A26 - 220 171.4) 106.375 133.4| - 25 M16 M12 3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2J-10, 3R-10, 3Q-10, 5.02
3W-10, 3W-12
2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L-12, 3P-12, 2P-12,
FLI-10A8 - 2201714 139719 190 - 18 M16 M8 o i aDo10, 2010, 3N-10, 2.73
3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL2-15A8 - 300 235 139719 1714 - 33 M20 M16 oot oS i S e 1252
3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL1-15A211 - 300 235  196.869 260 - 22 'M20 M10 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 6.03
FL2-21A28 - 380 330.2 139.719 1714 - | 33 M24 M16 3H-215, 3P-221, 3P-224 22.05
40 3H-215
= FL2-21A211 - 380 330.2 196.869 235 - M24 | M20 16.28
= *27 *3P-221, *3P-224
?2 FL1-21A215 - 380 330.2 285.775 330.2 - 27 M24 M12 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6
£ FL2-40A215 - 520/463.6 285.775 330.2 - | 40 |M24 M24 3H-224 43.26
=8
fth FL1-40A220 | - 520 463.6 412.775 463.6 - 27 M24 M12| 3H-224, 3H-232 13.55

103 autocRrIP

o SRERRNIEBEEZRISEN, BIREMAE, (Models with "*" mark are produced only by order.




EKEHTERRESE
COOLANT COLLECTOR WITH STROKE CONTROL

o OfffMTREREIESMEURMES(ERK) -
®  The proximity switch and linear Sensor are optional.

TT2RERRSEE - (2L ) The proximity switch is optional.

ER BEAE BRI
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I 38 1% Terminal Connections

+V OP1 ov
R BROWN BLACK B BLUE
BURNRBERERSE
linear Sensor installation drawing
+ +V
* +DC10~30V
W
OUTPUT op1
ai
LOAD
L - o OV ° OVDC
CT-S

h
]
L

b Q
S 2 « 5
F o] AP
Kﬁ h 7 & -
_L ;?7_
]7
o prol K
<
— CT-04/05: —LF
== \pPraw
233 15 D | X
(CT-04/05:@126.5) c ==
RBRIBIBRAEF CT-24/28: @60
Subject lo‘techmca\ changes ( @ ) %7}(% ;%ﬂ(%/ﬁi*ﬁ Hj i%
Coolant Collector Coolant Collector with Detecting Ring
ShEYR < DIMENSIONS
E2EWeight (kg) A
Model A B © D E = G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 | TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 1.1 | TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 1.1 | TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 | 645 94 1.2 16 | JKC643,TK-AG4E, TK-BE46, TK-Ce4e6,
TR-646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 | TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 88 43 160 94.5 145 1.9 26 | IK-ALO68, TK-AL075, TK-AL078,
TR-1075
CT-12/CT-12S 158 185 88 43 160 = 945 145 1.9 2.6 | TK-A1287, TK-A1291,TR-1291
EFEE
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 43 | TK-A1511, TK-A1512, TK-A1512-35 IK?J
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 46 | TK-2114 (e
Bl
CT-24/CT-24S 250 270 100 50 230 154 248 35 55 | TK-2416, TK-2416L I
CT-28/CT-28S 310 330 100 50 260 181 305 43 7.2 | TK-2820 ul

Autocrip 104



EKEHETEEIREE
COOLANT COLLECTOR WITH STROKE CONTROL

A c1-sB/cT-sBS

I TR R R E R MR R B (BER) -

MR BEKERERDA0MDE0(EHE M) -

Q608K EREERBAMNCT-S08B ~ CT-S10B ~ CT-S12B -
The proximity switch and linear Sensor are optional.

Drain port @40 and @60 are optional product.
Drain port @60 only use to CT-S08B,CT-S10B,CT-S12B.

o

TIZMEREE - (L) The proximity switch is optional.

| BRE BEEAR BRI
| Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I 381 Terminal Connections

R +V OP1 ov
BHRRER R TER . _ N
. : . . #* BROWN & BLACK B BLUE
linear Sensor installation drawing
+ * +v * o +DC10~30V
v
OUTPUT oP1
¢ a7
LOAD
e ) ® OVDC

I
I

I

0B
oA

QJ

* j
E
|
L.
1T

H—w‘
=
Ur”

:
marl

240 b
@ 40 BEKEHR &

Drain port

HERY
| T |
X

[\
('8 [
LL

1 |

|
E %

ir
%D

G2
260 i 2
733 c
@60 gatzk%ﬁéaa
rain port o P A mm
BRI £XK&E SXKEHEBHIIR
3 A . . .
CT_S%;B‘%?T’E%%%?T‘S’HB) Coolant Collector Coolant Collector with Detecting Ring
(REBRBIELRIER
Subject to technical changes
SNEYR < DIMENSIONS
EEWeight (kg) pic)aEHEEE Sl
Model A B c D E F |FlL|F2| G |GL|G2| H J
CT-SB | CT-SBS Matching cyl.
CT-S05B/CT-S05BS 97 120 68.3 /333 96 496 56 - | 25 32 62 86 1.1 1.6 TS-539, TR-539
%
it CT-S08B/CT-S08BS 133 160 82 | 40 130 496| 56 63 | 25 | 32 | 52 | 82 | 130 | 0.9 1.4 | TS-866
g CT-S10B/CT-S10BS 160 188 88 | 43 148 496| 56 63 25 | 32 | 52 | 96 | 148 | 1.16 2.9 TS-1081
1’% CT-S12B/CT-S12BS 200 232 88 43 171 496 56 63 25 32 52 118 190 26 40 | TS-1210

105 autocriP



=R LR B SE

STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

Model:FV-01
2~M6
Screw hole 20%0.2 ©
[ZEe ‘ N

{

|
PN Z NNz
A\ MWT#

r
im
|
10

/X
40

)
16 |

2 A%

! T
T il el Ten
Al C 'B 45+0.2 3~@5
RC1/8" 70
Airtight detection port
R TSIk
A C B
Circuit drawing Model:FV-03
TWERE
gNMGh | 60:£0.2
Crew nole
V) S 3 =
Dol O @
iy o
S @l e
~ L TITTYY (s
. LT |3
i : ‘ AlL"CIN g6 ' BT
A ﬂ(;ﬁ B 2-08 | 68405
105
RC1/4"

Airtight detection port
KEmAL

FRE B EZ o aoER

Subject to technical changes

Autocrip 106

i
f
iz

\|
/

ff

\
/]

=




PENRRESS

THE CALCULATION OF DRAW TUBE LENGTH

DRAW TUBE

Piston Cylinder Adaptor Chuck Adaptor
K paE R R

W GE R

c B
M1 IS K max Cylinder ?ﬂr;w Pipe
. 2 B =]
i L ) B E — /A )

8[J [ i

——1
Spindle of Lathe

i
1¢
izl

N
/A

o

\
/l

=3

L - -
Glmax, BREH
thZEHI 42 5% B Detail of Draw Tube A \%hgl%c'(
L=A+G2max.+H-G1max.+M2+M3 L :
RERFAS ISR R
Subject to technical changes
i 1& SPECIFICATIONS
FEERARAE LGRS Gl G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 23 12 35 28 M100x2 35 95 :883? M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 12 45 33 M130x2 45 125 :8823 M130x2 5 A+81+12
3H-18 All TK-A1512 30 33 12 45 33 M130x2 45 125 :gggz M130x2 5 A+81+12
TG AR G1 G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-204 A4 TK-A528 12 1145 10 25 | 315 M38x1.5 20 35 :8825 M38x1.5 5 A+59+10
3H-205 A4 TK-A533 12 17 10 25 16 M38x1.5 25 35 :88:5 M45x1.5 5 A+46+10
3H-206 A5 TK-A646 15 14 10 25 28 M55x2 20 50 :8825 M60x2 5 A+52+10
3H-208 A6 TK-A853 20 165 12 30 335 M60x2 20 55 :882 M75x2 5 A+60+12
3H-210 A8 TK-A1075 25 21 12 35 285 M85x2 25 80 :882 M95x2 5 A+59.5+12
3H-212 All TK-A1512 30 23 12 45 32 M130x2 30 | 125 gggg M115x2 5 A+70+12
3H-215 A8 TK-2114 35 33 17 45 44 M155x2 40 | 145 gggg M115x2 5 A+87+17
3H-215 All TK-2114 35 33 17 45 51 M155x2 40 | 145 :88;2 M155x3 5 A+93+17
3H-215 Al15 TK-2114 35 33 17 45 38 M155x2 40 | 145 :gggg M155x3 5 A+81+17
3H-18B | Al5 TK-2416 35 35 17 45 | 45 M180x3 40 | 170 :gggg M175x3 5 A+90+17
3H-221 Al15 TK-2416 35 34 17 45 42 M180x3 40 | 170 :88;2 M190x3 5 A+86+17
3H-224 A20 TK-2820 51 B5 17 45 | 42 M220x3 40 | 210 :gggg M225x3 5 A+71+17
3H-232 A20 TK-2820 51 37 17 45 51 M220x3 45 | 230 :gggg M295x3 5 A+82+17

107 autocriP

7 2H4H BI 2R R EETEE 3H ~ 3H-2 B3 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)




REHNRRERSE
DRAW BAR G ciaonor oraw sar teneTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
W R E R HI18 FREREIER
L

e === E? ,
c =i

@D

i [
L SIyImder J—‘T.:
Bl J
N
G1 max. (3P-04,3P-05) | (G2)min. | *
1
th EH1185% B Detail of Draw Bar G2 min. S;h—%Ck
. S
L=A-G1max.-G2min.-4+C A
REBWIBEUET
Subject to technical changes
iR 1& SPECIFICATIONS
HEERIT, I A G1 G2
B c D K1 K2 L
Chuck type Cylinder type max. min.
3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 | 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 | 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 | 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 | 45/35 55) 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55) 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
2P IR ZHIMEREETER 3P AU - (Note:To calculate the draw-bar length of 2P as 3P.)
FEGAEI T, WEEF AR G1 G2
B © D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 815 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 85) 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

oM BI 2R R EEtEE 3M B2 - (Note:To calculate the draw-bar length of 2M as 3M.)

i
f
iz

\|
/

ff

\
/l

=

Autocrip 108



’ il
NOTE




’ Gl
NOTE




AUIL'Gd

HIEEERRE, TAREERREE 28, MEE2ER0FRF1TEN.

We reserve the right to modify the specifictions without prior notice.

GIAl=

®

=% 2o ) S F=RFVAS o\ —
2B /AR AR5
AUTOGRIP MACHINERY CO,, LTD.
513006 E{LFAIH/OVBEAEE B8 —E 220 5%
No. 229, Sec. 1, Mingsheng Rd., Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719
F +886-4-823-5719
E sales@autogrip.com.tw

www.autogrip.com.tw V.2024.12CN



	AUTOGRIP_封面
	Foreword_1129
	AUTOGRIP_CN01動力夾頭
	AUTOGRIP_CN02特殊動力夾頭
	AUTOGRIP_CN03橡膠筒夾
	AUTOGRIP_CN04立置式夾頭
	AUTOGRIP_CN05轉盤夾頭
	AUTOGRIP_CN06手動夾頭
	AUTOGRIP_CN07虎鉗
	AUTOGRIP_CN08展刀搪溝頭
	AUTOGRIP_CN09同步夾具
	AUTOGRIP_CN10空油壓迴轉缸
	AUTOGRIP_CN11迴轉分流閥迴轉接頭
	AUTOGRIP_CN12零附件與其他
	AUTOGRIP_封底

